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11868 (K) e =5 18 o Lo
11878 (k) e & 10 e T
11A128(K) e T 10 o Lo
118138 (K) e & 10 o o
119140 (k) e & 10 o Lo
118195 (X) e = 10 e o
118208 (K) e T 10 o Lo
118218 (K) e = 10 L o
118268(N) e T 10 T T
1182780K) e & 10 T o
118280 (A) e ) 10 T Lo
12828(8) e = 10 o e
12838(N) e ) 10 TG o
12848 (K) e = 10 o o
12858 (k) e ) 10 T o
12898(8) e = 10 e e
128 108 (X) e = 10 T e
128 11H (K) e = 10 Ty e
128126 (A) e = 10 T e
128168(8) e = 10 Ty e
128176 (X) e = 10 T e
128 18H () e = 10 ey S
128 19H(AK) =, f& ] 10 < o
128238(8) e = 10 S o
128248(K) e =T 10 Tt 53
128256 (K) e = 10 o oo
128268 (k) e =T 10 T Lo
1H6H(8) e T T250 L
TEHEI0S e e 10 15,590 73%
1ASE(K) e &5 0 0290 oo
TEEEIES e e 10 10,590 82%
1A108(2) e & 18 = =
1H128(8) e =T 10 Tt L
18136(8) e = 10 o =
1H148(X) e =T 10 e e
18158 (K) e ) 10 et e
18168 (k) e =T 10 ot e
1A1768(2) e = 10 o e
18198(A) e =T 10 Tt o
18208(8) na =T 10 . o
1A218(X) e =T 10 ot 550
18228 (K) na ) 10 o S
18238 (k) e =T 10 ot e
1824E(2) e = 10 o e
18268(8) e =T 10 e o
18278(8) e =T 10 e S50
18288(N) e =T 10 o e
18298 (K) e ) 10 0 5o
1H308(A) e =T 10 12'238 e
1 L = . 7 0
B310(2) = T 10 15.590 7302




Bx-d X[ (G IBEX4Fifi
2H2H(H) = & 10 10,590 82%
2838(A) = & 10 16,590 71%
2848(N) s & 10 16,590 71%
2H5H0K) iE & 10 10,590 82%
2868 (K) = & 10 16,590 71%
2H7H(®) iE 12 10 16,590 71%
2898 (8) s & 10 14,590 75%

2H108H(B) iE & 10 16,590 71%
2H11H(N) s & 10 16,590 71%
28 12BH(K) iE & 10 14,590 75%
2H13H(K) s & 10 16,590 71%
2H14H(2) iE 2 10 16,590 71%
2H16H(H) = & 10 16,590 71%
2H17H(B) iE & 10 14,590 75%
2818H(A) = & 10 10,590 82%
28198 (%K) s & 10 10,590 82%
2H20H(K) = & 10 16,590 71%
28218 (%) = am 10 16,590 71%
2H23H(H) = & 10 16,590 71%
2H24H(B) = e 10 16,590 71%
2H25H(A) = & 10 14,590 75%
2826H (%K) = e 10 14,590 75%
2H27H(K) = & 10 16,590 71%
2H28H(2) = e 10 16,590 71%
11858(N) 12 = 11 17,590 70%
1156H0K) 18 = 11 17,590 70%
11878 (K) 12 = 11 17,590 70%
115128(N) 18 = 11 17,090 70%
11813H(K) 12 = 11 17,090 70%
11514H(XK) 18 = 11 17,090 70%
11519H(N) 12 = 11 17,090 70%
115208 (K) 18 = 11 17,090 70%
11821H(K) 12 = 11 17,090 70%
11826H(N) 18 = 11 16,590 71%
118278 (K) 12 s 11 16,590 71%
11528H(XK) el = 11 16,590 71%
1281H(H) el = 11 16,590 73%
12828(H) 18 = 11 16,590 73%
1283H(N) 12 = 11 14,590 76%
1254H0K) 18 = 11 16,590 73%
1285H(K) 12 = 11 10,590 83%
1286H(£) 1 = 11 16,590 73%
12878(1) el s 11 16,590 73%
1288H(H) 1 = 11 16,590 73%
1289H(A) el = 11 16,590 73%
12810H(N) 1 = 11 16,590 73%
128118 (K) el = 11 10,590 83%
12812H(X) 1 = 11 16,590 73%
12813H(®) el s 11 16,590 73%
125148(1) 1 = 11 16,590 73%
12815H(H) & e 11 16,590 73%
12816H(A) 1 = 11 16,590 73%
128178(X) & = 11 10,590 83%
12518H(7K) 1 = 11 10,590 83%
12819 (k) el s 11 16,590 73%




a%H [XF& B IBEX#il
12H208 (&) &l =) 11 16,590 73%
12H21H(X) &l = 11 16,590 73%
12H22H(H) &l =) 11 17,590 71%
12H23H(H) &l = 11 16,590 73%
12H24H(N) f& ] =) 11 16,590 73%
12H25H(K) &l = 11 10,590 83%
12H26H(K) f& ] =) 11 14,590 76%

156H(H) &l = 11 17,590 70%
1H7H(X) f& ] =) 11 13,590 77%
1H8H(K) &l = 11 10,590 82%
1H9H(XK) f& ] =) 11 10,590 82%
15108 (%) &l = 11 13,590 77%
1H11H(XL) &l =) 11 15,590 73%
1H12H(H) &l = 11 13,590 77%
1H13H(H) &l =) 11 13,590 77%
1H14H(X) &l il= 11 15,590 73%
1H15H(K) & ] =) 11 15,590 73%
1H16H(K) &l il= 11 15,590 73%
1H17H(E) &l =) 11 13,590 77%
1H18H(L) &l il= 11 17,590 70%
1H19H((H) &l =) 11 13,590 77%
1H20H(H) &l = 11 10,590 82%
1H21H(KX) & ] =) 11 15,590 73%
1H22H(K) &l = 11 10,590 82%
1H23H(RK) & ] =) 11 15,590 73%
1H24H(E) &l = 11 13,590 77%
1H25H(L) &l =) 11 15,590 73%
1H26H(H) &l =3 11 13,590 77%
1H27H(H) & =) 11 13,590 77%
1H28H(X) &l =3 11 15,590 73%
1H29H(K) & =) 11 10,590 82%
1H30H(K) &l =3 11 15,590 73%
1H31H(GER) &l =) 11 15,590 73%
2H1H(X) &l =3 11 14,590 75%
2H2H(H) &l =) 11 16,590 71%
2H3H((A) &l =3 11 14,590 75%
2H4H(N) & =) 11 16,590 71%
2H5BH(0K) &l = 11 10,590 82%
2H6H(K) & =) 11 10,590 82%
2H7H (&) &l =3 11 14,590 75%
2H8H(X) &l =) 11 16,590 71%
2H9H(H) &l =3 11 16,590 71%
2H10H(H) &l (= 11 14,590 75%
2H11HX) &l =3 11 16,590 71%
2H12H(K) &l (= 11 10,590 82%
2H13H(XK) &l =3 11 10,590 82%
2H14H(&) &l =) 11 14,590 75%
2H15H(L) &l =3 11 16,590 71%
2H16H(H) &l =) 11 16,590 71%
2H17H(H) &l =3 11 16,590 71%
2H18H(X) &l (= 11 16,590 71%
2H19H(K) &l =) 11 14,590 75%
2H20H(K) &l (= 11 16,590 71%
2H21H(s®) &l =3 11 16,590 71%
2H22H(L) &l =) 11 16,590 71%




Bx-d X[ (G IBEX4Fifi
28238(8) & s 11 14,590 75%
28248(A) & s 11 16,590 71%
2H25H(A) el s 11 10,590 82%
2826H(K) & s 11 10,590 82%
28278(X) el s 11 16,590 71%
28280 (%) & = 11 14,590 75%
11858(N) s & 12 17,590 70%
1156H0K) iE & 12 17,590 70%
1187H(K) s & 12 17,590 70%
115128(N) iE & 12 17,590 70%
118138(K) s & 12 17,090 70%
11514H(XK) iE & 12 17,590 70%
118198(A) = & 12 17,090 70%
118208 (K) iE & 12 17,590 70%
118218(X) = & 12 17,590 70%
11526H(AN) = e 12 16,590 71%
118278 (K) = & 12 16,590 71%
11528H(XK) s am 12 16,590 71%
12828(8) = & 12 16,590 73%
1283H(N) = e 12 16,590 73%
12848 0K) = & 12 16,590 73%
128558 (k) s e 12 16,590 73%
1289H(8) = & 12 16,590 73%
1285108H(N) = e 12 16,590 73%
128118 (K) = & 12 16,590 73%
12512H(K) s e 12 16,590 73%
12816H(A) = & 12 14,590 76%
128178(N) = & 12 14,590 76%
12818H(7K) = el 12 14,590 76%
12519H(XK) = & 12 17,590 71%
12823H(A) = el 12 16,590 73%
125248(X) = & 12 16,590 73%
128258 (7K) = el 12 14,590 76%
12526H(X) = & 12 17,590 71%
186H(B) = el 12 15,590 73%
178N = & 12 15,590 73%
1A8H(GK) = el 12 10,590 82%
1898 (XK) = & 12 15,590 73%
1A108(£) = el 12 15,590 73%
15128(H) = & 12 13,590 77%
1813H(8) = el 12 15,590 73%
18148(N) = & 12 13,590 77%
1A1580K) s & 12 10,590 82%
1A16H(X) s & 12 15,590 73%
1A178(&) s & 12 17,590 70%
1819H(H) = & 12 13,590 77%
18208(A) s & 12 10,590 82%
18218(N) = & 12 10,590 82%
18228 0K) s & 12 10,590 82%
18238 (X) = & 12 15,590 73%
18248(%) s & 12 15,590 73%
1826H(H) = & 12 10,590 82%
18278(8) s & 12 15,590 73%
1828H(A) = & 12 10,590 82%
18298 (7K) E & 12 10,590 82%




Bx-d X[ (G IBEX4Fifi
185308 (K) s & 12 15,590 73%
18318(®) iE & 12 15,590 73%
2828(8) s & 12 14,590 75%
283H(A) s & 12 14,590 75%
2848 (N) s & 12 16,590 71%
2858 (K) s & 12 10,590 82%
286H (k) s & 12 16,590 71%
287H(2) s & 12 16,590 71%
289H(H) s & 12 16,590 71%
2810H(B) s & 12 16,590 71%
2A11HKN) s & 12 16,590 71%
2A128(K) s & 12 10,590 82%
2A13H(X) s & 12 16,590 71%
2B14H(%) s & 12 16,590 71%
2A16H(H) s & 12 14,590 75%
2817H(B) iE & 12 16,590 71%
2A18H(K) s & 12 14,590 75%
2819H(K) = & 12 10,590 82%
28208 (X) s & 12 16,590 71%
2821H(%) s & 12 16,590 71%
28238(H) s & 12 16,590 71%
2824H(B) iE & 12 16,590 71%
28258 (K) s & 12 14,590 75%
2826H(K) iE & 12 14,590 75%
28278(X) s & 12 16,590 71%
2828H(%) s & 12 16,590 71%
118558 (X) el s 13 17,590 70%
1156H0K) el s 13 17,590 70%
1187H(K) & s 13 17,590 70%

1185128(X) el s 13 17,090 70%
118138 (K) & s 13 17,090 70%
115148 (k) el s 13 17,090 70%
11819H(X) & s 13 17,590 70%
115208 (K) el s 13 17,090 70%
11H218 () & s 13 17,590 70%
115268 (N) el s 13 16,590 71%
118278 (K) & s 13 16,590 71%
115288 (A) el s 13 16,590 71%
1281H(H) & s 13 17,590 71%
1283H(N) el s 13 16,590 73%
12848 (K) & s 13 10,590 83%
12558 (K) el s 13 10,590 83%
1256H (%) eI s 13 16,590 73%
12878(1) & s 13 16,590 73%
1258H(H) eI s 13 17,590 71%
125108 (X) el s 13 10,590 83%
128118 (K) eI s 13 10,590 83%
125128 (k) el s 13 10,590 83%
128138(%) eI s 13 14,590 76%
125148(%) & s 13 16,590 73%
12815H(H) P s 13 16,590 73%
128178(X) el s 13 10,590 83%
128188 (K) P s 13 10,590 83%
128198 (A) el s 13 10,590 83%
12H20H(&) eI s 13 17,590 71%




a%H [XF& B IBEX#il
12H21H(%) &l =3 13 16,590 73%
12H22H(H) &l = 13 17,590 71%
12H24H(N) f& ] e 13 16,590 73%
12H25H(K) &l = 13 10,590 83%
12H26H(K) f& ] =) 13 17,590 71%

156H(H) &l = 13 15,590 73%
1H7H(X) f& ] =) 13 13,590 77%
1H8H(K) &l = 13 10,590 82%
1H9H(XK) f& ] =) 13 13,590 77%
15108 (%) &l = 13 16,090 72%
1H11H(XL) &l =) 13 15,590 73%
1H12H(H) &l = 13 10,590 82%
1H13H(H) &l =) 13 15,590 73%
1H14H(X) &l = 13 13,590 77%
1H15H(K) & ] =) 13 10,590 82%
1H16H(K) &l il= 13 10,590 82%
1H17H(E) &l =) 13 16,090 72%
1H18H(L) &l il= 13 16,090 72%
1H19H((H) &l =) 13 13,590 77%
1820H(H) &l il= 13 15,590 73%
1H21H(X) & ] =) 13 10,590 82%
1H22H(K) &l = 13 15,590 73%
1H23H(K) & ] =) 13 10,590 82%
1H24H(E) &l il= 13 10,590 82%
1H25H(XL) &l =) 13 13,590 77%
1H26H(H) &l = 13 13,590 77%
1H27H(H) &l =) 13 13,590 77%
1H28H(X) &l =3 13 10,590 82%
1H29H(K) & =) 13 10,590 82%
1H30H(K) &l =3 13 10,590 82%
1H31H(GER) &l =) 13 15,590 73%
2H1H(X) &l =3 13 14,590 75%
2H2H(H) &l =) 13 14,590 75%
2H3H((A) &l =3 13 14,590 75%
2H4H(N) & =) 13 10,590 82%
2H5H(0K) &l =3 13 10,590 82%
2H6H(K) & =) 13 10,590 82%
2H7H (&) &l =3 13 14,590 75%
2H8H(X) &l =) 13 16,590 71%
2H9H(H) &l =3 13 16,590 71%
2H10H(H) fE ] =) 13 14,590 75%
2H11HX) &l =3 13 16,590 71%
2H12H(K) &l (= 13 10,590 82%
2H13H(XK) &l =3 13 10,590 82%
2H14H(&) &l =) 13 16,590 71%
2H15H(L) &l =3 13 14,590 75%
2H16H(H) &l =) 13 14,590 75%
2H17H(H) &l =3 13 14,590 75%
2H18H(X) &l (= 13 10,590 82%
2H19H(K) &l =3 13 16,590 71%
2H20H(K) &l (= 13 10,590 82%
2H21H(s®) &l =3 13 14,590 75%
2H22H(%) &l = 13 16,590 71%
2H23H(H) &l =3 13 16,590 71%
2H24H(H) &l =) 13 16,590 71%




a%H [XF& B IBEX#il
2H25H(N) &l =3 13 10,590 82%
2H26H(K) &l = 13 10,590 82%
2H27H(XK) f& ] =) 13 10,590 82%
2H28H(E) &l = 13 14,590 75%
11H5HX) W=y @] 14 17,590 70%
11H6H(K) NS, &l 14 17,590 70%
11H7H(K) W=y @] 14 17,590 70%
11H12H(CN) NS, &l 14 17,090 70%
11H13H(K) W=y @] 14 17,090 70%
11H14H(K) NS, &l 14 17,590 70%
11H198(N) W=y @] 14 17,090 70%
11H20H(K) NS, &l 14 17,590 70%
11H21H(K) W=y @] 14 17,590 70%
11H26H(N) NS, &l 14 16,590 71%
11H27H(0K) W= @] 14 16,590 71%
11H28H(K) =y e ] 14 16,590 71%
12A1H(H) =y @] 14 16,590 73%
1282H(H) =3 e ] 14 16,590 73%
12H3H(X) =y @] 14 16,590 73%
12H4H(K) =y e ] 14 16,590 73%
12H5H(K) =y @] 14 16,590 73%
12H6H(E) =y e ] 14 17,590 71%
12H7H(XL) =y @] 14 16,590 73%
1288H(H) =3 e ] 14 16,590 73%
12H9H(H) =y @] 14 10,590 83%
12H10H(N) =y e ] 14 16,590 73%
12H11H(CK) =y @] 14 10,590 83%
12H12H(K) =3 &l 14 16,590 73%
12H13H(:&) =y ] 14 16,590 73%
12H14H(X) =3 &l 14 16,590 73%
12H15H(H) = ] 14 16,590 73%
12H16H((A) =3 &l 14 10,590 83%
12H17H(CN) = ] 14 10,590 83%
12H18H(K) =3 &l 14 10,590 83%
12H19H(K) = ] 14 14,590 76%
12H20H(%&) =3 &l 14 16,590 73%
12H21H(X) = ] 14 16,590 73%
12H22H(H) =3 &l 14 16,590 73%
12823H(H) = ] 14 16,590 73%
12H24H(N) =3 &l 14 14,590 76%
12H25H(0K) =y @] 14 16,090 73%
12H26H(K) W=y &l 14 17,590 71%

1H6H(A) W=y il 14 15,590 73%
1H7H(X) W=y &l 14 15,590 73%
1H8H(K) W=y il 14 13,590 77%
1H9H(XK) W=y &l 14 10,590 82%
1H10H(GER) W=y e ] 14 15,590 73%
1H11H(XL) W=y &l 14 15,590 73%
1H12H(H) W=y e ] 14 13,590 77%
1H13H(H) =y &l 14 17,590 70%
1H14H(KN) = fE 14 13,590 77%
1H15H(K) =y &l 14 10,590 82%
1H16H(K) = fE 14 13,590 77%
1H17H(E) =y &l 14 15,590 73%
1H18H(L) = &l 14 15,590 73%




a%H [XF& B IBEX#il
1H19H((H) =y &l 14 16,090 72%
1H20H(H) NS, &l 14 13,590 77%
1H21H(CKX) W=y @] 14 10,590 82%
1H22H(K) NS, &l 14 10,590 82%
1H23H(K) W=y @] 14 15,590 73%
1524H(%) NS, &l 14 15,590 73%
1H25H(XL) W=y @] 14 15,590 73%
1H26H(H) NS, &l 14 13,590 77%
1H27H(RH) W=y @] 14 10,590 82%
1H28H(X) NS, &l 14 10,590 82%
1H29H(K) W=y @] 14 13,590 77%
1H30H(K) NS, &l 14 15,590 73%
1H31HGER) W=y @] 14 15,590 73%
2H1H(X) NS, &l 14 16,590 71%
2H2H(H) W= @] 14 14,590 75%
2H3H((A) =y &l 14 10,590 82%
2H4H(N) =y @] 14 10,590 82%
2H580K) =3 &l 14 10,590 82%
2H6H(K) =y @] 14 14,590 75%
2H7H (&) =y e ] 14 16,590 71%
2H8H(X) =y @] 14 16,590 71%
2H9H(H) =y e ] 14 14,590 75%
2H10H(H) =y @] 14 16,590 71%
2H11HX) =3 e ] 14 16,590 71%
2H12H(K) =y @] 14 10,590 82%
2H13H(K) =y e ] 14 16,590 71%
2H14H(®) =y @] 14 16,590 71%
2H15H(%) =3 &l 14 16,590 71%
2H16H(H) =y ] 14 16,590 71%
2H17H(H) =3 &l 14 10,590 82%
2H18H(X) = ] 14 10,590 82%
2H19H(K) =3 &l 14 16,590 71%
2H20H(K) = ] 14 14,590 75%
2H21H(s®) =3 &l 14 16,590 71%
2H22H(%) = ] 14 16,590 71%
2H23H(H) =3 &l 14 16,590 71%
2H24H(H) = ] 14 16,590 71%
2H25H(N) =3 &l 14 10,590 82%
2H26H(K) = ] 14 10,590 82%
2H27H(XK) =3 &l 14 14,590 75%
2H28H(5&) =y @] 14 16,590 71%
11H5HX) &l =3 15 17,590 70%
11H6H(K) &l (= 15 17,590 70%
11H7H(K) &l =) 15 17,590 70%

11H12HN) &l (= 15 17,090 70%
11H13H(K) &l =) 15 17,090 70%
11H14H(K) &l (= 15 17,090 70%
11H198(N) &l =) 15 17,590 70%
11H20H(K) &l (= 15 17,090 70%
11H21H(K) &l =) 15 17,590 70%
11H26H(N) &l (= 15 16,590 71%
11H27H(K) &l =3 15 16,590 71%
11H28H(K) &l (= 15 16,590 71%
1281H(H) &l =) 15 16,590 73%
12H3H(X) &l =) 15 10,590 83%




a%H [XF& B IBEX#il
12H4H(K) &l =3 15 10,590 83%
12H5H(K) &l = 15 14,590 76%
12H6H(E) &l =) 15 16,590 73%
12H7H(XL) &l = 15 16,590 73%
12H8H(H) &l =) 15 16,590 73%
12H10H(N) &l = 15 16,590 73%
12H11H(K) f& ] e 15 10,590 83%
12H12H(K) &l = 15 16,590 73%
12H13H(E) &l =) 15 16,590 73%
12H14H(X) &l = 15 16,590 73%
12H15H(H) &l =) 15 16,590 73%
12H17H(CN) &l = 15 10,590 83%
12H18H(K) f& ] e 15 10,590 83%
12H19H(K) &l = 15 14,590 76%
12H20H (&) &l =) 15 14,590 76%
12H21H(X) &l il= 15 16,590 73%
12H22H(H) &l =) 15 17,590 71%
12H24H(N) &l il= 15 16,590 73%
12H25H(0K) & ] =) 15 10,590 83%
12H26H(K) &l il= 15 17,590 71%

1H6H(A) &l =) 15 15,590 73%

1H7H(N) &l = 15 15,590 73%

1H8H(K) & ] =) 15 13,590 77%

1H9H(XK) &l = 15 10,590 82%
1H10HGER) &l =) 15 13,590 77%
1H11H(XL) &l = 15 15,590 73%
1H12H(H) &l =) 15 13,590 77%
1813H(H) &l =3 15 15,590 73%
1H14H(X) & =) 15 13,590 77%
1H15H(K) &l =3 15 10,590 82%
1H16H(K) & =) 15 13,590 77%
1H17H(E) &l =3 15 13,590 77%
1H18H(L) &l =) 15 13,590 77%
1H19H(H) &l =3 15 15,590 73%
1H20H(H) & =) 15 15,590 73%
1H21H(CKX) &l =3 15 10,590 82%
1H22H(K) & =) 15 10,590 82%
1H23H(K) &l =3 15 10,590 82%
1H24H(E) &l =) 15 13,590 77%
1H25H(L) &l =3 15 10,590 82%
1H26H(H) &l =) 15 15,590 73%
1H27H(H) &l =3 15 13,590 77%
1H28H(XN) &l (= 15 10,590 82%
1H29H(K) &l =3 15 10,590 82%
1H30H(K) &l (= 15 10,590 82%
1H31HGE) &l =3 15 15,590 73%

2H1H(X) &l =) 15 10,590 82%

2H2H((H) &l =3 15 16,590 71%

2H3H(H) &l (= 15 16,590 71%

2H48(X) &l =3 15 10,590 82%

2H5H0K) &l (= 15 10,590 82%

2H6H(K) &l =3 15 10,590 82%

2H78(E) &l = 15 14,590 75%

2H8H(L) &l =3 15 16,590 71%

2H9H(H) &l =) 15 16,590 71%




a%H [XF& B IBEX#il
2H10H(H) &l =3 15 16,590 71%
2H11HX) &l = 15 16,590 71%
2H12H(K) f& ] =) 15 10,590 82%
2H13H(K) &l = 15 10,590 82%
2H14H(®) &l =) 15 16,590 71%
2H15H(%) &l = 15 14,590 75%
2H16H(H) &l =) 15 16,590 71%
2H17H(H) &l = 15 16,590 71%
2H18H(N) f& ] =) 15 10,590 82%
2H19H(K) &l = 15 10,590 82%
2H20H(XK) f& ] =) 15 10,590 82%
2821HGE) &l = 15 14,590 75%
2H22H(L) &l =) 15 16,590 71%
2H23H(H) &l = 15 16,590 71%
2H24H(H) &l =) 15 16,590 71%
2H25H(X) &l il= 15 10,590 82%
2H26H(K) & ] =) 15 10,590 82%
2H27H(K) &l il= 15 10,590 82%
2H28H(5&) &l =) 15 16,590 71%
11H58H0X) =y e ] 16 17,590 70%
1156H(K) =y @] 16 17,590 70%
11H7H(CK) =y e ] 16 17,590 70%
11H12H(N) =y @] 16 17,090 70%
11H13H(K) =3 e ] 16 17,090 70%
11H14H(K) =y @] 16 17,590 70%
11H19H(N) =y e ] 16 17,090 70%
11H20H(K) =y @] 16 17,590 70%
11H21H(K) =3 &l 16 17,590 70%
11H26H(CN) =y ] 16 16,590 71%
11H27H(K) =3 &l 16 16,590 71%
11H28H(K) = ] 16 16,590 71%
1281H((H) =3 &l 16 16,590 73%
12H2H(H) = ] 16 16,590 73%
12H3HX) =3 &l 16 10,590 83%
12H4H(K) = ] 16 16,590 73%
12H5H(K) =3 &l 16 16,590 73%
12H6H(E) = ] 16 16,590 73%
12H7H(XL) =3 &l 16 17,590 71%
12H8H(H) = ] 16 14,590 76%
1289H(H) =3 &l 16 16,590 73%
12H10H(CN) =y @] 16 16,590 73%
12H11H(K) W=y &l 16 16,590 73%
12H12H(K) W=y il 16 16,590 73%
12H13H(%) W=y &l 16 16,590 73%
12H14H(X) W=y e ] 16 16,590 73%
12515H(H) W=y &l 16 16,590 73%
12H16H(H) W=y il 16 10,590 83%
12H17H(CN) W=y &l 16 10,590 83%
12H18H(K) W=y il 16 16,590 73%
12H19H(K) =y &l 16 10,590 83%
12H208H (&) = e ] 16 16,590 73%
12H21H(X) =y &l 16 16,590 73%
12822H(H) = e ] 16 16,590 73%
12523H(A) =y &l 16 10,590 83%
12H24H(N) = &l 16 16,590 73%




R P

12825H(K) =, EJ rE=lE = oo
128265 (X) a = e 15250 o
Een ) S *gm 16 17,590 71%
TSRO0 TS $§E 16 15,590 73%
TS e *gm 16 15,590 73%
T HoR R TS $§E 16 10,590 82%
TLITIey e *gm 16 10,590 82%
ETTECE) TS $§E 16 15,590 73%
I e *gm 16 13,590 77%
tETSE (5] TS $§E 16 13,590 77%
1H14E(X) A &5 T o250 o
1A 158 (K) a =5 e 10550 St
1H16E(R) = =5 T 15290 o
OB TS $§E 16 15,590 73%
R TeRE e *gm 16 15,590 73%
tEion(T) e *Elﬂ 16 13,590 77%
EO0E e *gm 16 16,090 72%
ST e *Elﬂ 16 15,590 73%
1B2280K) e =5 e 10250 o
1A238(K) = e T 15290 o
RS T *gm 16 15,590 73%
1A258(4) = e T e e
1A265(0) e =5 e 13250 S
SR e *Elﬂ 16 13,590 77%
TERLEIOS e *gm 16 15,590 73%
1A298(K) = e T 10550 S5t
EREIeS e *gm 16 10,590 82%
1B310(%) = e e 2250 e
PRE(L) TS ¥§E‘| 16 15,590 73%
I e *Eﬁ 16 16,590 71%
EEEI) e ¥§E‘| 16 14,590 75%
LriIes e *Eﬁ 16 10,590 82%
SHeR (k) TS ¥§E‘| 16 10,590 82%
LTeleS e *Eﬁ 16 10,590 82%
e TS ¥§E‘| 16 16,590 71%
Leles e *Eﬁ 16 16,590 71%
S Hon(T) TS ¥§E‘| 16 16,590 71%
SO e *Eﬁ 16 16,590 71%
>B11A(X) e &5 e Te'e90 o
> A1280K) = e e 10290 S
B 138 (k) e &5 e 10590 S,
IS e ;ﬁ 16 10,590 82%
SAien(E T ;E 16 16,590 71%
Hien(a) e *zlﬁ 16 14,590 75%
SHioa(n) S %;EJ 16 14,590 75%
ILEIes e ;ﬁ 16 10,590 82%
>A19B (K) = =5 e 14290 =
RIS e *zlﬁ 16 14,590 75%
>B210(%) e =5 e 250 o
RFEIEn e ;ﬁ 16 16,590 71%
SFoSE(D e ;E 16 16,590 71%
Rl e ;ﬁ 16 16,590 71%
EreeTen e ;E 16 16,590 71%
A 268 (K) = =5 e 10250 St
>H278(K) a &F e 14590 e
& 16 14,590 75%




a%H [XF& B IBEX#il
2H28H(5&) =y &l 16 16,590 71%
1185H(CX) &l = 17 17,590 70%
11H6H(K) f& ] =) 17 17,590 70%
1187H(CK) &l = 17 17,590 70%
11H12H(CN) f& ] =) 17 17,090 70%
11H13H(K) &l = 17 17,090 70%
11H14H(K) f& ] =) 17 17,590 70%
11H19H(N) &l = 17 17,090 70%
11H20H(K) f& ] =) 17 17,090 70%
11H21H(K) &l = 17 17,590 70%
11H26H(XN) f& ] =) 17 16,590 71%
11H27H(K) &l = 17 16,590 71%
11H28H(K) f& ] =) 17 16,590 71%
12H3H(X) &l = 17 16,590 73%
12H4H(K) & ] =) 17 16,590 73%
12H5H(K) &l il= 17 16,590 73%
12H6H(E) &l =) 17 16,590 73%
12H7H(XL) &l il= 17 16,590 73%
12H10H(CN) & ] =) 17 16,590 73%
12H11H(K) &l il= 17 16,590 73%
12H12H(K) & ] =) 17 16,590 73%
12H13H(&) &l = 17 16,590 73%
12H14H(X) &l =) 17 16,590 73%
12H17H(CN) &l il= 17 16,590 73%
12H18H(K) & ] =) 17 14,590 76%
12H19H(XK) &l = 17 14,590 76%
12H208H (&) &l =) 17 16,590 73%
12H21H(X) &l =3 17 16,590 73%
12H24H(N) & =) 17 16,590 73%
12H25H(K) &l = 17 14,590 76%
12H26H(K) & =) 17 16,590 73%

1H6H(H) &l = 17 15,590 73%

1878(X) & =) 17 13,590 77%

1H8H(K) &l =3 17 13,590 77%

1H9H(K) & =) 17 13,590 77%
1H10H(E) &l =3 17 15,590 73%
1H11H(L) &l =) 17 15,590 73%
1813H(H) &l = 17 17,590 70%
1H14H(X) & =) 17 13,590 77%
1H15H(K) &l =3 17 13,590 77%
1H16H(K) fE ] =) 17 13,590 77%
1H17H(E) &l =3 17 15,590 73%
1H18H(L) &l =) 17 15,590 73%
1H20H(H) &l =) 17 17,590 70%
1H21H(KN) &l (= 17 13,590 77%
1H22H(K) &l =3 17 13,590 77%
1H23H(K) &l (= 17 13,590 77%
1H24H(&E) &l =3 17 15,590 73%
1H25H(L) &l =) 17 15,590 73%
1H27H(H) &l =) 17 15,590 73%
1H28H(XN) &l (= 17 13,590 77%
1H29H(K) &l =) 17 15,590 73%
1H30H(K) &l (= 17 13,590 77%
1H31HGE) &l =3 17 15,590 73%

2H1H(X) &l =) 17 14,590 75%




a%H [XF& B IBEX#il

2H3H((A) &l =3 17 16,590 71%

2H4B(X) &l = 17 16,590 71%

2H5B(0K) f& ] =) 17 16,590 71%

2H6H(K) &l = 17 16,590 71%

2H7H(E) &l =) 17 16,590 71%

2H8H(X) &l = 17 16,590 71%
2H10H(H) &l =) 17 16,590 71%
2H11HX) &l = 17 16,590 71%
2H12H(K) f& ] =) 17 16,590 71%
2H13H(K) &l = 17 16,590 71%
2H14H(®) &l =) 17 16,590 71%
2H15H(%) &l = 17 16,590 71%
2H17H(H) &l =) 17 16,590 71%
2H18H(X) &l = 17 16,590 71%
2H19H(K) & ] =) 17 14,590 75%
2H20H(K) &l il= 17 16,590 71%
2H21H(®) &l =) 17 16,590 71%
2H22H(L) &l il= 17 16,590 71%
2H24H(H) &l =) 17 16,590 71%
2H25H(X) &l il= 17 14,590 75%
2H26H(K) & ] =) 17 16,590 71%
2H27H(K) &l = 17 16,590 71%
2H28H(5&) &l =) 17 16,590 71%
11H58HX) =3 e ] 18 17,590 70%
1156H(K) =y @] 18 17,590 70%
11H7H(CK) =y e ] 18 17,590 70%
11H12H(N) =y @] 18 17,090 70%
11H13H(K) =3 &l 18 17,090 70%
11H14H(K) =y ] 18 17,090 70%
11H19H(N) =3 &l 18 17,090 70%
11H20H(K) = ] 18 17,090 70%
11H21H(K) =3 &l 18 17,590 70%
11H26H(N) = ] 18 16,590 71%
11H27H(K) =3 &l 18 16,590 71%
11H28H(K) = ] 18 16,590 71%
1281H((H) =3 &l 18 16,590 73%
12H2H(H) = ] 18 10,590 83%
12H3HX) =3 &l 18 10,590 83%
12H4H(K) = ] 18 16,590 73%
12H5H(K) =3 &l 18 16,590 73%
12H6H(E) =y @] 18 16,590 73%
12/7H(XL) W=y &l 18 16,590 73%
12H8H(H) W=y e ] 18 16,590 73%
12859H(H) W=y &l 18 10,590 83%
12H10H(N) W=y il 18 10,590 83%
12H11H(K) W=y &l 18 10,590 83%
12H12H(K) W=y il 18 16,590 73%
12H13H(%) W=y &l 18 16,590 73%
12H14H(X) W=y e ] 18 16,590 73%
12515H(H) =y &l 18 16,590 73%
12H16H(H) = fE 18 10,590 83%
12H17H(N) =y &l 18 10,590 83%
12H18H(K) = fE 18 10,590 83%
12H19H(K) =y &l 18 16,590 73%
12H20H(&) = &l 18 17,590 71%




R X
RS _ o _ % IBEXISE
128226(8) e = 12 o e
128236 () e = 18 Ear 5
128248(K) e T 18 TELh 53
128258 (K) e & 18 P e
128268 (K) e T 18 i T

1H6H(8) e = 1 T o
1H78(X) a & : D o
1E8E () e e e T390 o
1HOH(X) a T e T 550,
1A108(2) e = 12 T e
18118(1) e ) 18 12250 =
1A128(8) e = 18 T e
1H138(8) e T 18 o Lo
19148(N) e = 18 T S
1A158(K) e ) 18 Tt S50
1816H (A) e = 18 e 555
1H178(2) e ) 18 Tt e
1818E(1) e = 18 o e
1H198(H) e ) 18 et L
18208(8) e = 18 T e
1A218(X) e ) 18 Tt 550
18228 (K) e = 18 e 5o
1H238 (k) e T 18 Tt o
13248(2) e = 18 ey e
1H258 (1) e ) 18 et L
1826E(H) e = 18 = e
1H278(8) e ) 18 Tt 555
18286 (X) e = 18 ot =
1A 298 () e =T 18 Tt 555
18308 (&) e = 18 2 S50
18318(2) e =T 18 T e
2H1H(L) e o 1 T o
>B828(8) e = : 14590 e
2838(8) e T e 10290 o
2B48(N) e =T 12 et e
2B58(K) e = 18 ot oo
2H6E(K) e = 10290 550,
S e e 18 10,590 82%
LEIEn e ;m 18 16,590 71%
SFon(o) e ;E‘ 18 16,590 71%
28108 (B) e =F 18 TET Se
2B11E(X) na =T 12 e o
2B 128(K) e =T 18 ot S0
2B 136 () na =T 18 o S50
2B 140(%) e =T 18 ot e
2B158(L) na o 18 e T
2B 16H(H) e =T 18 ot e
2B176(B) e ) 18 o T
2B 18H (X) e =T 18 Tt L2
28 198 (K) e ) 18 T oo
28205 () e =T 18 et e
2B218(%) e = 18 o e
28228 (1) e =T 18 12?38 Lo
2 L = . 7 0
B5238(5) = T 18 14,590 7202




Bx-d Xf& (G IBEX4Fifi
2H24H(B) = & 18 16,590 71%
2H258(A) = & 18 10,590 82%
2H26H(K) = & 18 10,590 82%
2H27H(K) = & 18 10,590 82%
2H28H(2) = & 18 16,590 71%
11558(N) 18 s 19 17,590 70%
11868 () 12 = 19 17,590 70%
1157H(K) e s 19 17,590 70%
11512H(N) 12 = 19 17,090 70%
118138 (K) & s 19 17,090 70%
11514H(K) 12 = 19 17,590 70%
11819H(N) 18 s 19 17,090 70%
115208 (7K) 12 = 19 17,590 70%
11821H(K) 18 s 19 17,590 70%
11826H(N) 12 = 19 16,590 71%
118278 0K) 18 = 19 16,590 71%
11528H(K) 12 = 19 16,590 71%
12838 (N) 18 = 19 16,590 73%
12848 0K) 12 = 19 16,590 73%
12858 (K) & = 19 16,590 73%
12868 (%) 12 = 19 16,590 73%
1287H(1) 18 s 19 16,590 73%
12810H(N) 12 = 19 17,590 71%
128118 (K) 18 = 19 16,590 73%
12812H(K) 12 = 19 17,590 71%
12513H(%) 18 s 19 16,590 73%
12814H(1) 12 = 19 16,590 73%
128178(N) 18 = 19 17,590 71%
12818H(7K) 12 = 19 10,590 83%
12819H(K) 18 = 19 14,590 76%
12820H(®) 12 = 19 16,590 73%
12821H(1) 18 = 19 16,590 73%
128248 (M) 12 = 19 17,590 71%
125258 (K) 18 = 19 14,590 76%
12826H(K) 12 = 19 17,590 71%

1A6H(A) 18 = 19 15,590 73%
1878(N) 12 = 19 13,590 77%
188H(K) 18 = 19 10,590 82%
1898 (X) 12 = 19 13,590 77%
1A10B(£) 18 = 19 15,590 73%
1A118(1) 12 = 19 15,590 73%
18138(H) 1 = 19 15,590 73%
1A148(N) el = 19 13,590 77%
18158 (K) 1 = 19 16,090 72%
1A16H(K) el = 19 13,590 77%
1A178(£) 1 = 19 15,590 73%
1A18H (1) el = 19 13,590 77%
18208(8) 1 = 19 15,590 73%
1A218(N) el = 19 13,590 77%
1822H0K) 1 = 19 13,590 77%
18238 (K) & = 19 13,590 77%
18248(£) 1 = 19 15,590 73%
18258 (1) & = 19 15,590 73%
18278(8) 1 = 19 15,590 73%
18288 (N) e s 19 10,590 82%




Bx-d X[ (G IBEX4Fifi
18298 (%K) & s 19 13,590 77%
18530H(K) & s 19 13,590 77%
1831H(®) el s 19 15,590 73%
281H (L) Pl s 19 14,590 75%
2838(A) el s 19 16,590 71%
2848 (N Pl s 19 14,590 75%
2858 (K) el s 19 14,590 75%
286H(K) Pl s 19 16,590 71%
2A78(&) el s 19 16,590 71%
288H(1) Pl s 19 16,590 71%
2A108(A) el s 19 16,590 71%
28118 Pl s 19 16,590 71%
28128 (K) el s 19 14,590 75%
2813H(X) Pl s 19 16,590 71%
2A148(%) & s 19 16,590 71%
2815H8(1) & s 19 16,590 71%
2A178(B) el s 19 16,590 71%
2818H(A) & s 19 14,590 75%
28198 (K) el s 19 14,590 75%
2820H(X) el s 19 16,590 71%
2A218(%) el s 19 16,590 71%
28228 (1) & s 19 16,590 71%
28248(B) el s 19 16,590 71%
28258 () & s 19 14,590 75%
2826H(K) el s 19 14,590 75%
2827H(X) el s 19 16,590 71%
2828H(%) el s 19 16,590 71%
11518(%) s &E 20 13,200 65%
11828(1) s R 20 13,200 65%
1153H(H) s &E 20 13,200 65%
11548(8) s &R 20 11,200 70%
11558(N) s &E 20 11,200 70%
1186H0K) s R 20 11,200 70%
11878 (XK) s &E 20 9,200 75%
1158H(%) s &R 20 10,200 73%
11598 (1) s &E 20 10,200 73%

118108(H) s &R 20 10,200 73%
115118(A) s &E 20 11,200 70%
11H128(X) s &R 20 9,200 75%
115138 (K) s &E 20 10,200 73%
11H148(A) s R 20 10,200 73%
115158(&) s &= 20 10,200 73%
11816H(1) s &E 20 13,200 65%
1189178(8) s &= 20 13,200 65%
1159188 (A) s &E 20 9,200 75%
115198 (N) s &= 20 9,200 75%
118208 (K) s &E 20 10,200 73%
11H21H(K) = HhE 20 10,200 73%
11H228(®) s &E 20 11,200 70%
118238(%) s &R 20 11,200 70%
11H248(8) s &E 20 9,200 75%
115258(8) s &R 20 9,200 75%
118268 (N) s &E 20 9,200 75%
118278 (K) s &R 20 9,200 75%
115288 (A) s &= 20 10,200 73%




a%H [XF& B IBEX#il
11H29H (&) =y ZEaE 20 10,200 73%
11H30H(E) NS, ZhE 20 10,200 73%
1251H(H) W=y ZHaE 20 7,200 82%
12H2H(H) =y ZhE 20 8,200 79%
12H3H(X) W=y ZHaE 20 8,200 79%
12H4H(K) NS, ZhE 20 8,200 79%
12H5H(K) W=y ZHaE 20 8,200 79%
12H6H(%) NS, ZhE 20 10,200 74%
1287H(XL) W=y ZHaE 20 10,200 74%
12H8H(H) =y ZhE 20 9,200 76%
12H9H(H) W=y ZHaE 20 7,200 82%
12H108(CN) NS, ZhE 20 7,200 82%
12H11H(K) W=y ZHaE 20 7,200 82%
12H12H(K) NS, ZhE 20 7,200 82%
12H13H(:&) W= 2EaE 20 8,200 79%
12H14H(X) =y BEE 20 8,200 79%
12H15H(H) =y ZEaE 20 7,200 82%
12H16H(H) =3 BEE 20 7,200 82%
12H17H(N) =y ZEE 20 7,200 82%
12H18H(K) =y BEE 20 7,200 82%
12H19H(K) =y ZEaE 20 7,200 82%
12H20H(&) =y BEE 20 8,200 79%
12H21H(X) =y ZEaE 20 11,200 71%
12H22H(H) =3 ZhE 20 11,200 71%
12H23H(AH) =y ZEaE 20 7,200 82%
12H24H(N) =y BEE 20 7,200 82%
12H25H(0K) =y ZEaE 20 9,200 76%
12H26H(K) =3 R 20 9,200 76%

1H6H(H) =y ZaE 20 10,200 73%
1H78CX) (=} “hE 20 7,200 81%
1H8H(K) = ZHaE 20 7,200 81%
1H9H(K) =3 R 20 7,200 81%
1H10H(GER) = ZaE 20 7,200 81%
1H11H(XL) =3 “EE 20 11,200 70%
1H12H(H) = ZHaE 20 9,200 75%
1813H(H) =3 R 20 7,200 81%
1H14H(X) = ZHaE 20 7,200 81%
1H15H(K) =3 “EE 20 8,200 78%
1H16H(RK) = ZHaE 20 7,200 81%
1H17H(E) =3 “EE 20 7,200 81%
1H18H(L) =y ZaE 20 9,200 75%
1H19H((H) W=y “aE 20 7,200 81%
1H20H(H) W=y ZhE 20 7,200 81%
1H21H(X) W=y “aE 20 8,200 78%
1H22H(K) W=y ZhE 20 7,200 81%
1H23H(K) W=y “aE 20 7,200 81%
1H24H(E) W=y ZhE 20 7,200 81%
1H25H(T) W=y ZaE 20 8,200 78%
1H26H(H) W=y ZhE 20 8,200 78%
1827H(H) =y ZoaE 20 7,200 81%
1H28H(XN) = ZhE 20 7,200 81%
1H29H(K) =y ZoaE 20 7,200 81%
1H30H(K) = ZhE 20 7,200 81%
1H31HGE) =y ZoaE 20 7,200 81%
2H1H(X) = ZhE 20 9,200 75%




R <P
EN _ X7 _ % IBEXIHHT
>B38(8) e ZEE 38 L Sio
2B4R(K) e 25 20 P oo
2B5E(K) e 25 20 T oo
2B6A(K) e 25 20 P oo
2B78(&) e 25 20 T oo
>A8E (L) a ZEE 50 o
2B98(H) e 25 % 19503 e
28108 () e ZEE 38 T S
2B11R(X) e 25 20 i oo
2B 128(K) e 25 20 T Sio
2B 138(K) e 25 20 T oo
2B 140(%) e ZEE 20 e e
2B 156 (1) e 25 20 o S
2B 16H(H) e ZEE 20 P oo
2B17H(B) e ZEE 20 L 510
2B 18 (K) e ZhE 20 o oo
2B 195 (K) e ZEE 20 L Sio
28208 (K) e ZhE 20 o oo
2B210(%) e ZEE 20 L 510
28226 (1) e 2 20 T o
2B23E(H) e ZEE 20 o S
28246 (8) e 2 20 o oo
28256 (X) e ZEE 20 L 510
28 26H (K) e ZhE 20 o oo
282765 () e 25 20 L 510
2288 (%) e 2 20 o oo
11 A10(2) 2R e 21 T =
11828(1) 2R e 21 5 o
11838(8) ZEE e 21 o e
11848(8) 2R e 21 5 o
11858(N) ZEE e 21 T oo
11860 (X) 2 e 21 i o
118780k ZEE e 21 T L
1188H(2) 2R e 21 s =
11898 (1) ZEE e 21 T o
118108(R) 2R e 21 e o
11A118(8) ZEE e 21 T e
118128(X) 2 e 21 S o
118138 (K) ZEE e 21 T L
118148 (K) ZEE e 21 S o
119150(%) ZEE e 21 e o
11816H8(L) 2R e 21 aus =
11A178(8) ZEE e 21 T S
118188(8) 2R e 21 aus =
118195 (X) ZEE e 21 e Lo
118208 (K) ZEE e 21 - o
118218 (K) ZEE e 21 e o
118228(%) 2R e 21 5 =
118238(1) ZEE e 21 T oo
118248(8) 2R e 21 0 o
118256 (8) ZEE e 21 e Lo
11826H (X) ZEE e 21 . =
11A278(K) 25 e 21 2588 Lo
11 = ' T

H28H(K) ZhaE = 21 9,200 7202




Bx-d X[ (G IBEX4Fifi
11H298(&) ZHE s 21 9,200 75%
115308 (%) &hE s 21 9,200 75%
12818(8) ZhE s 21 9,200 76%
12828(H) &HE s 21 7,200 82%
12538(X) ZhE s 21 7,200 82%
12548 (%K) &HE s 21 7,200 82%
12558 (K) ZhE s 21 7,200 82%
1256H (%) &HE s 21 7,200 82%
12878(1) ZhE s 21 9,200 76%
1258H(H) &HE s 21 9,200 76%
12898 (B) ZhE s 21 7,200 82%
1285108 (X) &HE s 21 7,200 82%
128118 (K) ZhE s 21 7,200 82%
125128 (K) &HE s 21 7,200 82%
128138(®) &HE s 21 7,200 82%
125148 (%) &= s 21 8,200 79%
128158(8) ZHE s 21 9,200 76%
12516H(A) &= s 21 9,200 76%
128178(X) ZHE s 21 7,200 82%
12518H(K) &HE s 21 7,200 82%
128198 (k) ZHE s 21 7,200 82%
12H208(&) &= s 21 7,200 82%
12H218(%) ZHE s 21 7,200 82%
12522H(H) &= s 21 9,200 76%
12H238(A) ZHE s 21 9,200 76%
125248 (N) &= s 21 7,200 82%
128258 (K) ZHE s 21 8,200 79%
12H26H(K) ZhE s 21 10,200 74%

186H(B) &HE s 21 7,200 81%
1B7H(K) &HE s 21 7,200 81%
1A8H(K) &HE s 21 7,200 81%
189H(K) SR = 21 7,200 81%
1A10H(®) &HE s 21 7,200 81%
18118(1) &HE s 21 8,200 78%
1A128(8) &HE s 21 8,200 78%
18138(H) &HE s 21 7,200 81%
18148 (X) &HE s 21 7,200 81%
18158 (%K) &HE s 21 7,200 81%
1516H(K) &HE s 21 7,200 81%
18178(®) &HE s 21 8,200 78%
1818H(1) &HE s 21 8,200 78%
18198 (R) &= s 21 8,200 78%
1520H(A) &HE s 21 7,200 81%
18218(X) &= s 21 7,200 81%
18228 (K) &HE s 21 7,200 81%
1823H(K) S E = 21 7,200 81%
1248 (%) &HE s 21 7,200 81%
18258 (1) &= s 21 8,200 78%
18268 (H) &HE s 21 8,200 78%
18278(8) &= s 21 7,200 81%
1528H(X) &HE s 21 7,200 81%
18298 (%K) &= s 21 7,200 81%
1530H(K) &HE s 21 7,200 81%
18318(®) &= s 21 7,200 81%
281H (L) &HE s 21 8,200 78%




f&x%&H X[ (G IBEX4Fifi
2A28(H) ZEE s 21 8,200 78%
2838(8) G e 21 7,200 81%
2BA4E(X) R e 21 7,200 81%
2A5H(K) G e 21 7,200 81%
2A6H(K) R e 21 7,200 81%
2A7H(®) o s 21 7,200 81%
2A8H(T) G e 21 8,200 78%
2898(H) G e 21 8,200 78%
2A108(A) ZEE e 21 7,200 81%
2A118(N) G e 21 7,200 81%
28 128 (K) R e 21 7,200 81%
2A138 (k) G e 21 7,200 81%
2A148(2) ZEE e 21 7,200 81%
2A158(%) G s 21 8,200 78%
2A168(H) GEE s 21 8,200 78%
2A178(A) G s 21 7,200 81%
2A188(N) R s 21 7,200 81%
28 198 (7K) G s 21 7,200 81%
2A208(AK) R s 21 7,200 81%
2A218(2) i s 21 7,200 81%
2A228(%) GEE s 21 9,200 75%
2A238(8) G s 21 8,200 78%
2A248(A) GEE s 21 9,200 75%
28258 (X) G s 21 7,200 81%
28268 (K) R s 21 7,200 81%
28278 (K) G s 21 7,200 81%
28288 (2) GEE e 21 7,200 81%
11H1A(®) e G 22 13,200 65%
11H28(1) e ZEE 22 13,200 65%
11H38(0) e G 22 9,200 75%
11848(8) s ZEE 22 13,200 65%
11H58(K) e G 22 13,200 65%
11H6H0K) s ZEE 22 13,200 65%
11878 (K) e G 22 9,200 75%
1188H(®) e ZEE 22 10,200 73%
11H9A(L) e G 22 10,200 73%

118108(R) e ZEE 22 10,200 73%
118118(8) e G 22 9,200 75%
11H128(X) e ZEE 22 9,200 75%
118138 (K) e G 22 9,200 75%
11814H8(X) e ZEE 22 9,200 75%
118158(%) s e 22 13,200 65%
11816H(1) a ZEE 22 13,200 65%
118178(8) s e 22 11,200 70%
11818H(H) a ZEE 22 9,200 75%
118198(X) s e 22 9,200 75%
118208 (K) a ZEE 22 9,200 75%
118218 (k) s e 22 9,200 75%
11A228(2) a ZEE 22 9,200 75%
118238(1) e R 22 10,200 73%
118248(H) a ZEE 22 10,200 73%
118258(8) e R 22 10,200 73%
11H26H(N) a ZEE 22 9,200 75%
1182780K) e R 22 9,200 75%
11828H(X) s ZEE 22 9,200 75%




Bx-d X[ (G IBEX4Fifi
11829H(&) = S E 22 10,200 73%
115308 (%) iE R 22 10,200 73%
12818(8) s &R 22 9,200 76%
12828(H) s 2= 22 7,200 82%
12538(X) s &= 22 7,200 82%
12548 (%K) s 2= 22 7,200 82%
12558 (K) s &= 22 7,200 82%
1256H (%) s 2= 22 9,200 76%
12878(1) s &R 22 9,200 76%
1258H(H) s 2= 22 9,200 76%
12898 (B) s &R 22 8,200 79%
1285108 (X) s 2= 22 7,200 82%
128118 (K) s &= 22 7,200 82%
125128 (K) s 2= 22 7,200 82%
128138(®) s &R 22 8,200 79%
125148 (%) s &= 22 9,200 76%
128158(8) s &R 22 8,200 79%
12516H(A) s &E 22 8,200 79%
128178(X) s &R 22 8,200 79%
12518H(K) s ZhE 22 9,200 76%
128198 (k) s &= 22 7,200 82%
12H208(&) = &E 22 8,200 79%
12H218(%) s &R 22 9,200 76%
12522H(H) s &= 22 8,200 79%
12H238(A) s &= 22 7,200 82%
125248 (N) s &E 22 7,200 82%
128258 (K) s &= 22 7,200 82%
12H26H(K) s &E 22 9,200 76%

186H(B) s R 22 10,200 73%
1B7H(K) s &E 22 7,200 81%
1A8H(K) s &= 22 7,200 81%
1H9H(K) = ZhE 22 7,200 81%
1A10H(®) s &= 22 7,200 81%
18118(1) s &E 22 10,200 73%
1A128(8) s &= 22 7,200 81%
18138(H) s &E 22 7,200 81%
1A148(X) s &= 22 7,200 81%
18158 (%K) s &E 22 7,200 81%
1816H (k) s &= 22 7,200 81%
18178(®) s &E 22 7,200 81%
1818H(1) s R 22 8,200 78%
18198 (R) s &= 22 9,200 75%
18208(A) s &E 22 9,200 75%
1821H(XN) = S E 22 7,200 81%
18228 (K) s &E 22 7,200 81%
18238 (k) s &= 22 7,200 81%
1248 (%) s &E 22 7,200 81%
18258 (1) s &= 22 8,200 78%
18268 (H) s &E 22 7,200 81%
18278(8) s &R 22 7,200 81%
18288 (X) s &E 22 7,200 81%
18298 (%K) s &R 22 7,200 81%
18308 (X) s &E 22 7,200 81%
18318(®) s &R 22 7,200 81%
281H (L) s &= 22 7,200 81%




R <P
EN _ X7 _ % IBEXIHHT
>B38(8) e ZEE 33 L Sio
2B4R(K) e 25 22 P 510
2B5E(K) e 25 22 T oo
2B6A(K) e 25 22 P 510
2B78(&) e 25 22 T oo
2B8E(1) e ZEE 22 e Seo
2B98(A) e ZEE 52 o o
28108 () e ZEE 22 T o
2B11R(X) e 25 22 e S
2B 128(K) e 25 22 T o
2B 138(K) e 25 22 T oo
2B 140(%) e ZEE 22 P 510
2B 156 (1) e 25 22 i e
2B 16H(H) e ZEE 22 P oo
2B17H(B) e ZEE 22 L 510
2B 18 (K) e ZhE 52 o Sioe
2B 195 (K) e ZEE 22 L Sio
28208 (K) e ZhE 52 o Sioe
2B210(%) e ZEE 22 L 510
28226 (1) e 2 52 5T S5
2B23E(H) e ZEE 22 o Lo
28246 (8) e 2 52 T e
28256 (X) e ZEE 22 o S
28 26H (K) e ZhE 52 o Sioe
282765 () e 25 22 L 510
2288 (%) e 2 52 o S1o
11 A10(2) 2R e 23 EET =
11826(1) R e 23 o e
11838(8) ZEE e 23 o 22
11846(8) R e 23 o o
11858(N) ZEE e 23 o 22
1186H (K) ZEE e 23 T o
118780k ZEE e 23 ot L
11888(2) R e 23 o Eoon
11898 (1) ZEE e 23 o 22
118108(H) R e 23 5 o
11A118(8) ZEE e 23 o 22
118 128(K) ZEE e 23 o e
118138 (K) ZEE e 23 T o2
118148 (K) ZEE e 23 i o
119150(%) ZEE e 23 o L
11816H8(L) 2R e 23 e e
11A178(8) ZEE e 23 o L
118188(8) 2R e 23 e =
118195 (X) ZEE e 23 o L
118208 (K) ZEE e 23 e Lo
118218 (K) ZEE e 23 ER o
118228(%) 2R e 23 o T
118238(1) ZEE e 23 o co
118248(8) 2R e 23 o =
118256 (8) ZEE e 23 e 22
118268 (K) ZEE e 23 e =
11A278(K) 25 e 23 190'220000 Lo
11 = ) e

H28H(K) ZhaE = 23 10,200 7302




a%H [XF& B IBEX#il

11H29H (&) ZaE =3 23 10,200 73%
11H30H(E) ZhE = 23 10,200 73%
1251H(H) ZaE =) 23 11,200 71%
12H2H(H) 2EE = 23 10,200 74%
12H3H(X) ZaE e 23 9,200 76%
12H4H(K) ZhE = 23 9,200 76%
12H5H(K) ZaE e 23 9,200 76%
12H6H(%) ZhE = 23 9,200 76%
1287H(XL) ZaE e 23 9,200 76%
12H8H(H) 2EE = 23 9,200 76%
12H9H(H) ZaE =) 23 9,200 76%
12H108(CN) ZhE = 23 8,200 79%
12H11H(K) BEE e 23 8,200 79%
12H12H(K) ZhE = 23 8,200 79%
12H13H(:&) ZaE =y 23 8,200 79%
12H14H(X) 2EE il= 23 8,200 79%
12H15H(H) ZaE =) 23 9,200 76%
12H16H((A) 2EE il= 23 9,200 76%
12H17H(CN) BEE =) 23 9,200 76%
12H18H(K) 2EE il= 23 8,200 79%
12H19H(K) BEE =) 23 8,200 79%
12H20H(&) 2EE = 23 8,200 79%
12H21H(X) ZaE =) 23 9,200 76%
12H22H(H) 2EE il= 23 9,200 76%
12H23H(AH) ZaE =) 23 9,200 76%
12H248(XN) 2EE = 23 8,200 79%
12H25H(0K) BEE =) 23 8,200 79%
12H26H(K) 2EE (U=} 23 10,200 74%

1H6H(H) ZaE =y 23 8,200 78%

1H7H(X) 2EE =3 23 8,200 78%

1H8H(K) g 2Y=s] =) 23 8,200 78%

1H9H(XK) 2EE =3 23 8,200 78%
1H10H(GER) ZaE =y 23 8,200 78%
1H11H(XL) 2EE =3 23 8,200 78%
1H12H(H) ZaE =) 23 9,200 75%
1813H(H) 2EE =3 23 9,200 75%
1H14H(X) g 2Y=s] =) 23 7,200 81%
1H15H(0K) 2EE =3 23 8,200 78%
1H16H(RK) g 2Y=s] =) 23 7,200 81%
1H17H(E) 2EE =3 23 8,200 78%
1H18H(L) ZaE =) 23 8,200 78%
1H19H((H) “aE =3 23 8,200 78%
1H20H(H) ZaE =) 23 7,200 81%
1H21H(X) “aE =3 23 7,200 81%
1H22H(K) 2EE =) 23 7,200 81%
1H23H(K) “aE =3 23 8,200 78%
1H24H(E) ZaE =) 23 7,200 81%
1H25H(T) “aE =3 23 7,200 81%
1H26H(H) ZaE =) 23 8,200 78%
1827H(H) ZaE =3 23 8,200 78%
1H28H(X) ZaE = 23 7,200 81%
1H29H(K) ZaE =3 23 7,200 81%
1H30H(K) ZaE = 23 7,200 81%
1H31HGE) ZaE =3 23 8,200 78%

2H1H(X) ZhE e 23 7,200 81%




Bx-d X[ (G IBEX4Fifi
2828(8) ZHE s 23 8,200 78%
283H(A) &hE s 23 7,200 81%
2H48H0N) %t E =} 23 7,200 81%
2858 (K) &HE s 23 7,200 81%
286H (k) ZhE s 23 7,200 81%
287H(2) &HE s 23 8,200 78%
2888(1) ZhE s 23 8,200 78%
289H(H) &HE s 23 8,200 78%

28108(B) ZhE s 23 7,200 81%
2B11HCN) &HE s 23 7,200 81%
28128 (K) ZhE s 23 7,200 81%
2813H(X) &HE s 23 8,200 78%
2A148(%) ZhE s 23 8,200 78%
28158(1) &HE s 23 8,200 78%
28168 (H) &HE s 23 8,200 78%
2817H(B) ZhE s 23 7,200 81%
28188 (N) ZHE s 23 7,200 81%
2819H(K) ZhE s 23 7,200 81%
28208 (k) ZHE s 23 7,200 81%
2821H(%) ZhE s 23 8,200 78%
28228(1) ZHE s 23 8,200 78%
2823H(H) ZhE s 23 9,200 75%
28248(B) ZHE s 23 9,200 75%
28258 () ZhE s 23 7,200 81%
2826H(K) ZHE s 23 7,200 81%
28278 (K) ZhE s 23 7,200 81%
2F288 (%) ZHE s 23 8,200 78%
11518(%) s ZhE 24 13,200 65%
11828(1) s &= 24 13,200 65%
1153H(H) s ZhE 24 13,200 65%
11548(8) s &= 24 13,200 65%
11558(N) s ZhE 24 11,200 70%
1186H0K) s &= 24 9,200 75%
1187H(K) = ZHhE 24 9,200 75%
1158H(%) s &= 24 11,200 70%
11598 (1) s ZhE 24 11,200 70%
118108(H) s &= 24 11,200 70%
115118(A) s ZhE 24 11,200 70%
118128(X) s &= 24 9,200 75%
115138 (K) s ZhE 24 9,200 75%
11814H(X) s &= 24 9,200 75%
115158(&) s &= 24 11,200 70%
11816H(1) s &E 24 11,200 70%
1189178(8) s &= 24 11,200 70%
1159188 (A) s &E 24 11,200 70%
11819H(N) = S E 24 9,200 75%
118208 (K) s &E 24 9,200 75%
118218 (K) s &= 24 11,200 70%
11822H(%) s &E 24 11,200 70%
118238(%) s &= 24 11,200 70%
11824H(H) s &E 24 11,200 70%
115258(8) s &= 24 11,200 70%
118268 (N) s &E 24 9,200 75%
118278 (K) s &= 24 9,200 75%
11828H(X) s &= 24 9,200 75%




Bx-d X[ (G IBEX4Fifi
11829H(&) = S E 24 9,200 75%
115308 (%) iE 2= 24 9,200 75%

12818(8) s &= 24 11,200 71%
12828(H) s 2= 24 7,200 82%
12538(X) s &= 24 7,200 82%
12548 (%K) s 2= 24 7,200 82%
12558 (K) s &= 24 7,200 82%
1256H (%) s 2= 24 9,200 76%
12878(1) s &HE 24 7,200 82%
1258H(H) s 2= 24 9,200 76%
12898 (B) s &R 24 9,200 76%
1285108 (X) s 2= 24 7,200 82%
128118 (K) s &= 24 7,200 82%
125128 (K) s 2= 24 7,200 82%
128138(®) s &R 24 9,200 76%
125148 (%) s &= 24 7,200 82%
128158(8) s &R 24 8,200 79%
12516H(A) s &E 24 7,200 82%
128178(X) s &= 24 7,200 82%
12518H(K) s &E 24 7,200 82%
128198 (k) s &= 24 7,200 82%
12H208(&) = &= 24 9,200 76%
12H218(%) s &R 24 9,200 76%
12522H(H) s &= 24 9,200 76%
12H238(A) s &R 24 9,200 76%
125248 (N) s &E 24 7,200 82%
128258 (K) s &= 24 7,200 82%
12H26H(K) s &E 24 8,200 79%

186H(B) s R 24 11,200 70%

1B7H(K) s &E 24 7,200 81%

1A8H(K) s &= 24 7,200 81%

159H(X) s &E 24 7,200 81%
1A10H(®) s &= 24 7,200 81%
18118(1) s &E 24 7,200 81%
1A128(8) s &= 24 7,200 81%
18138(H) s &E 24 10,200 73%
1A148(X) s &= 24 7,200 81%
18158 (%K) s &E 24 7,200 81%
1816H (k) s &= 24 7,200 81%
18178(®) s &E 24 7,200 81%
1818H(1) s &= 24 7,200 81%
18198 (R) s &= 24 10,200 73%
18208(A) s &E 24 8,200 78%
1821H(XN) = S E 24 7,200 81%
18228 (K) s &E 24 7,200 81%
1H23H(K) = S E 24 7,200 81%
1248 (%) s &E 24 7,200 81%
18258 (1) s &= 24 7,200 81%
18268 (H) s &E 24 7,200 81%
18278(8) s &R 24 8,200 78%
18288 (X) s &E 24 7,200 81%
18298 (%K) s &R 24 7,200 81%
18308 (X) s &E 24 7,200 81%
1831H(E) = HhE 24 7,200 81%

281H (L) s &= 24 8,200 78%




R <P
EN _ X7 _ % IBEXIHHT
>B38(8) e ZEE gi 5 S
2B4R(K) e 25 >4 P 510
2B5E(K) e 25 24 T oo
2B6A(K) e 25 >4 P 510
2B78(&) e 25 24 T oo
2B8E(1) e ZEE 24 T S5
2B98(A) e ZEE 24 o T
28108 () e ZEE 24 P S
2B11R(X) e 25 24 T oo
2B 128(K) e 25 >4 T S5
2B 138(K) e 25 24 i Sro
2B 140(%) e ZEE >4 P 510
2B 156 (1) e 25 24 i e
2B 16H(H) e ZEE 24 T T
2B17H(B) e ZEE 24 b S
2B 18 (K) e ZhE 24 o Sioe
2B 195 (K) e ZEE 24 L Sio
28208 (K) e ZhE 24 o Sioe
2B210(%) e ZEE 24 L 510
28226 (1) e 2 24 BT =
2B23E(H) e ZEE 24 T L
28246 (8) e 2 24 o o
28256 (X) e ZEE 24 e b
28 26H (K) e ZhE 24 o Sioe
282765 () e 25 24 L 510
2288 (%) e 2 24 o S1o
11 A10(2) 2R e 25 EET =
11826(1) R e 25 o e
11838(8) ZEE e 25 o 22
11846(8) R e 25 o o
11858(N) ZEE e 25 o o
1186H (K) ZEE e 25 o e
118780k ZEE e 25 o c2o
11888(2) R e 25 o e
11898 (1) ZEE e 25 o 22
118108(H) R e 25 5 o
11A118(8) ZEE e 25 o o
118 128(K) ZEE e 25 o e
118138 (K) ZEE e 25 ot L
118148 (K) ZEE e 25 o e
119150(%) ZEE e 25 o L
11816H8(L) 2R e 25 e e
11A178(8) ZEE e 25 o L
118188(8) 2R e 25 o o
118195 (X) ZEE e 25 o o
118208 (K) ZEE e 25 e e
118218 (K) ZEE e 25 o L
118228(%) 2R e 25 e S
118238(1) ZEE e > Tt e
118248(8) 2R e zg o =
118256 (8) ZEE e > e o
118268 (K) ZEE e zg e Lo
11A278(K) 25 e 25 3588 L2
11 = ) e

H28H(K) ZhaE = 25 10,200 7302




Bx-d X[ (G IBEX4Fifi
11H298(&) ZHE s 25 10,200 73%
115308 (%) &hE s 25 10,200 73%

12818(8) ZhE s 25 11,200 71%
12828(H) &HE s 25 10,200 74%
12538(X) ZhE s 25 9,200 76%
12548 (%K) &HE s 25 9,200 76%
12558 (K) ZhE s 25 8,200 79%
1256H (%) &HE s 25 10,200 74%
12878(1) ZhE s 25 10,200 74%
1258H(H) &HE s 25 10,200 74%
12898 (B) ZhE s 25 9,200 76%
1285108 (X) &HE s 25 8,200 79%
128118 (K) ZhE s 25 8,200 79%
125128 (K) &HE s 25 9,200 76%
128138(®) &HE s 25 9,200 76%
125148 (%) &= s 25 8,200 79%
128158(8) ZHE s 25 10,200 74%
12516H(A) &= s 25 9,200 76%
128178(X) ZHE s 25 8,200 79%
12518H(K) &HE s 25 8,200 79%
128198 (k) ZHE s 25 8,200 79%
12H208(&) &= s 25 8,200 79%
12H218(%) ZHE s 25 8,200 79%
12522H(H) &= s 25 10,200 74%
12H238(A) ZHE s 25 9,200 76%
125248 (N) &= s 25 8,200 79%
128258 (K) ZHE s 25 8,200 79%
12H26H(K) ZhE s 25 10,200 74%

186H(B) &HE s 25 7,200 81%

1B7H(K) &HE s 25 7,200 81%

1A8H(K) &HE s 25 7,200 81%

189H(K) SR = 25 7,200 81%
1A10H(®) &HE s 25 7,200 81%
18118(1) &HE s 25 8,200 78%
1A128(8) &HE s 25 8,200 78%
18138(H) &HE s 25 8,200 78%
18148 (X) &HE s 25 7,200 81%
18158 (%K) &HE s 25 7,200 81%
1516H(K) &HE s 25 8,200 78%
18178(®) &HE s 25 8,200 78%
1818H(1) &HE s 25 8,200 78%
18198 (R) &= s 25 8,200 78%
1520H(A) &HE s 25 7,200 81%
18218(X) &= s 25 7,200 81%
18228 (K) &HE s 25 7,200 81%
1823H(K) S E = 25 7,200 81%
1248 (%) &HE s 25 7,200 81%
18258 (1) &= s 25 8,200 78%
18268 (H) &HE s 25 8,200 78%
18278(8) &= s 25 8,200 78%
1528H(X) &HE s 25 8,200 78%
1H29H(K) S E = 25 7,200 81%
1530H(K) &HE s 25 8,200 78%
1831H(E) S E = 25 7,200 81%

281H (L) &HE s 25 7,200 81%




a%H [XF& B IBEX#il
2H2H((H) ZaE =3 25 10,200 73%
2H3H((A) 2EE = 25 8,200 78%
2H4HX) ZhE =y 25 7,200 81%
2H5B80K) ZhE = 25 7,200 81%
2H6H(K) ZaE =) 25 7,200 81%
287H (&) ZhE = 25 8,200 78%
2H8H(X) ZaE =) 25 8,200 78%
2H9H(H) 2EE = 25 9,200 75%
2H10H(H) ZaE =) 25 8,200 78%
2H11H(N) ZhE = 25 9,200 75%
2H12H(K) BEE =) 25 7,200 81%
2H13H(K) ZhE = 25 7,200 81%
2H14H(5&) ZaE =) 25 7,200 81%
2H15H(%) ZhE = 25 7,200 81%
2H16H(H) ZaE =) 25 9,200 75%
2H17H(H) 2EE = 25 8,200 78%
2H18H(X) BEE =) 25 7,200 81%
2H19H(K) 2EE = 25 7,200 81%
2H20H(K) BEE =) 25 7,200 81%
2H21H(®) 2EE il= 25 10,200 73%
2H22H(%) ZaE =) 25 9,200 75%
2H23H(H) 2EE = 25 11,200 70%
2H24H(H) ZaE =) 25 11,200 70%
2H25H(N) 2EE = 25 7,200 81%
2H26H(K) BEE =) 25 7,200 81%
2H27H(K) 2EE = 25 7,200 81%
2H28H(5&) ZaE =) 25 7,200 81%
11H1HGE) =3 L5 39 12,600 75%
1183H((H) =y =] 39 11,600 77%
1184H(H) =3 L5 39 10,600 79%
1185H(X) = IN=; 39 9,100 82%
11H6H(K) =3 L5 39 10,600 79%
11H8H(E) = L5 39 10,600 79%

11510H((H) =3 L5 39 10,600 79%
11H12H(CN) = IN=; 39 9,600 81%
11H158(E) =3 L5 39 11,600 77%
11817H(H) = IN=; 39 9,600 81%
11H18H(A) =3 L5 39 9,600 81%
11H19H(CN) = IN=; 39 9,600 81%
11H20H(K) =3 L5 39 9,100 82%
11H21H(K) =y INZ; 39 11,600 77%
11H24H(H) W=y IN=; 39 12,600 75%
11825H(H) W=y L5 39 11,600 77%
11H27H(K) W=y IN=; 39 9,600 81%
11H28H(K) W=y L5 39 9,600 81%
1185298 (&) W=y IN=; 39 9,600 81%
12H1H(H) W=y L5 39 9,600 82%
12H3H(X) W=y IN=; 39 9,100 83%
12H4H(K) W=y L5 39 9,600 82%
12H5H(K) =y L5 39 9,600 82%
12H6H(E) = IN=; 39 9,600 82%
1288H(H) =y IN=; 39 9,600 82%
12H9H(H) = IN=; 39 10,600 80%
12H108(CN) =y IN=; 39 8,600 84%
12H11H(K) = IN=] 39 9,100 83%




R =
RS _ X __ % IBEXISE
128140(1) e RS 33 o S0,
128158(8) e LB 39 S S0
128160(8) e e 39 s =
12A178(X) e LB 39 T 5o
128 18H () e e 39 T S
128198 (k) e LB 39 R o5
128208(%) e RS 39 Hes oo
12A218(1) e LB 39 o S50
128226(8) e fRE 39 5500 =
128238(8) e LB 39 T 5o
128248(K) e e 39 T S
12A258(K) e LB 39 R o5
128268 (K) e e 39 T S0
1H6H(8) e fRE 39 T o3
1A78(K) e RS 39 T 530
1H8H (K) e LE 39 T 53
1H9E (&) e hE 39 T 530
1A108(2) e fRE 39 R a0
1118 (1) e RS 39 e o
1A128(8) e fRE 39 o o
18138(8) e RS 39 T 530
18148(N) e LhE 39 N 5o
1A158(K) e RS 39 VT S50
19168 (k) e LE 39 T 53
1H178(2) e RS 39 T S0
19188(1) e fRE 39 Sy 5io
18198(A) e fRE 39 N S50
18208(8) e RS 39 o =
1A218(N) e RS 39 W 50
1A 228 (K) e LE 39 T =
1A238 (k) e LE 39 R 53
19248(2) e LB 39 K 5o
1H258 (1) e RS 39 N 550
18268(8) e fRE 39 o =
18278(8) e RS 39 R 53
18288(N) e LE 39 W 53
1A 298 () e RS 39 R 53
19308 (k) e LE 39 W 53
18318(2) e RS 39 R 53
2B1R(L) e fRE 39 e o
2B28(8) e LB 39 oo S
2B38(8) e fRE 39 . S0
2B48(K) e LB 39 N 550
2B58(K) e LhE 39 X =
IS e LB 39 0 550
2B78(&) e LB 39 T 5o
2B8A(L) e LB 39 BT e
2B98(H) e fRE 39 T o
28 108(8) e LB 39 e T
2B11R(X) e fRE 39 1 T
28128 (K) e LB 39 i £
2B 138 (k) e fRE 39 e =
2148 (%) e LB 39 gégg aro
: =) , 819
H158(*%) A& INZ] 39 9,600 8102




a%H [XF& B IBEX#il
2H16H(H) =y IN=; 39 9,100 82%
2H17H(A) NS, NS 39 9,100 82%
2H18H(N) W=y L5 39 9,100 82%
2H19H(K) NS, NS 39 9,100 82%
2H20H(XK) W=y L5 39 9,100 82%
2821HGE) NS, NS 39 9,600 81%
2H22H(L) W=y INS; 39 12,600 75%
2H23H(H) NS, NS 39 10,600 79%
2H24H(H) W=y INS; 39 10,600 79%
2H25H(N) NS, NS 39 9,100 82%
2H26H(K) W=y L5 39 9,100 82%
2H27H(K) NS, NS 39 9,100 82%
2H28H(5&) W=y INS; 39 10,600 79%
11H6H(K) INZ; = 40 9,600 81%
11857H(CK) L5 =) 40 11,600 77%
11810H(H) /NS il= 40 11,600 77%
11512H(CN) L5 =) 40 11,600 77%
11817H(H) /NS il= 40 11,600 77%
11519H(CN) L5 =) 40 10,600 79%
11H22H (&) /NS il= 40 12,600 75%
11523H(%) L5 =) 40 12,600 75%
11824H(H) /NS = 40 12,600 75%
11825H(H) L5 =) 40 11,600 77%
11H26H(N) /NS il= 40 10,600 79%
11H27H(0K) L5 =) 40 8,600 83%
11H28H(K) /NS = 40 10,600 79%
115298 (&) L5 =) 40 11,600 77%
11H30H(L) L5 = 40 11,100 78%
12H1H((H) NS =) 40 11,600 78%
1282H(H) /NS = 40 10,600 80%
12H3H(X) NS =) 40 8,600 84%
12H4H(K) /NS = 40 9,100 83%
12H5H(K) NS =) 40 9,100 83%
12H6H(E) L5 = 40 9,600 82%
12H7H(XL) NS =) 40 11,100 79%
1288H(H) /NS = 40 9,600 82%
12H9H(H) NS =) 40 9,100 83%
12H108(XN) /NS = 40 9,100 83%
12H11H(CK) NS =) 40 9,600 82%
12H12H(K) /NS = 40 9,100 83%
12H13H(&) IN=] =) 40 9,600 82%
12H14H(%) /NS =3 40 11,600 78%
12H15H(H) L5 =) 40 9,100 83%
12H16H((A) /NS =3 40 9,100 83%
12H17H(N) L5 (= 40 9,100 83%
12H18H(K) /NS =3 40 8,600 84%
12H19H(XK) L5 (= 40 9,600 82%
12H20H(%&) /NS =3 40 10,600 80%
12H21H(X) L5 =) 40 11,600 78%
12H22H(H) NS =3 40 9,600 82%
12H23H(H) L5 (= 40 9,600 82%
12H24H(N) NS =3 40 9,100 83%
12H25H(0K) L5 (= 40 9,100 83%
12H26H(K) NS =3 40 10,600 80%

1H6H(A) L5 =) 40 11,600 77%




a%H [XF& B IBEX#il
1H7H(X) NS =3 40 9,600 81%
1H8H(K) L5 = 40 8,600 83%
1H9H(XK) NS =) 40 9,600 81%
15108 (%) INZ; = 40 10,600 79%
1H11H(XL) NS =) 40 12,600 75%
1H12H(H) INZ; = 40 8,600 83%
1H13H(H) NS =) 40 9,600 81%
1H14H(X) L5 = 40 8,600 83%
1H15H(K) NS =) 40 8,600 83%
1H16H(K) L5 = 40 8,600 83%
1H17H(E) NS =) 40 11,600 77%
1H18H(L) INZ; = 40 9,600 81%
1H19H((H) NS =) 40 8,600 83%
1H20H(H) INZ; = 40 9,600 81%
1H21H(CX) L5 =) 40 9,100 82%
1H22H(K) /NS = 40 8,600 83%
1H23H(RK) L5 =) 40 8,600 83%
1H24H(E) /NS il= 40 10,600 79%
1H25H(XL) L5 =) 40 9,600 81%
1H26H(H) /NS = 40 8,600 83%
1H27H(H) L5 =) 40 9,600 81%
1H28H(X) /NS = 40 8,600 83%
1H29H(K) L5 =) 40 8,600 83%
1H30H(K) /NS = 40 9,600 81%
1H31HGER) L5 =) 40 9,600 81%
2H1H(E) /NS = 40 9,100 82%
2H2H(H) L5 =) 40 9,100 82%
2H3H((A) /NS = 40 9,100 82%
2H4H(N) NS =) 40 9,600 81%
2H5BH(0K) /NS = 40 9,600 81%
2H6H(K) NS =) 40 9,100 82%
2H7H(GE) /NS = 40 9,600 81%
2H8H(X) NS =) 40 12,600 75%
2H9H(H) /NS = 40 9,600 81%
2H10H(H) NS =) 40 10,600 79%
2H11HX) /NS = 40 11,100 78%
2H12H(K) NS =) 40 9,100 82%
2H13H(XK) /NS = 40 9,100 82%
2H14H(&) NS =) 40 9,600 81%
2H15H(%) /NS = 40 9,600 81%
2H16H(H) IN=] =) 40 9,100 82%
2H17H(H) /NS =3 40 9,100 82%
2H18H(X) L5 (= 40 9,100 82%
2H19H(K) /NS =3 40 9,100 82%
2H20H(K) L5 (= 40 9,100 82%
2H21H(s®) /NS =3 40 11,100 78%
2H22H(%) L5 =) 40 12,600 75%
2H23H(H) /NS =3 40 10,600 79%
2H24H(H) L5 (= 40 11,100 78%
2H25H(N) NS =3 40 9,100 82%
2H26H(K) L5 (= 40 9,100 82%
2H27H(XK) NS =3 40 9,100 82%
2H28H(5&) L5 = 40 9,600 81%
1183H(H) =y IN=; 41 11,600 77%
1185H(CX) = IN=] 41 10,600 79%




R X
T _ o __ % IBEXISE
11878 (k) e hE 21 e 5io
11A11A(8) e fRE 41 T 510
118128(K) e e 41 s oo
118138 (K) e fRE 41 ST S50
119140 (k) e e 41 T et
118160(L) e fRE 41 T o
11A176(8) e fRE 41 1200 o
118186 () e fRE 41 o o
118198(K) e e 41 s oo
118208 (K) e fRE 41 S 510
118218 (k) e e 41 s oo
118228(%) e fRE 41 0 S
118246 (0) e fRE 41 11000 e
118256 (8) e LB 41 T o
118268(K) e RS 41 Y 510
11827H (K) e LB 41 s Sioe
118280 (k) e hE 41 N S50
118298 (%) e LE 41 e 510
118308(1) e RS 41 N 510
12810(H) e LE 41 i 530
12828(8) e RS 41 T 530
12838 (X) e LE 41 e 5o
12848 (K) e RS 41 T S50
12850 () e LE 41 i 530
12868(2) e RS 41 T 530
12876(1) e LE 41 e 5o
12888(H) e fRE 41 T S50
12898(8) e fRE 41 e S50
128 108 (X) e RS 41 T 5o
128 11H (K) e fRE 41 e S10
128128(K) e LE 41 W 550
128138(%) e LE 41 e 530
128148(1) e RS 41 T 530
128158(8) e LE 41 e 530
128165 () e RS 41 T 5o
128178(K) e LB 41 e 51
128188 (K) e RS 41 R S
128198 (K) e LB 41 i 530
128208(%) e RS 41 T 530
12H21H(L) = INZ; 41 e o
128228(8) e RS 41 T S
128236(8) na fRE 41 o 530
128248(K) e fRE 41 D 530
128256 (K) e LB 41 . S35
12826H (A) e fRE 41 R S0
1868(H) na fRE 41 o 5o
1A78(K) e fRE 41 T S50
1A8E () e LB 41 i 530
19 (A) e RS 41 o 530
1A108(2) e LB 41 e 530
1118 (1) e fRE 41 IR o
18 126(8) e LE 41 o o
1H138(8) e LB 41 191'160000 e
1A 148 (K = ¢ 5
B148H(N) A& INZ] 41 8,600 8302




a%H [XF& B IBEX#il
1H15H(K) =y IN=; 41 8,600 83%
1H16H(K) NS, NS 41 8,600 83%
1H17H(E) W=y INS; 41 8,600 83%
1H18H(L) NS, NS 41 9,100 82%
1H19H((H) W=y INS; 41 11,100 78%
1H20H(H) NS, NS 41 8,600 83%
1H21H(X) W=y INS; 41 8,600 83%
1H22H(K) NS, NS 41 9,100 82%
1H23H(K) W=y INS; 41 8,600 83%
1524H(%) NS, NS 41 9,100 82%
1H25H(XL) W=y INS; 41 8,600 83%
1H26H(H) NS, NS 41 10,600 79%
1H27H(RH) W=y INS; 41 9,100 82%
1H28H(X) NS, NS 41 8,600 83%
1H29H(K) W= L5 41 8,600 83%
1H30H(K) =y L5 41 8,600 83%
1H31HGER) =y L5 41 9,100 82%
2H1H(X) NS, L5 41 9,600 81%
2H2H(H) =y L5 41 9,600 81%
2H3H((A) =y L5 41 9,100 82%
2H4H(N) =y L5 41 9,100 82%
2H580K) =y L5 41 9,100 82%
2H6H(K) =y L5 41 9,100 82%
2H7H (&) NS, L5 41 9,100 82%
2H8H(X) =y L5 41 11,600 77%
2H9H(H) =y IN=] 41 11,600 77%
2H10H(H) =y L5 41 10,600 79%
2H11HX) =3 L5 41 11,600 77%
2H12H(K) =y L5 41 9,100 82%
2H13H(XK) =3 L5 41 9,100 82%
2H14H(&) = L5 41 9,100 82%
2H15H(%) =) L5 41 9,100 82%
2H16H(H) = L5 41 9,100 82%
2H17H(H) =3 L5 41 9,100 82%
2H18H(X) = L5 41 9,100 82%
2H19H(K) =3 L5 41 9,100 82%
2H20H(K) = L5 41 9,100 82%
2H21H(s®) =) L5 41 10,600 79%
2H22H(%) = L5 41 11,100 78%
2H23H(H) =3 L5 41 10,600 79%
2H24H(H) =y L5 41 11,600 77%
2H25H(N) W=y IN=; 41 9,100 82%
2H26H(K) W=y L5 41 9,100 82%
2H27H(XK) W=y IN=; 41 9,100 82%
2H28H(5&) W=y IN=] 41 9,100 82%
11H2H(XL) /NS =) 42 12,600 75%
1183H(H) L5 =) 42 12,600 75%
11H5HX) /NS =) 42 12,600 75%
11H6H(K) L5 (= 42 9,600 81%
11H7H(K) NS =) 42 9,600 81%
11H9H(L) L5 = 42 12,600 75%

11510H(H) NS =) 42 12,600 75%
11H12HN) L5 (= 42 9,600 81%
11H13H(K) NS =) 42 9,600 81%
11H14H(K) L5 =) 42 12,600 75%




a%H [XF& B IBEX#il
11H16H(X) NS =) 42 12,600 75%
11817H(H) L5 = 42 11,100 78%
11518H(H) NS =) 42 11,600 77%
11H19H(N) INZ; = 42 9,600 81%
11H20H(K) NS =) 42 11,100 78%
11H21H(K) INZ; = 42 11,600 77%
11H22H(%) NS =) 42 12,600 75%
11H23H(%) L5 = 42 12,600 75%
11H24H(H) NS =) 42 12,600 75%
11H26H(N) L5 = 42 10,600 79%
11H27H(K) NS =) 42 9,100 82%
11H28H(K) INZ; = 42 9,600 81%
115298 (&) NS =) 42 11,600 77%
11H30H(x) INZ; = 42 11,100 78%
12H2H(H) L5 =) 42 10,600 80%
12H3HX) /NS = 42 10,600 80%
12H4H(K) L5 =) 42 9,100 83%
12H5H(K) /NS = 42 9,100 83%
12H6H(ER) L5 =) 42 10,600 80%
12H7H(XL) /NS = 42 9,100 83%
12H8H(H) L5 =) 42 10,600 80%
12859H(H) /NS = 42 9,600 82%
12H10H(CN) L5 =) 42 8,600 84%
12H11H(K) /NS = 42 9,100 83%
12H12H(K) L5 =) 42 9,100 83%
12H13H(&) /NS = 42 9,600 82%
12H14H(X) L5 =) 42 9,100 83%
12H15H(H) /NS = 42 9,600 82%
12H16H(A) NS =) 42 9,600 82%
12H17H(CN) /NS = 42 9,600 82%
12H18H(K) NS =) 42 8,600 84%
12H19H(XK) /NS = 42 9,100 83%
12H208H (&) NS =) 42 9,100 83%
12H21H(X) /NS = 42 9,600 82%
12822H(H) NS =) 42 10,600 80%
12H23H(A) /NS = 42 9,600 82%
12H24H(N) NS =) 42 8,600 84%
12H25H(K) /NS = 42 8,600 84%
12H26H(K) NS =) 42 9,600 82%

1H6H(H) /NS = 42 11,600 77%
1878(X) IN=] =) 42 10,600 79%
1H8H(K) /NS =) 42 8,600 83%
1H9H(XK) L5 (= 42 8,600 83%
1H10H(E) /NS =) 42 9,600 81%
1H11H(EL) L5 =) 42 9,600 81%
1H12H(H) /NS =) 42 9,600 81%
1H13H(H) L5 (= 42 11,600 77%
1H14H(KX) /NS =) 42 9,100 82%
1H15H(K) L5 (= 42 8,600 83%
1H16H(K) NS =) 42 8,600 83%
1H17H(E) L5 = 42 9,600 81%
1H18H(L) NS =) 42 8,600 83%
1H19H(H) L5 = 42 9,100 82%
1H20H(H) NS =) 42 8,600 83%
1H21H(CKN) L5 =) 42 8,600 83%




Bx-d X[ (G IBEX4Fifi
18228(K) LB s 42 8,600 83%
18238 (K) LB s 42 9,100 82%
1H248(%) LB s 42 9,100 82%
18258 (1) LB s 42 8,600 83%
18268(R) LB s 42 9,100 82%
18278(H) LB s 42 9,100 82%
1828H(N) LB s 42 8,600 83%
1A29H(K) LB s 42 8,600 83%
185308 (K) LB s 42 8,600 83%
18318(®) LB s 42 9,100 82%
2A1A(L) LB s 42 9,100 82%
282H8(8) LB s 42 10,600 79%
2838(A) LB s 42 9,100 82%
2848 (N LB s 42 9,100 82%
2858 (K) LB s 42 9,100 82%
2868 (k) LB s 42 9,100 82%
2A78(%) LB s 42 10,600 79%
288H(1) LB s 42 9,600 81%
2898 (H) LB s 42 10,600 79%
2810H(B) LB s 42 9,600 81%
2A11H(K) LB s 42 11,100 78%
28128 (K) LB s 42 9,100 82%
28138 (k) LB s 42 9,100 82%
2814H(%) LB s 42 9,100 82%
2A158(1) LB s 42 9,100 82%
2816H(H) LB s 42 9,600 81%
2A178(B) LB s 42 9,100 82%
2A18H(A) LB s 42 10,600 79%
28198 (K) LB s 42 9,100 82%
28208 (k) LB s 42 9,100 82%
2A218(%) LB s 42 9,100 82%
28228(1) LB s 42 11,600 77%
2H238(8) LB s 42 10,600 79%
2824H(B) LB s 42 12,600 75%
28258 (X) LB s 42 9,100 82%
2826H(K) LB s 42 9,100 82%
28278(X) LB s 42 9,100 82%
2828H(%) LB s 42 9,100 82%
11828(1) s LE 43 12,600 75%
1153H(H) s = 43 12,600 75%
1186H0K) s LE 43 9,600 81%
11878 (X) s N= 43 8,600 83%
1158H(%) s LE 43 11,600 77%
11598 (1) s N= 43 10,600 79%

118108(H) s LE 43 11,600 77%
115118(A) s N= 43 10,600 79%
118128(X) s LE 43 9,600 81%
115138 (0K) s LE 43 9,100 82%
118178(8) s LE 43 11,600 77%
115198 (N) s LE 43 9,600 81%
118208 (K) s LE 43 9,600 81%
115238(%) s = 43 10,600 79%
118268 (N) s LE 43 9,600 81%
118278 (K) s LE 43 9,600 81%
115288 (A) s LB 43 9,100 82%




Bx-d X[ (G IBEX4Fifi
11H298(&) s LB 43 9,600 81%
11830H(L) = L5 43 11,600 77%

12818(8) s N 43 9,600 82%
12828(H) s LE 43 10,600 80%
12538(X) s N 43 9,100 83%
12548 (%K) s LE 43 9,100 83%
12558 (K) s N 43 9,100 83%
1256H (%) s = 43 9,100 83%
12878(1) s N 43 8,600 84%
1258H(H) s = 43 10,600 80%
12898 (B) s N 43 9,100 83%
1285108 (X) s LE 43 8,600 84%
128118 (K) s N 43 8,600 84%
125128 (K) s LE 43 8,600 84%
128138(®) s LE 43 9,100 83%
125148 (%) s = 43 9,600 82%
128158(8) s LE 43 10,600 80%
12516H(A) s = 43 9,100 83%
128178(X) s LE 43 8,600 84%
12518H(K) s = 43 8,600 84%
128198 (k) s LE 43 8,600 84%
12H208(&) = = 43 9,100 83%
12H218(%) s LE 43 8,600 84%
12522H(H) s = 43 9,600 82%
12H238(A) s LE 43 9,600 82%
125248 (N) s = 43 9,100 83%
128258 (K) s LE 43 8,600 84%
12H26H(K) s = 43 11,100 79%

186H(B) s LE 43 9,100 82%

1B7H(K) s = 43 8,600 83%

1A8H(K) s LE 43 8,600 83%

159H(X) s = 43 8,600 83%
1A10H(®) s LE 43 9,100 82%
18118(1) s = 43 9,600 81%
1A128(8) s LE 43 8,600 83%
18138(H) s = 43 11,600 77%
1A148(X) s LE 43 8,600 83%
18158 (%K) s = 43 8,600 83%
1816H (k) s LE 43 8,600 83%
18178(®) s = 43 8,600 83%
1818H(1) s LE 43 10,600 79%
18198 (R) s N= 43 11,100 78%
18208(A) s LE 43 8,600 83%
18218(X) s N= 43 8,600 83%
18228 (K) s LE 43 8,600 83%
1823H(K) s N= 43 8,600 83%
1248 (%) s LE 43 8,600 83%
18258 (1) s N= 43 8,600 83%
18268 (H) s LE 43 11,600 77%
18278(8) s = 43 8,600 83%
18288 (X) s LE 43 8,600 83%
18298 (%K) s = 43 8,600 83%
18308 (X) s LE 43 8,600 83%
1831H(®) s LE 43 9,600 81%

281H (L) s LB 43 9,100 82%




Bx-d Xf& (G IBEX4Fifi
2H2H(H) = L5 43 9,600 81%
2838(A) = =) 43 9,100 82%
2848(N) = L5 43 9,100 82%
2H5H0K) = =) 43 9,100 82%
2H6H(K) = L5 43 9,100 82%
2H7H(®) = =) 43 9,100 82%
2H8H(L) = L5 43 11,600 77%
2898 (8) = =) 43 11,600 77%

2H10H(B) s =) 43 10,600 79%
2H11HCA) = =) 43 11,100 78%
28128 (K) = L5 43 9,100 82%
2H13H(K) = =) 43 9,100 82%
2H14H(2) = L5 43 9,600 81%
2H15H(1) = =) 43 9,100 82%
2816H(H) = L5 43 9,600 81%
2H17H(B) = = 43 9,100 82%
2H18H(A) = L5 43 9,100 82%
28198 (%K) = = 43 9,100 82%
2H20H(XK) = L5 43 9,100 82%
2H21H(2) = = 43 9,600 81%
2H22H(1) = L5 43 11,100 78%
2H23H(H) = NS 43 11,600 77%
2H24H(B) = L5 43 11,600 77%
2H25H(A) = = 43 9,100 82%
2H26H(K) = L5 43 9,100 82%
28278 (K) = = 43 9,100 82%
2H28H(2) = L5 43 9,600 81%
11858 (N) N, = 44 9,600 81%
11868 (K) N} = 44 9,600 81%
11878(K) N, = 44 12,600 75%
11811H(B) N} = 44 11,600 77%
115128(N) N, = 44 10,600 79%
11813H(K) N} = 44 9,600 81%
11514H(K) N, = 44 11,600 77%
115158(®) LB s 44 12,600 75%
11518H(A) N, = 44 11,600 77%
11519H(N) N} = 44 9,600 81%
115208 (K) N, = 44 9,600 81%
11821H(K) N} s 44 10,600 79%
11522H(%) N, = 44 11,600 77%
11823H(1) LB s 44 11,100 78%
11525H(A) N} = 44 12,600 75%
11826H(N) LB = 44 9,600 81%
118278 (K) N} = 44 9,600 81%
11828H(XK) LB = 44 10,600 79%
11529H(®) N} = 44 11,600 77%
115308 (1) LB = 44 11,600 77%
1281H(H) N} = 44 12,600 76%
12828(8) LB = 44 11,100 79%
12838 (N) N = 44 10,600 80%
12848 0K) LB = 44 9,100 83%
1285H(K) N = 44 10,600 80%
1286H(%) LB e 44 10,600 80%
12878(1) N, = 44 9,600 82%
1288H(H) L5 = 44 12,600 76%




a%H [XF& B IBEX#il
1259H(H) NS =) 44 9,600 82%
12H10H(N) L5 = 44 9,100 83%
12H11H(K) NS =) 44 9,100 83%
12H12H(K) INZ; = 44 8,600 84%
12H13H(E) NS =) 44 10,600 80%
12H14H(X) INZ; = 44 9,100 83%
12H16H((H) NS =) 44 10,600 80%
12H17H(CN) L5 = 44 9,100 83%
12H18H(K) NS =) 44 8,600 84%
12H19H(K) L5 = 44 8,600 84%
12H208 (&) NS =) 44 10,600 80%
12H21H(X) INZ; = 44 9,100 83%
12H22H(H) NS =) 44 9,600 82%
12H23H(H) INZ; = 44 9,600 82%
12H24H(N) L5 =) 44 8,600 84%
12H25H(K) /NS = 44 8,600 84%
12H26H(K) L5 =) 44 9,600 82%

156H(H) /NS il= 44 11,600 77%
1878B(X) L5 =) 44 9,100 82%
1H8H(K) /NS = 44 9,100 82%
1H9H(K) L5 =) 44 8,600 83%
1H10H(E) /NS = 44 9,600 81%
1H11H(XL) L5 =) 44 8,600 83%
1H12H(H) /NS = 44 9,600 81%
1H13H(H) L5 =) 44 11,600 77%
1H14H(X) /NS = 44 9,100 82%
1H15H(K) L5 =) 44 8,600 83%
1H16H(K) L5 (U=} 44 9,600 81%
1H17H(ER) NS =) 44 8,600 83%
1H18H(L) /NS = 44 8,600 83%
1H19H(H) NS =) 44 9,600 81%
1820H(H) /NS = 44 9,100 82%
1H21H(CX) NS =) 44 8,600 83%
1H22H(K) /NS = 44 8,600 83%
1H23H(K) NS =) 44 8,600 83%
1H24H(E) /NS = 44 9,600 81%
1H25H(XL) NS =) 44 8,600 83%
1826H(H) /NS = 44 9,100 82%
1H27H(H) NS =) 44 8,600 83%
1H28H(X) /NS = 44 9,100 82%
1H29H(K) IN=] =) 44 8,600 83%
1H30H(K) /NS =) 44 8,600 83%
1H31H(ER) L5 =) 14 9,100 82%
2H1H(L) /NS =) 44 9,100 82%
2H2H(H) L5 =) 14 11,100 78%
2H3H((A) /NS =) 44 9,600 81%
2H48(X) L5 (= 44 9,600 81%
2H5B8(0K) /NS =) 44 9,100 82%
2H6H(K) L5 (= 44 9,600 81%
2H7H (&) NS =) 44 9,600 81%
2H8H(X) L5 = 14 9,600 81%
2H9H(H) NS =) 44 9,600 81%
2H10H(H) L5 (= 44 10,600 79%
2H11HX) NS =3 44 11,600 77%
2H12H(K) L5 =) 44 9,100 82%




a%H [XF& B IBEX#il
2H13H(XK) NS =3 44 9,100 82%
2H14H(E) L5 = 44 9,100 82%
2H15H(%) NS =) 44 9,100 82%
2H16H(H) INZ; = 44 9,100 82%
2H17H(H) NS =) 44 9,100 82%
2H18H(N) INZ; = 44 9,100 82%
2H19H(K) L5 =) 44 9,100 82%
2H20H(K) L5 = 44 9,100 82%
2H21H(5E) NS =) 44 10,600 79%
2H22H (%) L5 = 44 10,600 79%
2H23H(H) NS =) 44 10,600 79%
2H24H(AH) INZ; = 44 12,600 75%
2H25H(N) NS =) 44 9,100 82%
2H26H(K) INZ; = 44 9,100 82%
2H27H(K) L5 =) 44 9,100 82%
2H28H (&) /NS = 44 9,100 82%
1181HGER) =y ALIR 45 11,300 70%
11828(%) (U= AL 45 15,300 59%
1183H((H) =y ALIR 45 11,300 70%
1184H(H) =y ALIE 45 13,300 64%
1185H(CX) =y ALIR 45 8,300 78%
1186H(K) (U= AL 45 7,300 80%
1187H(CK) =y ALIR 45 8,300 78%
11H8H(E) =3 ALIE 45 10,300 72%
1159H(XL) =y ALIR 45 11,300 70%

11810H(H) =y ALIE 45 11,300 70%
11H11H(H) =y ALIR 45 7,300 80%
118128 (=} AL 45 7,300 80%
11H13H0K) =y ALIR 45 7,300 80%
11H148(K) =3 ALIR 45 7,300 80%
11H158(&) = ALIR 45 9,300 75%
11H16H(XL) =3 ALIR 45 10,300 72%
11817H(H) = ALIR 45 7,300 80%
11718H(H) (=} AL 45 8,300 78%
11H19H(CN) = ALIR 45 7,300 80%
11H20H0K) (=} AL 45 7,300 80%
11H21H(K) = ALIR 45 7,300 80%
11H22H (&) (=} AL 45 9,300 75%
11H23H(%) = ALIR 45 8,300 78%
11H24H(H) (=} AL 45 7,300 80%
118525H(H) =y ALIR 45 7,300 80%
11H26H(XN) W=y ALIR 45 7,300 80%
11H27H(0K) W=y ALIR 45 7,300 80%
11H28H(K) W=y ALIR 45 7,300 80%
11H29H (&) W=y ALIR 45 9,300 75%
11830H(%) W=y ALIR 45 9,300 75%
12H1H(H) W=y ALIR 45 9,300 76%
1282H(H) W=y ALIR 45 7,300 81%
12H3H(X) W=y ALIR 45 7,300 81%
12H4H(K) =y ALIR 45 7,300 81%
12H5H(K) = ALIR 45 7,300 81%
12H6H(E) =y ALIR 45 8,300 79%
12H7H(L) = ALIR 45 9,300 76%
1288H(H) =y ALIR 45 6,300 84%
12H9H(H) = ALIR 45 7,300 81%




a%H [XF& B IBEX#il
12H108(CX) =y ALIR 45 7,300 81%
12H11H(K) NS, ALIR 45 7,300 81%
12H12H(K) W=y ALIR 45 7,300 81%
12H13HGE) NS, ALIR 45 8,300 79%
12H14H(X) W=y ALIR 45 8,300 79%
12H15H(H) NS, ALIR 45 7,300 81%
12H16H((H) W=y ALIR 45 7,300 81%
12H178(CN) NS, ALIR 45 6,300 84%
12H18H(K) (= ALIR 45 6,300 84%
12H19H(K) NS, ALIR 45 6,300 84%
12H208 (&) W=y ALIR 45 7,300 81%
12H21H(%) NS, ALIR 45 8,300 79%
12H22H(H) W=y ALIR 45 7,300 81%
12H23H(A) NS, ALIR 45 7,300 81%
12H24H(N) W= ALIR 45 6,300 84%
12H25H(K) =y ALIE 45 7,300 81%
12H26H(K) =y ALIR 45 7,300 81%

156H(H) =3 AL 45 6,300 83%
1878B(X) =y ALIR 45 6,300 83%
1H8H(K) =y ALIE 45 6,300 83%
1H9H(K) =y ALIR 45 6,300 83%
1H10H(E) =y ALIE 45 6,300 83%
1H11H(L) =y ALIR 45 11,300 70%
1812H(H) =3 ALIE 45 7,300 80%
1H13H(H) =y ALIR 45 8,300 78%
1H148H0X) =y ALIE 45 6,300 83%
1H15H(K) (= ALIR 45 6,300 83%
1H16H(K) =3 ALIR 45 6,300 83%
1H17H(ER) =y ALIR 45 6,300 83%
1H18H(L) =3 ALIR 45 7,300 80%
1H19H(H) = ALIR 45 6,300 83%
1820H(H) =3 ALIR 45 5,300 86%
1H21H(CX) = ALIR 45 5,300 86%
1H22H(K) =3 ALIR 45 5,300 86%
1H23H(K) = ALIR 45 5,300 86%
1H24H(E) =3 ALIR 45 7,300 80%
1H25H(XL) = ALIR 45 7,300 80%
1826H(H) =3 ALIR 45 6,300 83%
1H27H(H) = ALIR 45 5,300 86%
1H28H(X) =3 ALIR 45 5,300 86%
1H29H(K) =y ALIR 45 5,300 86%
1H30H(K) W=y ALIR 45 5,300 86%
1H31H(ER) W=y ALIR 45 6,300 83%
2H1H(X) W=y ALIR 45 7,300 80%
2H2H(H) W=y ALIR 45 5,300 86%
2H3H((A) W=y ALIR 45 5,300 86%
2H48(X) W=y ALIR 45 6,300 83%
2H5B8(0K) W=y ALIR 45 6,300 83%
2H6H(K) W=y ALIR 45 6,300 83%
2H7H(E) =y ALIR 45 9,300 75%
2H8H(X) = ALIR 45 12,300 67%
2H9H(H) =y ALIR 45 7,300 80%
2H10H(H) = ALIR 45 8,300 78%
2H11H(N) =y ALIR 45 11,300 70%
2H12H(K) = ALIR 45 5,300 86%




a%H [XF& B IBEX#il
2H13H(XK) =y ALIR 45 5,300 86%
2H14H(E) NS, ALIR 45 5,300 86%
2H15H(%) W=y ALIR 45 7,300 80%
2H16H(H) NS, ALIR 45 5,300 86%
2H17H(H) W=y ALIR 45 6,300 83%
2H18H(N) NS, ALIR 45 5,300 86%
2H19H(K) (= ALIR 45 5,300 86%
2H20H(K) NS, ALIR 45 5,300 86%
2H21H(5E) W=y ALIR 45 6,300 83%
2H22H (%) NS, ALIR 45 12,300 67%
2H23H(H) W=y ALIR 45 9,300 75%
2H24H(AH) NS, ALIR 45 9,300 75%
2H25H(N) W=y ALIR 45 5,300 86%
2H26H(K) NS, ALIR 45 6,300 83%
2H27H(K) W= ALIR 45 5,300 86%
2H28H (&) =y ALIE 45 6,300 83%
1181HGER) ALIR =) 46 13,300 64%
11H2H(L) ALIE il= 46 13,300 64%
1183H((H) ALIR =) 46 9,300 75%
1184H(H) ALIE il= 46 13,300 64%
1185H(CX) AL =) 46 7,300 80%
11H6H(K) ALIE = 46 7,300 80%
1187H(CK) AL =) 46 7,300 80%
11H8H(E) ALIE il= 46 9,300 75%
1159H(XL) ALIR =) 46 10,300 72%

11810H(H) ALIE = 46 11,300 70%
11H11H(H) ALIR =) 46 11,300 70%
11H12H(CN) ALIE =3 46 7,300 80%
11H13H0K) AL =y 46 7,300 80%
11H148(K) ALIE =3 46 8,300 78%
11H158(&) AL =) 46 11,300 70%
11H16H(XL) ALIE =3 46 9,300 75%
11817H(H) AL =y 46 9,300 75%
11H18H(A) ALIE =3 46 9,300 75%
11H19H(CN) AL =) 46 7,300 80%
11H20H(K) ALIE =3 46 9,300 75%
11H21H(K) AL =y 46 9,300 75%
11H22H(%&) ALIE =3 46 9,300 75%
11H23H(%) AL =y 46 9,300 75%
11H24H(H) ALIE =3 46 9,300 75%
118525H(H) AL =) 46 7,300 80%
11H26H(XN) ALIE =3 46 7,300 80%
11H27H(0K) ALIR (= 46 8,300 78%
11H28H(K) ALIE =3 46 7,300 80%
11H29H (&) ALIR =) 46 9,300 75%
11830H(%) ALIE =3 46 7,300 80%
12H1H(H) ALIR =) 46 8,300 79%
1282H(H) ALIE =3 46 9,300 76%
12H3H(X) ALIR (= 46 7,300 81%
12H4H(K) ALIE =3 46 7,300 81%
12H5H(K) ALIR (= 46 7,300 81%
12H6H(E) ALIE =3 46 7,300 81%
12H7H(L) ALIR = 46 9,300 76%
1288H(H) ALIE =3 46 6,300 84%
12H9H(H) ALIR =) 46 8,300 79%




a%H [XF& B IBEX#il
12H108(CX) ALIR =3 46 7,300 81%
12H11H(K) ALIR = 46 7,300 81%
12H12H(K) AL e 46 8,300 79%
12H13HGE) ALI = 46 8,300 79%
12H14H(X) ALIR =) 46 7,300 81%
12H15H(H) ALI = 46 7,300 81%
12H16H((H) ALIR e 46 8,300 79%
12H178(CN) ALI = 46 6,300 84%
12H18H(K) AL =) 46 7,300 81%
12H19H(K) ALI = 46 7,300 81%
12H208 (&) ALIR =) 46 7,300 81%
12H21H(%) ALI = 46 8,300 79%
12H22H(H) ALIR =) 46 6,300 84%
12H23H(A) ALI = 46 7,300 81%
12H24H(N) AL =) 46 7,300 81%
12H25H(K) ALIE il= 46 7,300 81%
12H26H(K) AL =) 46 7,300 81%

156H(H) ALIE il= 46 8,300 78%
1878B(X) AL =) 46 6,300 83%
1H8H(K) ALIE = 46 6,300 83%
1H9H(K) AL =) 46 6,300 83%
1H10H(E) ALIE = 46 6,300 83%
1H11H(L) ALIR =) 46 11,300 70%
1812H(H) ALIE il= 46 8,300 78%
1H13H(H) ALIR =) 46 8,300 78%
1H148H0X) ALIE = 46 6,300 83%
1H15H(K) AL =) 46 6,300 83%
1H16H(K) ALIE =3 46 6,300 83%
1H17H(ER) AL =y 46 6,300 83%
1H18H(L) ALIE =3 46 7,300 80%
1H19H(H) AL =) 46 6,300 83%
1820H(H) ALIE =3 46 6,300 83%
1H21H(CX) AL =y 46 6,300 83%
1H22H(K) ALIE =3 46 6,300 83%
1H23H(K) AL =) 46 6,300 83%
1H24H(E) ALIE =3 46 6,300 83%
1H25H(XL) AL =y 46 6,300 83%
1826H(H) ALIE =3 46 6,300 83%
1H27H(H) AL =y 46 6,300 83%
1H28H(X) ALIE =3 46 6,300 83%
1H29H(K) AL =) 46 6,300 83%
1H30H(K) ALIE =3 46 6,300 83%
1H31H(ER) ALIR =) 46 6,300 83%
2H1H(X) ALIE =3 46 6,300 83%
2H2H(H) ALIR =) 46 5,300 86%
2H3H((A) ALIE =3 46 5,300 86%
2H48(X) ALIR (= 46 6,300 83%
2H5B8(0K) ALIE =3 46 6,300 83%
2H6H(K) ALIR (= 46 6,300 83%
2H7H(E) ALIE =3 46 9,300 75%
2H8H(X) ALIR = 46 12,300 67%
2H9H(H) ALIE =3 46 7,300 80%
2H10H(H) ALIR (= 46 8,300 78%
2H11H(N) ALIE =3 46 11,300 70%
2H12H(K) ALIR =) 46 5,300 86%




a%H [XF& B IBEX#il
2H13H(XK) ALIR =3 46 6,300 83%
2H14H(E) ALIR = 46 5,300 86%
2H15H(%) ALIR =) 46 9,300 75%
2H16H(H) ALIR = 46 5,300 86%
2H17H(H) ALIR e 46 6,300 83%
2H18H(N) ALIR = 46 5,300 86%
2H19H(K) AL e 46 5,300 86%
2H20H(K) ALIR = 46 5,300 86%
2H21H(5E) ALIR e 46 8,300 78%
2H22H (%) ALIR = 46 12,300 67%
2H23H(H) ALIR e 46 8,300 78%
2H24H(AH) ALIR = 46 10,300 72%
2H25H(N) AL e 46 6,300 83%
2H26H(K) ALIR = 46 6,300 83%
2H27H(K) AL =y 46 5,300 86%
2H28H (&) ALIE il= 46 6,300 83%
1181HGER) =y ALIR 47 11,300 70%
11H2H(L) =3 AL 47 15,300 59%
1183H((H) =y ALIR 47 9,300 75%
1184H(H) =y ALIE 47 13,300 64%
1185H(CX) =y ALIR 47 8,300 78%
11H6H(K) =y ALIE 47 7,300 80%
1187H(CK) =y ALIR 47 7,300 80%
11H8H(E) =3 ALIE 47 11,300 70%
1159H(XL) =y ALIR 47 11,300 70%

11810H(H) =y ALIE 47 11,300 70%
11H11H(H) =y ALIR 47 7,300 80%
11H12H(CN) =3 ALIR 47 7,300 80%
11H13H0K) =y ALIR 47 7,300 80%
11H148(K) =3 ALIR 47 7,300 80%
11H158(&) = ALIR 47 11,300 70%
11H16H(XL) =3 ALIR 47 9,300 75%
11817H(H) = ALIR 47 10,300 72%
11H18H(A) =3 ALIR 47 9,300 75%
11H19H(CN) = ALIR 47 7,300 80%
11H20H(K) =3 ALIR 47 7,300 80%
11H21H(K) = ALIR 47 7,300 80%
11H22H(%&) =3 ALIR 47 8,300 78%
11H23H(%) = ALIR 47 9,300 75%
11H24H(H) =3 ALIR 47 9,300 75%
118525H(H) =y ALIR 47 7,300 80%
11H26H(XN) W=y ALIR 47 7,300 80%
11H27H(0K) W=y ALIR 47 7,300 80%
11H28H(K) W=y ALIR 47 7,300 80%
11H29H (&) W=y ALIR 47 9,300 75%
11830H(%) W=y ALIR 47 9,300 75%
12H1H(H) W=y ALIR 47 9,300 76%
1282H(H) W=y ALIR 47 8,300 79%
12H3H(X) W=y ALIR 47 7,300 81%
12H4H(K) =y ALIR 47 7,300 81%
12H5H(K) = ALIR 47 7,300 81%
12H6H(E) =y ALIR 47 7,300 81%
12H7H(L) = ALIR 47 7,300 81%
1288H(H) =y ALIR 47 7,300 81%
12H9H(H) = ALIR 47 7,300 81%




a%H [XF& B IBEX#il
12H108(CX) =y ALIR 47 7,300 81%
12H11H(K) NS, ALIR 47 7,300 81%
12H12H(K) (= ALIR 47 7,300 81%
12H13HGE) =y ALIR 47 8,300 79%
12H14H(X) W=y ALIR 47 8,300 79%
12H15H(H) NS, ALIR 47 8,300 79%
12H16H((H) W=y ALIR 47 7,300 81%
12H178(CN) NS, ALIR 47 6,300 84%
12H18H(K) (= ALIR 47 6,300 84%
12H19H(K) NS, ALIR 47 6,300 84%
12H208 (&) W=y ALIR 47 8,300 79%
12H21H(%) =y ALIR 47 8,300 79%
12H22H(H) W=y ALIR 47 8,300 79%
12H23H(A) NS, ALIR 47 6,300 84%
12H24H(N) (= ALIR 47 6,300 84%
12H25H(K) =y ALIE 47 6,300 84%
12H26H(K) (= ALIR 47 7,300 81%

156H(H) =3 AL 47 6,300 83%
1878B(X) (= ALIR 47 6,300 83%
1H8H(K) =y ALIE 47 6,300 83%
1H9H(K) =y ALIR 47 6,300 83%
1H10H(E) =y ALIE 47 8,300 78%
1H11H(L) =y ALIR 47 9,300 75%
1812H(H) =3 ALIE 47 8,300 78%
1H13H(H) =y ALIR 47 8,300 78%
1H148H0X) =y ALIE 47 6,300 83%
1H15H(K) (= ALIR 47 6,300 83%
1H16H(K) =3 ALIR 47 6,300 83%
1H17H(ER) =y ALIR 47 6,300 83%
1H18H(L) =3 ALIR 47 6,300 83%
1H19H(H) = ALIR 47 6,300 83%
1820H(H) =3 ALIR 47 6,300 83%
1H21H(CX) = ALIR 47 6,300 83%
1H22H(K) =3 ALIR 47 6,300 83%
1H23H(K) = ALIR 47 6,300 83%
1H24H(E) =3 ALIR 47 6,300 83%
1H25H(XL) = ALIR 47 6,300 83%
1826H(H) =3 ALIR 47 6,300 83%
1H27H(H) = ALIR 47 6,300 83%
1H28H(X) =3 ALIR 47 6,300 83%
1H29H(K) (= ALIR 47 6,300 83%
1H30H(K) W=y ALIR 47 6,300 83%
1H31H(ER) W=y ALIR 47 6,300 83%
2H1H(X) W=y ALIR 47 5,300 86%
2H2H(H) W=y ALIR 47 5,300 86%
2H3H((A) W=y ALIR 47 5,300 86%
2H48(X) W=y ALIR 47 6,300 83%
2H5B8(0K) W=y ALIR 47 6,300 83%
2H6H(K) W=y ALIR 47 6,300 83%
2H7H(E) =y ALIR 47 9,300 75%
2H8H(X) = ALIR 47 12,300 67%
2H9H(H) =y ALIR 47 8,300 78%
2H10H(H) = ALIR 47 8,300 78%
2H11H(N) =y ALIR 47 8,300 78%
2H12H(K) = ALIR 47 5,300 86%




a%H [XF& B IBEX#il
2H13H(XK) =y ALIR 47 5,300 86%
2H14H(E) NS, ALIR 47 7,300 80%
2H15H(%) W=y ALIR 47 7,300 80%
2H16H(H) NS, ALIR 47 5,300 86%
2H17H(H) W=y ALIR 47 6,300 83%
2H18H(N) NS, ALIR 47 5,300 86%
2H19H(K) (= ALIR 47 5,300 86%
2H20H(K) NS, ALIR 47 5,300 86%
2H21H(5E) W=y ALIR 47 8,300 78%
2H22H (%) NS, ALIR 47 10,300 72%
2H23H(H) W=y ALIR 47 9,300 75%
2H24H(AH) NS, ALIR 47 7,300 80%
2H25H(N) W=y ALIR 47 7,300 80%
2H26H(K) NS, ALIR 47 5,300 86%
2H27H(K) W= ALIR 47 5,300 86%
2H28H (&) =y ALIE 47 5,300 86%
1181HGER) ALIR =) 48 13,300 64%
11H2H(L) ALIE il= 48 13,300 64%
1183H((H) ALIR =) 48 9,300 75%
1184H(H) ALIE il= 48 15,300 59%
1185H(CX) AL =) 48 7,300 80%
11H6H(K) ALIE = 48 7,300 80%
1187H(CK) AL =) 48 7,300 80%
11H8H(E) ALIE il= 48 9,300 75%
1159H(XL) ALIR =) 48 8,300 78%

11810H(H) ALIE = 48 13,300 64%
11811H(H) ALIR =) 48 11,300 70%
11H12H(CN) ALIE =3 48 7,300 80%
11H13H0K) AL =y 48 7,300 80%
11H148(K) ALIE =3 48 7,300 80%
11H158(&) AL =) 48 7,300 80%
11H16H(XL) ALIE =3 48 8,300 78%
11817H(H) AL =y 48 9,300 75%
11H18H(A) ALIE =3 48 9,300 75%
11H19H(CN) AL =) 48 7,300 80%
11H20H(K) ALIE =3 48 7,300 80%
11H21H(K) AL =y 48 6,300 83%
11H22H(%&) ALIE =3 48 9,300 75%
11H23H(%) AL =) 48 10,300 72%
11824H(H) ALIE =3 48 10,300 72%
118525H(H) AL =) 48 9,300 75%
11H26H(XN) ALIE =3 48 6,300 83%
11H27H(0K) ALIR (= 48 6,300 83%
11H28H(K) ALIE =3 48 6,300 83%
11H29H (&) ALIR =) 48 6,300 83%
11830H(%) ALIE =3 48 8,300 78%
12H1H(H) ALIR =) 48 9,300 76%
1282H(H) ALIE =3 48 7,300 81%
12H3H(X) ALIR (= 48 6,300 84%
12H4H(K) ALIE =3 48 6,300 84%
12H5H(K) ALIR (= 48 6,300 84%
12H6H(E) ALIE =3 48 6,300 84%
12H7H(L) ALIR = 48 7,300 81%
1288H(H) ALIE =3 48 7,300 81%
12H9H(H) ALIR =) 48 7,300 81%




a%H [XF& B IBEX#il
12H108(CX) ALIR =3 48 6,300 84%
12H11H(K) ALIR = 48 6,300 84%
12H12H(K) AL =) 48 6,300 84%
12H13HGE) ALI = 48 6,300 84%
12H14H(X) ALIR =) 48 7,300 81%
12H15H(H) ALI = 48 7,300 81%
12H16H((H) ALIR =) 48 7,300 81%
12H178(CN) ALI = 48 6,300 84%
12H18H(K) AL =) 48 6,300 84%
12H19H(K) ALI = 48 6,300 84%
12H208 (&) ALIR =) 48 6,300 84%
12H21H(%) ALI = 48 6,300 84%
12H22H(H) ALIR =) 48 6,300 84%
12H23H(A) ALI = 48 6,300 84%
12H24H(N) AL =) 48 6,300 84%
12H25H(K) ALIE il= 48 6,300 84%
12H26H(K) AL =) 48 8,300 79%

156H(H) ALIE il= 48 9,300 75%
1878B(X) AL =) 48 6,300 83%
1H8H(K) ALIE il= 48 5,300 86%
1H9H(K) AL =) 48 6,300 83%
1H10H(E) ALIE = 48 5,300 86%
1H11H(L) ALIR =) 48 9,300 75%
1812H(H) ALIE il= 48 8,300 78%
1H13H(H) ALIR =) 48 13,300 64%
1H148H0X) ALIE = 48 6,300 83%
1H15H(K) AL =) 48 5,300 86%
1H16H(K) ALIE =3 48 5,300 86%
1H17H(ER) AL =y 48 5,300 86%
1H18H(L) ALIE =3 48 6,300 83%
1H19H(H) AL =) 48 6,300 83%
1820H(H) ALIE =3 48 6,300 83%
1H21H(CX) AL =y 48 5,300 86%
1H22H(K) ALIE =3 48 5,300 86%
1H23H(K) AL =) 48 6,300 83%
1H24H(E) ALIE =3 48 5,300 86%
1H25H(XL) AL =y 48 6,300 83%
1826H(H) ALIE =3 48 7,300 80%
1H27H(H) AL =y 48 6,300 83%
1H28H(X) ALIE =3 48 5,300 86%
1H29H(K) AL =) 48 5,300 86%
1H30H(K) ALIE =3 48 5,300 86%
1H31H(ER) ALIR =) 48 6,300 83%
2H1H(X) ALIE =3 48 6,300 83%
2H2H(H) ALIR =) 48 5,300 86%
2H3H((A) ALIE =3 48 5,300 86%
2H48(X) ALIR (= 48 6,300 83%
2H5B8(0K) ALIE =3 48 6,300 83%
2H6H(K) ALIR (= 48 6,300 83%
2H7H(E) ALIE =3 48 9,300 75%
2H8H(X) ALIR = 48 12,300 67%
2H9H(H) ALIE =3 48 8,300 78%
2H10H(H) ALIR (= 48 8,300 78%
2H11H(N) ALIE =3 48 11,300 70%
2H12H(K) ALIR =) 48 5,300 86%




a%H [XF& B IBEX#il
2H13H(XK) ALIR =3 48 5,300 86%
2H14H(E) ALI = 48 5,300 86%
2H15H(%) ALIR e 48 6,300 83%
2H16H(H) ALI = 48 8,300 78%
2H17H(H) ALIR e 48 7,300 80%
2H18H(N) ALI = 48 5,300 86%
2H19H(K) AL e 48 6,300 83%
2H20H(K) ALI = 48 5,300 86%
2H21H(5E) ALIR e 48 8,300 78%
2H22H (%) ALI = 48 9,300 75%
2H23H(H) ALIR e 48 9,300 75%
2H24H(AH) ALI = 48 12,300 67%
2H25H(N) AL e 48 6,300 83%
2H26H(K) ALIR = 48 6,300 83%
2H27H(K) AL =y 48 5,300 86%
2H28H (&) ALIE il= 48 5,300 86%
1181HGER) =y ALIR 49 13,300 64%
11H2H(L) =3 AL 49 9,300 75%
1183H((H) =y ALIR 49 11,300 70%
1184H(H) =y ALIE 49 13,300 64%
1185H(CX) =y ALIR 49 10,300 72%
11H6H(K) =y ALIE 49 7,300 80%
1187H(CK) =y ALIR 49 7,300 80%
11H8H(E) =3 ALIE 49 11,300 70%
1159H(XL) =y ALIR 49 11,300 70%

11810H(H) =y ALIE 49 11,300 70%
11811H(H) =y ALIR 49 7,300 80%
11H12H(CN) =3 ALIR 49 7,300 80%
11H13H0K) =y ALIR 49 7,300 80%
11H148(K) =3 ALIR 49 8,300 78%
11H158(&) = ALIR 49 15,300 59%
11H16H(XL) =3 ALIR 49 7,300 80%
11817H(H) = ALIR 49 11,300 70%
11H18H(A) =3 ALIR 49 7,300 80%
11H19H(CN) = ALIR 49 7,300 80%
11H20H(K) =3 ALIR 49 7,300 80%
11H21H(K) = ALIR 49 7,300 80%
11H22H(%&) =3 ALIR 49 10,300 72%
11H23H(%) = ALIR 49 7,300 80%
11824H(H) =3 ALIR 49 11,300 70%
118525H(H) =y ALIR 49 6,300 83%
11H26H(XN) W=y ALIR 49 6,300 83%
11H27H(0K) W=y ALIR 49 6,300 83%
11H28H(K) W=y ALIR 49 6,300 83%
11H29H (&) W=y ALIR 49 11,300 70%
11830H(%) W=y ALIR 49 6,300 83%
12H1H(H) W=y ALIR 49 9,300 76%
1282H(H) W=y ALIR 49 6,300 84%
12H3H(X) W=y ALIR 49 6,300 84%
12H4H(K) =y ALIR 49 6,300 84%
12H5H(K) = ALIR 49 6,300 84%
12H6H(E) =y ALIR 49 7,300 81%
12H7H(L) = ALIR 49 7,300 81%
1288H(H) =y ALIR 49 10,300 74%
12H9H(H) = ALIR 49 7,300 81%




a%H [XF& B IBEX#il
12H108(CX) =y ALIR 49 6,300 84%
12H11H(K) NS, ALIR 49 6,300 84%
12H12H(K) (= ALIR 49 6,300 84%
12H13HGE) =y ALIR 49 9,300 76%
12H14H(X) W=y ALIR 49 6,300 84%
12H15H(H) NS, ALIR 49 8,300 79%
12H16H((H) W=y ALIR 49 6,300 84%
12H178(CN) NS, ALIR 49 6,300 84%
12H18H(K) (= ALIR 49 6,300 84%
12H19H(K) NS, ALIR 49 6,300 84%
12H208 (&) W=y ALIR 49 8,300 79%
12H21H(%) =y ALIR 49 6,300 84%
12H22H(H) W=y ALIR 49 9,300 76%
12H23H(A) NS, ALIR 49 6,300 84%
12H24H(N) (= ALIR 49 6,300 84%
12H25H(K) =y ALIE 49 6,300 84%
12H26H(K) (= ALIR 49 7,300 81%

156H(H) =3 AL 49 6,300 83%
1878B(X) (= ALIR 49 6,300 83%
1H8H(K) =y ALIE 49 6,300 83%
1H9H(K) (= ALIR 49 6,300 83%
1H10H(E) =y ALIE 49 8,300 78%
1H11H(L) =y ALIR 49 10,300 72%
1812H(H) =3 ALIE 49 9,300 75%
1H13H(H) =y ALIR 49 8,300 78%
1H148H0X) =y ALIE 49 6,300 83%
1H15H(K) (= ALIR 49 6,300 83%
1H16H(K) =3 ALIR 49 6,300 83%
1H17H(ER) =y ALIR 49 7,300 80%
1H18H(L) =3 ALIR 49 6,300 83%
1H19H(H) = ALIR 49 8,300 78%
1820H(H) =3 ALIR 49 5,300 86%
1H21H(CX) = ALIR 49 5,300 86%
1H22H(K) =3 ALIR 49 5,300 86%
1H23H(K) = ALIR 49 5,300 86%
1H24H(E) =3 ALIR 49 7,300 80%
1H25H(XL) = ALIR 49 6,300 83%
1826H(H) =3 ALIR 49 7,300 80%
1H27H(H) (= ALIR 49 7,300 80%
1H28H(X) =3 ALIR 49 5,300 86%
1H29H(K) (= ALIR 49 5,300 86%
1H30H(K) W=y ALIR 49 5,300 86%
1H31H(ER) W=y ALIR 49 6,300 83%
2H1H(X) W=y ALIR 49 5,300 86%
2H2H(H) W=y ALIR 49 6,300 83%
2H3H((A) W=y ALIR 49 5,300 86%
2H48(X) W=y ALIR 49 6,300 83%
2H5B8(0K) W=y ALIR 49 6,300 83%
2H6H(K) W=y ALIR 49 6,300 83%
2H7H(E) =y ALIR 49 12,300 67%
2H8H(X) = ALIR 49 9,300 75%
2H9H(H) =y ALIR 49 10,300 72%
2H10H(H) = ALIR 49 9,300 75%
2H11H(N) =y ALIR 49 10,300 72%
2H12H(K) = ALIR 49 5,300 86%




a%H [XF& B IBEX#il
2H13H(XK) =y ALIR 49 5,300 86%
2H14H(E) NS, ALIR 49 9,300 75%
2H15H(%) W=y ALIR 49 5,300 86%
2H16H(H) NS, ALIR 49 7,300 80%
2H17H(H) W=y ALIR 49 5,300 86%
2H18H(N) NS, ALIR 49 5,300 86%
2H19H(K) (= ALIR 49 5,300 86%
2H20H(K) NS, ALIR 49 5,300 86%
2H21H(5E) W=y ALIR 49 11,300 70%
2H22H (%) NS, ALIR 49 10,300 72%
2H23H(H) W=y ALIR 49 9,300 75%
2H24H(AH) NS, ALIR 49 8,300 78%
2H25H(N) W=y ALIR 49 5,300 86%
2H26H(K) NS, ALIR 49 5,300 86%
2H27H(K) W= ALIR 49 5,300 86%
2H28H (&) =y ALIE 49 6,300 83%
1181HGER) ALIR =) 50 15,300 59%
11H2H(L) ALIE il= 50 13,300 64%
1183H((H) ALIR =) 50 11,300 70%
1184H(H) ALIE il= 50 15,300 59%
1185H(CX) AL =) 50 9,300 75%
11H6H(K) ALIE = 50 8,300 78%
1187H(CK) AL =) 50 8,300 78%
11H8H(E) ALIE il= 50 10,300 72%
1159H(XL) ALIR =) 50 7,300 80%

11810H(H) ALIE = 50 13,300 64%
11H11H(H) ALIR =) 50 11,300 70%
11H12H(CN) ALIE =3 50 8,300 78%
11H13H0K) AL =y 50 8,300 78%
11H148(K) ALIE =3 50 8,300 78%
11H158(&) ALIR =) 50 11,300 70%
11H16H(XL) ALIE =3 50 8,300 78%
11817H(H) ALIR =y 50 11,300 70%
11H18H(A) ALIE =3 50 9,300 75%
11H19H(CN) AL =) 50 7,300 80%
11H20H(K) ALIE =3 50 7,300 80%
11H21H(K) AL =y 50 9,300 75%
11H22H(%&) ALIE =3 50 10,300 72%
11H23H(%) ALIR =y 50 8,300 78%
11H24H(H) ALIE =3 50 11,300 70%
118525H(H) AL =) 50 7,300 80%
11H26H(XN) ALIE =3 50 7,300 80%
11H27H(0K) ALIR (= 50 7,300 80%
11H28H(K) ALIE =3 50 7,300 80%
11H29H (&) ALIR (= 50 9,300 75%
11830H(%) ALIE =3 50 9,300 75%
12H1H(H) ALIR (= 50 9,300 76%
1282H(H) ALIE =3 50 9,300 76%
12H3H(X) ALIR (= 50 7,300 81%
12H4H(K) ALIE =3 50 7,300 81%
12H5H(K) ALIR (= 50 7,300 81%
12H6H(E) ALIE =3 50 8,300 79%
12H7H(L) ALIR (= 50 8,300 79%
1288H(H) ALIE =3 50 9,300 76%
12H9H(H) ALIR =) 50 7,300 81%




a%H [XF& B IBEX#il
12H108(CX) ALIR =3 50 7,300 81%
12H11H(K) ALIR = 50 7,300 81%
12H12H(K) AL e 50 7,300 81%
12H13HGE) ALI = 50 9,300 76%
12H14H(X) ALIR e 50 8,300 79%
12H15H(H) ALI = 50 9,300 76%
12H16H((H) ALIR e 50 8,300 79%
12H178(CN) ALI = 50 7,300 81%
12H18H(K) AL e 50 7,300 81%
12H19H(K) ALI = 50 7,300 81%
12H208 (&) ALIR e 50 9,300 76%
12H21H(%) ALI = 50 7,300 81%
12H22H(H) ALIR e 50 9,300 76%
12H23H(A) ALI = 50 7,300 81%
12H24H(N) AL =y 50 7,300 81%
12H25H(K) ALIE il= 50 7,300 81%
12H26H(K) AL =) 50 8,300 79%

156H(H) ALIE il= 50 9,300 75%
1878B(X) AL =) 50 9,300 75%
1H8H(K) ALIE = 50 6,300 83%
1H9H(K) AL =) 50 7,300 80%
1H10H(E) ALIE = 50 8,300 78%
1H11H(L) ALIR =) 50 9,300 75%
1812H(H) ALIE il= 50 8,300 78%
1H13H(H) ALIR =) 50 13,300 64%
1H148H0X) ALIE = 50 6,300 83%
1H15H(K) AL =) 50 6,300 83%
1H16H(K) ALIE =3 50 6,300 83%
1H17H(ER) AL =y 50 9,300 75%
1H18H(L) ALIE =3 50 6,300 83%
1H19H(H) AL =) 50 8,300 78%
1820H(H) ALIE =3 50 6,300 83%
1H21H(CX) AL =y 50 6,300 83%
1H22H(K) ALIE =3 50 6,300 83%
1H23H(K) AL =) 50 6,300 83%
1H24H(E) ALIE =3 50 8,300 78%
1H25H(XL) AL =y 50 6,300 83%
1826H(H) ALIE =3 50 7,300 80%
1H27H(H) AL =y 50 6,300 83%
1H28H(X) ALIE =3 50 6,300 83%
1H29H(K) AL =) 50 6,300 83%
1H30H(K) ALIE =3 50 6,300 83%
1H31H(ER) ALIR (= 50 7,300 80%
2H1H(X) ALIE =3 50 6,300 83%
2H2H(H) ALIR (= 50 6,300 83%
2H3H((A) ALIE =3 50 6,300 83%
2H48(X) ALIR (= 50 6,300 83%
2H5B8(0K) ALIE =3 50 6,300 83%
2H6H(K) ALIR (= 50 6,300 83%
2H7H(E) ALIE =3 50 13,300 64%
2H8H(X) ALIR (= 50 9,300 75%
2H9H(H) ALIE =3 50 10,300 72%
2H10H(H) ALIR (= 50 9,300 75%
2H11H(N) ALIE =3 50 11,300 70%
2H12H(K) ALIR =) 50 6,300 83%




a%H [XF& B IBEX#il
2H13H(XK) ALIR =3 50 6,300 83%
2H14H(E) ALIR = 50 9,300 75%
2H15H(%) ALIR e 50 5,300 86%
2H16H(H) ALIR = 50 9,300 75%
2H17H(H) ALIR e 50 6,300 83%
2H18H(N) ALIR = 50 6,300 83%
2H19H(K) ALIR e 50 6,300 83%
2H20H(K) ALIR = 50 9,300 75%
2H21H(5E) ALIR e 50 10,300 72%
2H22H (%) ALIR = 50 8,300 78%
2H23H(H) ALIR e 50 10,300 72%
2H24H(AH) ALIR = 50 12,300 67%
2H25H(N) ALIR e 50 7,300 80%
2H26H(K) ALIR = 50 6,300 83%
2H27H(K) ALIR =y 50 6,300 83%
2H28H (&) ALIE = 50 6,300 83%
1181HGER) AN =) 51 12,300 70%
11H2H(L) AN il= 51 13,300 67%
1183H((H) AN =) 51 13,300 67%
1184H(H) AN il= 51 13,300 67%
1185H(CX) AN =) 51 12,300 70%
11H6H(K) AN = 51 9,300 77%
1187H(CK) AN =) 51 9,300 77%
11H8H(E) AN il= 51 12,300 70%
1159H(XL) AN =) 51 12,300 70%
11810H(H) AN = 51 12,300 70%
11H11H(H) AN =) 51 12,300 70%
11H12H(CN) AN =3 51 9,300 77%
11H13H0K) ABR =y 51 9,300 77%
11814H(K) N (U=} 51 9,300 77%
11H158(&) ABR =) 51 12,300 70%
11H16H(XL) AN =3 51 12,300 70%
11817H(H) ABR =y 51 13,300 67%
11H18H(A) AN =3 51 10,300 75%
11H19H(CN) ABR =) 51 10,300 75%
11H20H(K) AN =3 51 9,300 77%
11H21H(K) ABR =y 51 9,300 77%
11H22H(%&) AN =3 51 10,300 75%
11H23H(%) ABR =y 51 10,300 75%
11H24H(H) AN =3 51 10,300 75%
118525H(H) ABR =) 51 10,300 75%
11H26H(XN) AN =3 51 9,300 77%
11H27H(0K) ABR (= 51 9,300 77%
11H28H(K) AN =3 51 9,300 77%
11H29H (&) ABR (= 51 10,300 75%
11830H(%) AN =3 51 10,300 75%
12H1H(H) ABR (= 51 10,300 76%
1282H(H) AN =3 51 8,300 81%
12H3H(X) ABR (= 51 8,300 81%
12H4H(K) AN =3 51 8,300 81%
12H5H(K) ABR (= 51 8,300 81%
12H6H(E) AN =3 51 8,300 81%
12H7H(L) ABR (= 51 8,300 81%
1288H(H) AN =3 51 8,300 81%
12H9H(H) AN e 51 8,300 81%




a%H [XF& B IBEX#il
12H108(CX) ABR =3 51 7,300 83%
12H11H(K) AN (=3 51 8,300 81%
12H12H(K) ABR e 51 7,300 83%
12H13H(%&) AN (=3 51 8,300 81%
12H14H(X) AP e 51 8,300 81%
12H15H(H) AN (=3 51 8,300 81%
12H16H((H) ABR e 51 8,300 81%
12H17H(CN) AN = 51 7,300 83%
12H18H(K) ABR e 51 7,300 83%
12H19H(K) AN (=3 51 7,300 83%
12H208 (&) ABR e 51 8,300 81%
12H21H(X) AN (=3 51 8,300 81%
12H22H(H) AP e 51 8,300 81%
12H23H(H) AN (=3 51 8,300 81%
12H24H(N) AN =y 51 7,300 83%
12H25H(K) AN il= 51 8,300 81%
12H26H(K) AN =) 51 8,300 81%

156H(H) AN il= 51 7,300 82%
1878B(X) AN =) 51 7,300 82%
1H8H(K) AN il= 51 7,300 82%
1H9H(K) AN =) 51 7,300 82%
1H10H(E) AN = 51 7,300 82%
1H11H(L) AN =) 51 9,300 77%
1812H(H) AN il= 51 9,300 77%
1H13H(H) AN =) 51 9,300 77%
1H148H0X) AN = 51 8,300 80%
1H15H(K) AN =) 51 7,300 82%
1H16H(K) AN =3 51 7,300 82%
1H17H(ER) ABR =y 51 8,300 80%
1H18H(L) AN =3 51 8,300 80%
1H19H(H) ABR =) 51 8,300 80%
1820H(H) AN =3 51 7,300 82%
1H21H(CX) ABR =y 51 7,300 82%
1H22H(K) AN =3 51 7,300 82%
1H23H(K) ABR =) 51 7,300 82%
1H24H(E) AN =3 51 7,300 82%
1H25H(XL) ABR =y 51 8,300 80%
1826H(H) AN =3 51 8,300 80%
1H27H(H) ABR =y 51 8,300 80%
1H28H(N) N (U=} 51 7,300 82%
1H29H(K) ABR =) 51 7,300 82%
1H30H(K) AN =3 51 7,300 82%
1H31H(ER) ABR (= 51 7,300 82%
2H1H(X) AN =3 51 7,300 82%
2H2H(H) ABR (= 51 8,300 80%
2H3H((A) AN =3 51 7,300 82%
2H48(X) ABR (= 51 6,300 85%
2H5B8(0K) AN =3 51 6,300 85%
2H6H(K) ABR (= 51 6,300 85%
2H7H(E) AN =3 51 8,300 80%
2H8H(X) ABR (= 51 9,300 77%
2H9H(H) AN =3 51 9,300 77%
2H10H(H) ABR (= 51 9,300 77%
2H11H(N) AN =3 51 9,300 77%
2H12H(K) AN e 51 6,300 85%




a%H [XF& B IBEX#il
2H13H(XK) ABR =3 51 6,300 85%
2H14H(&) ABR (=3 51 6,300 85%
2H15H(%) ABR =) 51 7,300 82%
2H16H(H) AN (=3 51 8,300 80%
2H17H(H) AP e 51 6,300 85%
2H18H(X) AN (=3 51 6,300 85%
2H19H(K) ABR e 51 6,300 85%
2H20H(K) AN = 51 6,300 85%
2H21H(®) ABR e 51 7,300 82%
2H22H(L) ABR (=3 51 7,300 82%
2H23H(H) ABR e 51 7,300 82%
2H24H(AH) AN (=3 51 7,300 82%
2H25H(N) AP e 51 6,300 85%
2H26H(K) AN (=3 51 6,300 85%
2H27H(K) AN =y 51 6,300 85%
2H28H (&) AN = 51 6,300 85%
1181HGER) =y AP 52 13,300 67%
1152H(XL) =3 AN 52 13,300 67%
1183H((H) =y AP 52 13,300 67%
1184H(H) =y AN 52 13,300 67%
1185H(CX) =y AP 52 13,300 67%
11H6H(K) =y KB 52 10,300 75%
1187H(CK) =y AP 52 11,300 72%
11H8H(E) =3 AN 52 11,300 72%
1159H(XL) =y AP 52 11,300 72%
11810H(H) =y KB 52 11,300 72%
11H11H(H) =y AP 52 10,300 75%
11H12H(CN) =3 AP 52 10,300 75%
11H13H0K) =y ABR 52 11,300 72%
11H148(K) =3 AP 52 11,300 72%
11H158(&) = ABR 52 13,300 67%
11H16H (%) =3 AP 52 13,300 67%
11817H(H) = ABR 52 11,300 72%
11H18H(A) =3 AP 52 11,300 72%
11H19H(CN) = ABR 52 10,300 75%
11H20H(K) =3 AP 52 10,300 75%
11H21H(K) = ABR 52 11,300 72%
11H22H(%&) =3 AP 52 11,300 72%
11H23H(%) = ABR 52 11,300 72%
11H24H(H) =3 AP 52 11,300 72%
118525H(H) =y ABR 52 11,300 72%
11H26H(XN) W=y AP 52 9,300 77%
11H27H(0K) W=y N 52 9,300 77%
11H28H(K) W=y AP 52 9,300 77%
11H29H (&) W=y N 52 10,300 75%
11830H(%) W=y AP 52 10,300 75%
12H1H(H) W=y N 52 10,300 76%
1282H(H) W=y AP 52 9,300 78%
12H3H(X) W=y N 52 9,300 78%
12H4H(K) =y KB 52 10,300 76%
12H5H(K) = N 52 9,300 78%
12H6H(E) =y KB 52 9,300 78%
12H7H(L) = ABR 52 9,300 78%
1288H(H) =y KB 52 9,300 78%
12H9H(H) =y KB 52 7,300 83%




R X
RS _ A _ % IBEXIHHT
128 11H (K) e IR gé T Sio
128128(K) e xR 52 T oo
128138(%) e xR 52 e S5
128148(1) e xR 52 T S
128 156(0) e xR 52 o oo
128165 () e xR 52 P o5
128178(K) e xR 52 e 53
128188 (K) e xR 52 P o3
128198 (k) e xR 52 e 53
128206 (%) e xR 52 T S
128218(1) e xR 52 T oo
128228(8) e xR 52 T oo
128238(8) e xR 52 T oo
128248(K) e xR 52 P o5
128256 (K) e xR 52 T o
128268 (K) e xR 52 e e
1868(H) e xR 52 B o
1A78(X) e xR 52 yoT o
1A8H(K) e xR 52 L 550
189 (A) e xR 52 T S0
1A 108 () e xR 52 T 500
1A118(1) e xR 52 T S0
1H128(8) e xR 52 e 500
18138(8) e xR 52 T 505
1148 (X) e xR 52 T 500
18158 (K) e xR 52 o 5o
18168 (k) e xR 52 L 550
18176(2) e xR 52 o =
1H188 (1) e xR 52 T S0%
18198(H) e xR 52 o 5o
18208(8) e xR 52 T S0
1A21E(X) e xR 52 or S0t
1A 228 (K) e xR 52 L 550
18238 () e xR 52 ot 550t
1H248 (%) e xR 52 L 550
18256(1) e xR 52 o =
18268(8) e xR 52 T S0
18278(8) e xR 52 ot S50
18288(N) e xR 52 L 550
18298 (K) = N 52 - o
18308 (k) e XK 52 s 555
18310 (=) e xR 52 o =
2B1A(L) e XK 52 L S0
2B26(H) na xR 52 o 5o
2B38(8) e XK 52 T =
2B48(N) na xR 52 o 520
2B58(K) e XK 52 T =
2B6E (k) na xR 52 o 520
2B78(&) e xR 52 T =
2H8E (L) e xR 52 o e
2B98(A) e XK 52 T e
28108 (B) e xR 52 . e
2B11A(X) e xR 52 3388 e
2H1 B , =
B1280K) = KR 52 6,300 8502




a%H [XF& B IBEX#il
2H13H(XK) =y AP 52 6,300 85%
2H14H(&) =y N 52 6,300 85%
2H15H(%) W=y AP 52 7,300 82%
2H16H(H) =y AN 52 7,300 82%
2H17H(H) W=y AP 52 6,300 85%
2H18H(N) =y AN 52 6,300 85%
2H19H(K) W=y AP 52 6,300 85%
2H20H(K) =y N 52 6,300 85%
2H21H(5E) W=y AP 52 6,300 85%
2H22H(L) =y AN 52 7,300 82%
2H23H(H) W=y AP 52 7,300 82%
2H24H(AH) =y AN 52 6,300 85%
2H25H(N) W=y AP 52 6,300 85%
2H26H(K) =y AN 52 6,300 85%
2H27H(K) W= AP 52 6,300 85%
2H28H (&) =y AN 52 6,300 85%
1181HGER) AN =) 53 13,300 67%
11H2H(L) AN il= 53 13,300 67%
1183H((H) AN =) 53 13,300 67%
1184H(H) AN il= 53 13,300 67%
1185H(CX) AN =) 53 13,300 67%
11H6H(K) AN = 53 10,300 75%
1187H(CK) AN =) 53 9,300 77%
11H8H(E) AN il= 53 13,300 67%
1159H(XL) AN =) 53 13,300 67%
11810H(H) AN = 53 13,300 67%
11H11H(H) AN =) 53 13,300 67%
11H12H(CN) AN =3 53 9,300 77%
11H13H0K) ABR =y 53 9,300 77%
11814H(K) N (U=} 53 9,300 77%
11H158(&) ABR =) 53 10,300 75%
11H16H(XL) AN =3 53 10,300 75%
11817H(H) ABR =y 53 10,300 75%
11H18H(A) AN =3 53 10,300 75%
11H19H(CN) ABR =) 53 9,300 77%
11H20H(K) AN =3 53 9,300 77%
11H21H(K) ABR =y 53 10,300 75%
11H22H(%&) AN =3 53 10,300 75%
11H23H(%) ABR =y 53 10,300 75%
11H24H(H) AN =3 53 10,300 75%
118525H(H) ABR =) 53 10,300 75%
11H26H(XN) AN =3 53 10,300 75%
11H27H(0K) ABR (= 53 9,300 77%
11H28H(K) AN =3 53 10,300 75%
11H29H (&) ABR (= 53 10,300 75%
11830H(%) AN =3 53 10,300 75%
12H1H(H) ABR (= 53 10,300 76%
1282H(H) AN =3 53 8,300 81%
12H3H(X) ABR (= 53 8,300 81%
12H4H(K) AN =3 53 8,300 81%
12H5H(K) ABR (= 53 8,300 81%
12H6H(E) AN =3 53 8,300 81%
12H7H(L) ABR (= 53 8,300 81%
1288H(H) AN =3 53 9,300 78%
12H9H(H) AN e 53 9,300 78%




a%H [XF& B IBEX#il
12H108(CX) ABR =3 53 8,300 81%
12H11H(K) AN (=3 53 8,300 81%
12H12H(K) ABR e 53 7,300 83%
12H13H(%&) AN (=3 53 10,300 76%
12H14H(X) AP =) 53 7,300 83%
12H15H(H) AN (=3 53 9,300 78%
12H16H((H) ABR e 53 9,300 78%
12H17H(CN) AN = 53 7,300 83%
12H18H(K) ABR e 53 7,300 83%
12H19H(K) AN (=3 53 7,300 83%
12H208 (&) ABR e 53 7,300 83%
12H21H(X) AN (=3 53 7,300 83%
12H22H(H) AP e 53 9,300 78%
12H23H(H) AN (=3 53 9,300 78%
12H24H(N) AN =y 53 7,300 83%
12H25H(K) AN il= 53 8,300 81%
12H26H(K) AN =) 53 9,300 78%

156H(H) AN il= 53 7,300 82%
1878B(X) AN =) 53 7,300 82%
1H8H(K) AN il= 53 7,300 82%
1H9H(K) AN =) 53 7,300 82%
1H10H(E) AN = 53 7,300 82%
1H11H(L) AN =) 53 7,300 82%
1812H(H) AN il= 53 9,300 77%
1H13H(H) AN =) 53 9,300 77%
1H148H0X) AN = 53 7,300 82%
1H15H(K) AN =) 53 7,300 82%
1H16H(K) N (U=} 53 7,300 82%
1H17H(ER) ABR =y 53 8,300 80%
1H18H(L) AN =3 53 7,300 82%
1H19H(H) ABR =) 53 8,300 80%
1820H(H) AN =3 53 7,300 82%
1H21H(CX) ABR =y 53 7,300 82%
1H22H(K) AN =3 53 7,300 82%
1H23H(K) ABR =) 53 7,300 82%
1H24H(E) AN =3 53 7,300 82%
1H25H(XL) ABR =y 53 8,300 80%
1826H(H) AN =3 53 10,300 75%
1H27H(H) ABR =y 53 10,300 75%
1H28H(X) AN =3 53 7,300 82%
1H29H(K) ABR =) 53 8,300 80%
1H30H(K) AN =3 53 7,300 82%
1H31H(ER) ABR (= 53 7,300 82%
2H1H(X) AN =3 53 7,300 82%
2H2H(H) ABR (= 53 10,300 75%
2H3H((A) AN =3 53 6,300 85%
2H48(X) ABR (= 53 6,300 85%
2H5B8(0K) AN =3 53 6,300 85%
2H6H(K) ABR (= 53 6,300 85%
2H7H(E) AN =3 53 7,300 82%
2H8H(X) ABR (= 53 7,300 82%
2H9H(H) AN =3 53 7,300 82%
2H10H(H) ABR (= 53 9,300 77%
2H11H(N) AN =3 53 9,300 77%
2H12H(K) AN e 53 6,300 85%




a%H [XF& B IBEX#il
2H13H(XK) ABR =3 53 6,300 85%
2H14H(&) ABR (=3 53 6,300 85%
2H15H(L) ABR =) 53 6,300 85%
2H16H(H) AN (=3 53 6,300 85%
2H17H(H) AP =) 53 6,300 85%
2H18H(X) AN (=3 53 6,300 85%
2H19H(K) ABR e 53 6,300 85%
2H20H(K) AN = 53 6,300 85%
2H21H(®) ABR e 53 7,300 82%
2H22H(L) ABR (=3 53 7,300 82%
2H23H(H) ABR e 53 7,300 82%
2H24H(H) AN (=3 53 9,300 77%
2H25H(N) AP e 53 9,300 77%
2H26H(K) AN (=3 53 6,300 85%
2H27H(K) AN =y 53 6,300 85%
2H28H (&) AN = 53 6,300 85%
1181HGER) =y AP 54 13,300 67%
1152H(XL) =3 AN 54 13,300 67%
1183H((H) =y AP 54 13,300 67%
1184H(H) =y AN 54 13,300 67%
1185H(CX) =y AP 54 11,300 72%
11H6H(K) =y KB 54 10,300 75%
1187H(CK) =y AP 54 9,300 77%
11H8H(E) =3 AN 54 11,300 72%
1159H(XL) =y AP 54 11,300 72%
11810H(H) =y KB 54 11,300 72%
11H11H(H) =y AP 54 11,300 72%
118128 (=} N 54 9,300 77%
11H13H0K) =y ABR 54 9,300 77%
11H14H(K) =3 AP 54 9,300 77%
11H158(&) = ABR 54 10,300 75%
11H16H (%) =3 AP 54 10,300 75%
11817H(H) = ABR 54 11,300 72%
11H18H(A) =3 AP 54 10,300 75%
11H19H(CN) = ABR 54 9,300 77%
11H20H(K) =3 AP 54 9,300 77%
11H21H(K) = ABR 54 11,300 72%
11H22H(%&) =3 AP 54 11,300 72%
11H23H(%) = ABR 54 11,300 72%
11H24H(H) =3 AP 54 11,300 72%
118525H(H) =y ABR 54 11,300 72%
11H26H(XN) W=y AP 54 10,300 75%
11H27H(0K) W=y N 54 10,300 75%
11H28H(K) W=y AP 54 9,300 77%
11H29H (&) W=y N 54 10,300 75%
11830H(%) W=y AP 54 11,300 72%
12H1H(H) W=y N 54 11,300 74%
1282H(H) W=y AP 54 10,300 76%
12H3H(X) W=y N 54 7,300 83%
12H4H(K) =y KB 54 7,300 83%
12H5H(K) = N 54 7,300 83%
12H6H(E) =y KB 54 8,300 81%
12H7H(L) = ABR 54 9,300 78%
1288H(H) =y KB 54 9,300 78%
12H9H(H) =y KB 54 7,300 83%




R X
RS _ A _ % IBEXIHHT
128 11H (K) e IR 22 L 53
128128(K) e xR 54 P o3
128138(%) e xR 54 o 53
128148(1) e xR 54 T S
128 156(0) e xR 54 i e
128165 () e xR 54 T Eoo
128178(K) e xR 54 o 53
128188 (K) e xR 54 P o3
128198 (k) e xR 54 o 53
128206 (%) e xR 54 P o3
128218(1) e xR 54 o 53
128228(8) e xR 54 P 53
128238(8) e xR 54 o 53
128248(K) e xR 54 o 53
128256 (K) e xR 54 e 510
128268 (K) e xR 54 P o5
1868(H) e xR 54 L S0
1A78(X) e xR 54 o 555
1A8H(K) e xR 54 L 550
189 (A) e xR 54 o 5o
1A 108 () e xR 54 T o
1A118(1) e xR 54 o e
1H128(8) e xR 54 T e
18138(8) e xR 54 o e
1148 (X) e xR 54 e S
18158 (K) e xR 54 o 5o
18168 (k) e xR 54 L 5o
18176(2) e xR 54 ot S50
1H188 (1) e xR 54 T S0
18198(H) e xR 54 i 505
18208(8) e xR 54 T S0%
1A21E(X) e xR 54 or 5o
1A 228 (K) e xR 54 L 550
18238 () e xR 54 ot S50
1H248 (%) e xR 54 L 550
18256(1) e xR 54 o S0%
18268(8) e xR 54 T S0
18278(8) e xR 54 or 5o
18288(N) e xR 54 L 550
18298 (K) = N 54 e o
18308 (k) e XK 54 s S50
18310 (=) e xR 54 o =
2B1A(L) e XK 54 s 550
2B26(H) na xR 54 e S50
2B38(8) e XK 54 T =
2B48(N) na xR 54 e 520
2B58(K) e XK 54 T =
2B6E (k) na xR 54 e 520
2B78(&) e xR 54 s 535
2H8E (L) e xR 54 it S0
2B98(A) e XK 54 s 505
28108 (B) e xR 54 e 505
2B11A(X) e xR 54 2288 S05
21 = ' =
B1280K) = KR 54 6,300 8202




a%H [XF& B IBEX#il
2H13H(XK) =y AP 54 6,300 85%
2H14H(&) =y N 54 6,300 85%
2H15H(%) W=y AP 54 7,300 82%
2H16H(H) =y AN 54 7,300 82%
2H17H(H) W=y AP 54 6,300 85%
2H18H(N) =y AN 54 6,300 85%
2H19H(K) W=y AP 54 6,300 85%
2H20H(K) =y N 54 6,300 85%
2H21H(5E) W=y AP 54 8,300 80%
2H22H(L) =y AN 54 9,300 77%
2H23H(H) W=y AP 54 9,300 77%
2H24H(AH) =y AN 54 9,300 77%
2H25H(N) W=y AP 54 6,300 85%
2H26H(K) =y AN 54 6,300 85%
2H27H(K) W= AP 54 6,300 85%
2H28H (&) =y AN 54 6,300 85%
1181HGER) AN il 55 9,500 67%
11H2H(L) AN e ] 55 9,500 67%
1183H((H) AN il 55 7,500 74%
1184H(H) AN e ] 55 9,500 67%
1185H(CX) AN il 55 7,500 74%
11H6H(K) AN e ] 55 7,500 74%
1187H(CK) AN il 55 7,500 74%
11H8H(E) AN e ] 55 9,500 67%
1159H(XL) AN il 55 9,500 67%
11810H(H) AN &l 55 5,500 81%
11H11H(H) AN il 55 7,500 74%
11H12H(CN) AN ] 55 7,500 74%
11H13H0K) ABR fE 55 7,500 74%
11H148(K) AN &[] 55 7,500 74%
11H158(&) ABR fE 55 9,500 67%
11H16H(XL) AN ] 55 9,500 67%
11817H(H) ABR fE 55 8,000 72%
11H18H(A) AN &[] 55 9,500 67%
11H19H(CN) ABR fE 55 7,500 74%
11H20H(K) AN ] 55 9,500 67%
11H21H(K) ABR fE 55 9,500 67%
11H22H(%&) AN &[] 55 9,500 67%
11H23H(%) ABR fE 55 9,500 67%
11H24H(H) AN &[] 55 7,500 74%
118525H(H) ABR fE 55 7,500 74%
11H26H(XN) AN @] 55 7,500 74%
11H27H(0K) ABR il 55 7,500 74%
11H28H(K) AN @] 55 7,500 74%
11H29H (&) ABR il 55 7,500 74%
11830H(%) AN @] 55 9,500 67%
12H1H(H) ABR il 55 8,000 74%
1282H(H) AN @] 55 5,500 82%
12H3H(X) ABR il 55 5,500 82%
12H4H(K) AN &[] 55 5,500 82%
12H5H(K) ABR fE 55 5,500 82%
12H6H(E) AN &[] 55 5,500 82%
12H7H(L) ABR fE 55 9,000 70%
1288H(H) AN &[] 55 7,000 77%
12H9H(H) AN fe ] 55 5,500 82%




a%H [XF& B IBEX#il
12H108(CX) ABR @] 55 5,500 82%
12H11H(K) AN fe ] 55 5,500 82%
12H12H(K) ABR @] 55 5,500 82%
12H13H(%&) ABR fe ] 55 5,500 82%
12H14H(X) AP @] 55 9,000 70%
12H15H(H) AN =lid 55 7,000 77%
12H16H((H) ABR @] 55 5,500 82%
12H17H(CN) AN e[ 55 5,500 82%
12H18H(K) ABR @] 55 5,500 82%
12H19H(K) AN fe ] 55 5,500 82%
12H208 (&) ABR @] 55 5,500 82%
12H21H(X) ABR =lid 55 8,000 74%
12H22H(H) AP @] 55 7,000 77%
12H23H(H) AN =lid 55 5,500 82%
12H24H(N) AN il 55 7,000 77%
12H25H(K) AN &l 55 5,500 82%
12H26H(K) AN il 55 7,000 77%

156H(H) AN &l 55 4,500 84%
1878B(X) AN il 55 4,500 84%
1H8H(K) AN &l 55 4,500 84%
1H9H(K) AN il 55 4,500 84%
1H10H(E) AN &l 55 4,500 84%
1H11H(L) AN il 55 6,500 77%
1812H(H) AN e ] 55 6,500 77%
1H13H(H) AN il 55 6,500 77%
1H148H0X) AN &l 55 4,500 84%
1H15H(K) AN il 55 4,500 84%
1H16H(K) AN ] 55 4,500 84%
1H17H(ER) ABR fE 55 4,500 84%
1H18H(L) AN &l 55 6,500 77%
1H19H(H) ABR fE 55 5,500 81%
1820H(H) AN ] 55 4,500 84%
1H21H(CX) ABR fE 55 4,500 84%
1H22H(K) AN &[] 55 4,500 84%
1H23H(K) ABR fE 55 4,500 84%
1H24H(E) AN &l 55 4,500 84%
1H25H(XL) ABR fE 55 6,500 77%
1826H(H) AN &[] 55 5,500 81%
1H27H(H) ABR fE 55 4,500 84%
1H28H(X) AN &[] 55 4,500 84%
1H29H(K) ABR fE 55 4,500 84%
1H30H(K) AN @] 55 4,500 84%
1H31H(ER) ABR il 55 4,500 84%
2H1H(X) AN &l 55 6,500 77%
2H2H(H) ABR il 55 5,500 81%
2H3H((A) AN @] 55 4,500 84%
2H48(X) ABR il 55 4,500 84%
2H5B8(0K) AN @] 55 4,500 84%
2H6H(K) ABR il 55 4,500 84%
2H7H(E) AN &l 55 6,000 79%
2H8H(X) ABR fE 55 9,000 69%
2H9H(H) AN &[] 55 5,500 81%
2H10H(H) ABR fE 55 4,500 84%
2H11H(N) AN &[] 55 4,500 84%
2H12H(K) AN fe ] 55 4,500 84%




a%H [XF& B IBEX#il
2H13H(XK) ABR @] 55 4,500 84%
2H14H(&) ABR fe ] 55 4,500 84%
2H15H(%) ABR @] 55 6,500 77%
2H16H(H) AN fe ] 55 5,500 81%
2H17H(H) AP @] 55 4,500 84%
2H18H(X) AN =lid 55 4,500 84%
2H19H(K) ABR @] 55 4,500 84%
2H20H(K) AN e[ 55 4,500 84%
2H21H(®) ABR @] 55 4,500 84%
2H22H(L) ABR fe ] 55 6,500 77%
2H23H(H) ABR @] 55 5,500 81%
2H24H(H) AN =lid 55 4,500 84%
2H25H(N) AP @] 55 4,500 84%
2H26H(K) AN =lid 55 4,500 84%
2H27H(K) AN il 55 4,500 84%
2H28H (&) AN &l 55 5,500 81%
1181HGER) &l AP 56 9,500 67%
1152H(XL) &l AN 56 9,500 67%
1183H((H) &l AP 56 9,500 67%
1184H(H) &l AN 56 9,500 67%
1185H(CX) &l AP 56 7,500 74%
11H6H(K) &l KB 56 7,500 74%
1187H(CK) & ] AP 56 7,500 74%
11H8H(E) &l AN 56 7,500 74%
1159H(XL) &l AP 56 7,500 74%

11810H(H) &l KB 56 9,500 67%
11H11H(H) &l AP 56 7,500 74%
11H12H(CN) &l AP 56 7,500 74%
11H13H0K) & ABR 56 7,500 74%
11H148(K) &l AP 56 7,500 74%
11H158(&) &l ABR 56 9,500 67%
11H16H (%) &l AP 56 9,500 67%
11817H(H) &l ABR 56 9,500 67%
11H18H(A) &l AP 56 9,500 67%
11H19H(CN) & ABR 56 9,500 67%
11H20H(K) &l AP 56 7,500 74%
11H21H(K) & ABR 56 9,500 67%
11H22H(%&) &l AP 56 9,500 67%
11H23H(%) &l ABR 56 9,500 67%
11H24H(H) &l AP 56 9,500 67%
118525H(H) fE ] ABR 56 7,500 74%
11H26H(XN) &l AP 56 7,500 74%
11H27H(0K) &l N 56 7,500 74%
11H28H(K) &l AP 56 7,500 74%
11H29H (&) &l N 56 7,500 74%
11830H(%) &l AP 56 9,500 67%
12H1H(H) &l N 56 8,000 74%
1282H(H) &l AP 56 5,500 82%
12H3H(X) &l N 56 5,500 82%
12H4H(K) &l KB 56 5,500 82%
12H5H(K) &l N 56 7,000 77%
12H6H(E) &l KB 56 5,500 82%
12H7H(L) &l N 56 7,000 77%
1288H(H) &l KB 56 7,000 77%
12H9H(H) &l KB 56 6,500 79%




a%H [XF& B IBEX#il
12H108(CX) &l AP 56 5,500 82%
12H11H(K) &l N 56 5,500 82%
12H12H(K) f& ] AP 56 5,500 82%
12H13H(%&) &l AN 56 6,500 79%
12H14H(X) &l AP 56 7,500 75%
12H15H(H) &l AN 56 6,000 80%
12H16H((H) &l AP 56 8,000 74%
12H17H(CN) &l N 56 5,500 82%
12H18H(K) f& ] AP 56 5,500 82%
12H19H(K) &l AN 56 5,500 82%
12H208 (&) &l AP 56 5,500 82%
12H21H(X) &l AN 56 5,500 82%
12H22H(H) &l AP 56 5,500 82%
12H23H(H) &l AN 56 5,500 82%
12H24H(N) & ] AP 56 5,500 82%
12H25H(K) &l AN 56 5,500 82%
12H26H(K) & ] AP 56 7,000 77%

1H6HA) i1 N 56 4,500 84%
1878B(X) & ] AP 56 4,500 84%
1H8H(K) &l AN 56 4,500 84%
1H9H(K) & ] AP 56 4,500 84%
1H10H(E) &l KB 56 4,500 84%
1H11H(L) &l AP 56 6,500 77%
1812H(H) &l AN 56 6,000 79%
1H13H(H) &l AP 56 6,500 77%
1H148H0X) &l KB 56 6,000 79%
1H15H(K) & ] AP 56 4,500 84%
1H16H(K) &l AP 56 4,500 84%
1H17H(ER) &l ABR 56 4,500 84%
1H18H(L) &l AP 56 6,000 79%
1H19H(H) &l ABR 56 5,000 83%
1820H(H) &l AP 56 4,500 84%
1H21H(CX) & ABR 56 4,500 84%
1H22H(K) &l AP 56 4,500 84%
1H23H(K) & ABR 56 4,500 84%
1H24H(E) &l AP 56 4,500 84%
1H25H(XL) &l ABR 56 6,000 79%
1826H(H) &l AP 56 5,000 83%
1H27H(H) & ABR 56 4,500 84%
1H28H(X) &l AP 56 4,500 84%
1H29H(K) fE ] ABR 56 4,500 84%
1H30H(K) &l AP 56 4,500 84%
1H31H(ER) &l N 56 4,500 84%
2H1H(X) &l AP 56 6,000 79%
2H2H(H) &l ABR 56 5,000 83%
2H3H((A) &l AP 56 4,500 84%
2H48(X) &l N 56 4,500 84%
2H5B8(0K) &l AP 56 4,500 84%
2H6H(K) &l N 56 4,500 84%
2H7H(E) &l KB 56 6,000 79%
2H8H(X) &l ABR 56 6,000 79%
2H9H(H) &l KB 56 5,000 83%
2H10H(H) &l N 56 4,500 84%
2H11H(N) &l KB 56 4,500 84%
2H12H(K) &l KB 56 4,500 84%




a%H [XF& B IBEX#il
2H13H(XK) &l AP 56 4,500 84%
2H14H(&) &l N 56 4,500 84%
2H15H(L) &l AP 56 6,000 79%
2H16H(H) &l AN 56 5,000 83%
2H17H(H) &l AP 56 4,500 84%
2H18H(X) &l AN 56 4,500 84%
2H19H(K) f& ] AP 56 4,500 84%
2H20H(K) &l N 56 4,500 84%
2H21H(®) &l AP 56 4,500 84%
2H22H(L) &l AN 56 6,000 79%
2H23H(H) &l AP 56 5,000 83%
2H24H(H) &l AN 56 4,500 84%
2H25H(N) &l AP 56 4,500 84%
2H26H(K) &l AN 56 4,500 84%
2H27H(K) &l AP 56 4,500 84%
2H28H (&) &l AN 56 5,500 81%
1181HGER) ZaE @] 59 10,000 70%
1152H(XL) 2EE e ] 59 10,000 70%
1183H((H) ZaE @] 59 7,500 78%
1184H(H) 2EE e ] 59 10,000 70%
1185H(CX) ZaE @] 59 7,500 78%
11H6H(K) 2EE &l 59 6,450 81%
1187H(CK) ZaE @] 59 6,450 81%
11H8H(E) 2EE &l 59 7,500 78%
1159H(XL) ZaE @] 59 7,500 78%

11810H(H) 2EE &l 59 7,500 78%
11H11H(H) ZaE @] 59 6,450 81%
11H12H(CN) 2EE &l 59 7,500 78%
11H13H0K) ZaE ] 59 6,450 81%
11H14H(K) 2EE &l 59 7,500 78%
11H158(&) ZaE ] 59 7,500 78%
11H16H (%) 2EE &l 59 7,500 78%
11817H(H) ZaE ] 59 6,450 81%
11H18H(A) 2EE &l 59 7,500 78%
11H19H(CN) ZaE ] 59 7,500 78%
11H20H(K) 2EE &l 59 7,500 78%
11H21H(K) ZaE ] 59 7,500 78%
11H22H(%&) 2EE &[] 59 6,450 81%
11H23H(%) ZaE ] 59 6,450 81%
11H24H(H) 2EE &[] 59 6,450 81%
118525H(H) ZaE @] 59 6,450 81%
11H26H(XN) “aE @] 59 6,450 81%
11H27H(0K) ZaE e ] 59 6,450 81%
11H28H(K) “aE &l 59 7,500 78%
11H29H (&) ZaE e ] 59 7,500 78%
11830H(%) “aE &l 59 7,500 78%
12H1H(H) ZaE e ] 59 6,450 82%
1282H(H) “aE @] 59 6,450 82%
12H3H(X) ZaE e ] 59 6,450 82%
12H4H(K) ZaE &l 59 8,000 78%
12H5H(K) ZaE e ] 59 6,450 82%
12H6H(E) ZaE &l 59 8,000 78%
12H7H(L) ZaE e ] 59 8,000 78%
1288H(H) ZaE &l 59 6,450 82%
12H9H(H) ZhE &l 59 6,450 82%
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12H108(CX) ZaE @] 59 6,450 82%
12H11H(K) ZhE &l 59 6,450 82%
12H12H(K) ZaE @] 59 6,450 82%
12H13H(%&) ZhE &l 59 8,000 78%
12H14H(X) ZaE @] 59 8,000 78%
12H15H(H) ZhE &l 59 6,450 82%
12H16H((H) ZaE @] 59 6,450 82%
12H17H(CN) ZhE &l 59 6,450 82%
12H18H(K) ZaE @] 59 6,450 82%
12H19H(K) ZhE &l 59 6,450 82%
12H208 (&) ZaE @] 59 8,000 78%
12H21H(%) ZhE &l 59 8,000 78%
12H22H(H) ZaE @] 59 6,450 82%
12H23H(H) ZhE &l 59 6,450 82%
12H24H(N) ZaE @] 59 6,450 82%
12H25H(K) 2EE &l 59 6,450 82%
12H26H(K) ZaE @] 59 8,000 78%

156H(H) 2EE &l 59 6,450 81%
1878B(X) ZaE @] 59 6,450 81%
1H8H(K) 2EE &l 59 6,450 81%
1H9H(K) ZaE @] 59 6,450 81%
1H10H(E) 2EE &l 59 6,450 81%
1H11H(L) ZaE @] 59 8,000 76%
1H12H(H) 2EE &l 59 6,450 81%
1H13H(H) ZaE @] 59 6,450 81%
1H14H(X) 2EE &l 59 6,450 81%
1H15H(K) ZaE @] 59 6,450 81%
1H16H(K) 2EE ] 59 6,450 81%
1H17H(ER) ZaE ] 59 6,450 81%
1H18H(L) 2EE &[] 59 6,450 81%
1H19H(H) ZaE ] 59 6,450 81%
1820H(H) 2EE ] 59 6,450 81%
1H21H(CX) ZaE ] 59 6,450 81%
1H22H(K) 2EE &l 59 6,450 81%
1H23H(K) ZaE ] 59 6,450 81%
1H24H(E) 2EE ] 59 6,450 81%
1H25H(XL) ZaE ] 59 6,450 81%
1826H(H) 2EE &[] 59 6,450 81%
1H27H(H) ZaE ] 59 6,450 81%
1H28H(X) 2EE &[] 59 6,450 81%
1H29H(K) ZaE @] 59 6,450 81%
1H30H(K) “aE @] 59 6,450 81%
1H31H(ER) ZaE e ] 59 6,450 81%
2H1H(X) “aE @] 59 6,450 81%
2H2H(H) ZaE e ] 59 6,450 81%
2H3H((A) “aE @] 59 6,450 81%
2H4H(N) ZaE e ] 59 6,450 81%
2H5B8(0K) “aE &l 59 6,450 81%
2H6H(K) ZaE e ] 59 6,450 81%
2H7H(E) ZaE &[] 59 6,450 81%
2H8H(X) ZaE e ] 59 6,450 81%
2H9H(H) ZaE &[] 59 6,450 81%
2H10H(H) ZaE e ] 59 6,450 81%
2H11HX) ZaE &[] 59 6,450 81%
2H12H(K) ZhE &l 59 6,450 81%
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2H13H(XK) ZaE @] 59 6,450 81%
2H14H(E) ZhE &l 59 6,450 81%
2H15H(%) ZaE @] 59 6,450 81%
2H16H(H) ZhE &l 59 6,450 81%
2H17H(H) ZaE @] 59 6,450 81%
2H18H(N) ZhE &l 59 6,450 81%
2H19H(K) ZaE @] 59 6,450 81%
2H20H(K) ZhE &l 59 6,450 81%
2H21H(5E) ZaE @] 59 6,450 81%
2H22H (%) ZhE &l 59 6,450 81%
2H23H(H) ZaE @] 59 6,450 81%
2H24H(AH) ZhE &l 59 6,450 81%
2H25H(N) ZaE @] 59 6,450 81%
2H26H(K) ZhE &l 59 6,450 81%
2H27H(K) ZaE @] 59 6,450 81%
2H28H (&) 2EE &l 59 6,450 81%
1181HGER) &l ZEaE 60 7,500 78%
1152H(XL) &l BEE 60 10,000 70%
1183H((H) &l ZEE 60 6,450 81%
1184H(H) &l BEE 60 12,000 64%
11H58HX) &l ZEaE 60 12,000 64%
11H6H(K) &l BEE 60 6,450 81%
11/7H(K) &l ZEaE 60 7,500 78%
11H8H(E) &l ZhE 60 7,500 78%
1159H(XL) &l ZEaE 60 7,500 78%

11810H(H) &l ZhE 60 7,500 78%
11H11H(H) &l ZEaE 60 7,500 78%
11H12H(CN) &l R 60 6,450 81%
11H13H0K) &l ZaE 60 6,450 81%
11H14H(K) &l “EE 60 6,450 81%
11H158(&) &l ZHaE 60 7,500 78%
11H16H (%) &l R 60 7,500 78%
11817H(H) &l ZaE 60 10,000 70%
11H18H(A) &l “EE 60 7,500 78%
11H19H(N) &l ZHaE 60 7,500 78%
11H20H(K) &l R 60 7,500 78%
11H21H(K) &l ZHaE 60 7,500 78%
11H22H(%&) &l “EE 60 7,500 78%
11H23H(%) &l ZHaE 60 7,500 78%
11H24H(H) &l “EE 60 7,500 78%
11H25H(H) &l ZaE 60 7,500 78%
11H26H(XN) &l “aE 60 7,500 78%
11H27H(0K) &l ZhE 60 7,500 78%
11H28H(K) &l “aE 60 7,500 78%
11H29H (&) &l ZhE 60 7,500 78%
11830H(%) &l “aE 60 7,500 78%
12H1H(H) &l ZhE 60 8,000 78%
1282H(H) &l ZaE 60 8,000 78%
12H3H(X) &l ZhE 60 8,000 78%
12H4H(K) &l ZoaE 60 8,000 78%
12H5H(K) &l ZhE 60 6,450 82%
12H6H(E) &l ZoaE 60 8,000 78%
12H7H(L) &l ZhE 60 6,450 82%
1288H(H) &l ZoaE 60 8,000 78%
12H9H(H) &l ZhE 60 8,000 78%
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12H108(CX) &l ZEaE 60 8,000 78%
12H11H(K) &l ZhE 60 6,450 82%
12H12H(K) &l ZHaE 60 6,450 82%
12H13HGE) &l ZhE 60 8,000 78%
12H14H(X) &l ZHaE 60 6,450 82%
12H15H(H) &l ZhE 60 8,000 78%
12H16H((H) &l ZHaE 60 8,000 78%
12H178(CN) &l ZhE 60 6,450 82%
12H18H(K) &l ZHaE 60 6,450 82%
12H19H(K) &l ZhE 60 6,450 82%
12H208 (&) &l ZHaE 60 6,450 82%
12H21H(%) &l ZhE 60 8,000 78%
12H22H(H) &l ZHaE 60 8,000 78%
12H23H(A) &l ZhE 60 6,450 82%
12H24H(N) &l 2EaE 60 6,450 82%
12H25H(K) &l BEE 60 6,450 82%
12H26H(XK) &l ZEaE 60 6,450 82%

156H(H) &l BEE 60 8,000 76%
1H7H(CN) &l ZEE 60 6,450 81%
1H8H(K) &l BEE 60 6,450 81%
1H9H(K) &l ZEaE 60 6,450 81%
1H10H(E) &l BEE 60 6,450 81%
1H11H(L) &l ZEaE 60 6,450 81%
1812H(H) &l BEE 60 8,000 76%
1H13H(H) &l ZEaE 60 8,000 76%
1H148H0X) &l BEE 60 6,450 81%
1H15H(K) &l ZEaE 60 6,450 81%
1H16H(K) &l R 60 6,450 81%
1H17H(ER) &l ZaE 60 6,450 81%
1H18H(L) &l “EE 60 6,450 81%
1H19H(H) &l ZHaE 60 7,500 78%
1820H(H) &l R 60 6,450 81%
1H21H(KX) &l ZaE 60 6,450 81%
1H22H(K) &l “EE 60 7,500 78%
1H23H(K) &l ZHaE 60 6,450 81%
1H24H(E) &l R 60 6,450 81%
1H25H(XL) &l ZHaE 60 6,450 81%
1826H(H) &l “EE 60 6,450 81%
1H27H(H) &l ZHaE 60 8,000 76%
1H28H(X) &l “EE 60 6,450 81%
1H29H(K) &l ZaE 60 6,450 81%
1H30H(K) &l “aE 60 6,450 81%
1H31H(ER) &l ZhE 60 6,450 81%
2H1H(X) &l “aE 60 6,450 81%
2H2H(H) &l ZhE 60 6,450 81%
2H3H((A) &l “aE 60 6,450 81%
2H48(X) &l ZhE 60 6,450 81%
2H5B8(0K) &l ZaE 60 6,450 81%
2H6H(K) &l ZhE 60 6,450 81%
2H7H(E) &l ZoaE 60 6,450 81%
2H8H(X) &l ZhE 60 6,450 81%
2H9H(H) &l ZoaE 60 6,450 81%
2H10H(H) &l ZhE 60 6,450 81%
2H11H(N) &l ZoaE 60 6,450 81%
2H12H(K) &l ZhE 60 6,450 81%
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2H13H(XK) &l ZEaE 60 6,450 81%
2H14H(E) &l ZhE 60 6,450 81%
2H15H(L) &l ZHaE 60 6,450 81%
2H16H(H) &l ZhE 60 6,450 81%
2H17H(H) &l ZHaE 60 6,450 81%
2H18H(X) &l ZhE 60 6,450 81%
2H19H(K) &l ZHaE 60 6,450 81%
2H20H(K) &l ZhE 60 6,450 81%
2H21H(®) &l ZHaE 60 6,450 81%
2H22H (%) &l ZhE 60 6,450 81%
2H23H(H) &l ZHaE 60 6,450 81%
2H24H(H) &l ZhE 60 6,450 81%
2H25H(X) &l ZHaE 60 6,450 81%
2H26H(K) &l ZhE 60 6,450 81%
2H27H(K) &l 2EaE 60 6,450 81%
2H28H (&) &l BEE 60 6,450 81%
11H4H(H) ZaE X5 61 10,550 67%
11H5H(CX) ZhE PAV) 61 10,550 67%
1156H(K) ZaE PA) 61 10,550 67%

11H12H(CN) ZhE PAV) 61 9,550 70%
11H13H0K) ZaE PA) 61 9,050 72%
11H14H(K) 2EE PAV) 61 10,550 67%
11H158(&) ZaE PA) 61 9,550 70%
11518H(A) ZhE PAV) 61 11,550 64%
11519H(CN) ZaE X5 61 9,050 72%
11H20H(K) ZhE PAV) 61 9,050 72%
11H24H(H) ZaE X5 61 9,050 72%
11H25H(A) ZhE PA) 61 8,550 73%
11H26H(CN) ZaE PAV) 61 8,550 73%
11H27H(K) ZhE PA) 61 9,050 72%
11H28H(K) ZaE PAVJ) 61 9,050 72%
12A1H(H) ZhE PA) 61 8,550 75%
12H2H(H) ZaE PAV) 61 8,050 76%
12H3H(N) 2EE A5 61 8,550 75%
12H4H(K) ZaE PAV) 61 8,550 75%
12H5H(K) ZhE PA) 61 8,550 75%
12H6H(E) ZaE PAV) 61 9,050 73%
12838H(H) ZhE PA) 61 9,050 73%
12H9H(H) ZaE PAV) 61 8,050 76%
12H108(XN) ZhE PA) 61 8,550 75%
12H11H(0K) ZaE PAV) 61 8,050 76%
12H12H(K) “aE DAV 61 8,050 76%
12H13H(&) ZaE PAV) 61 9,550 72%
12515H(H) ZaE PA) 61 8,050 76%
12H16H(H) ZaE PAV) 61 8,050 76%
12H17H(CN) ZaE PA) 61 8,050 76%
12H18H(K) ZaE PAV) 61 7,550 78%
12H19H(K) “aE DAV 61 8,050 76%
12H20H(&) ZaE PAV) 61 8,550 75%
12H21H(X) ZaE DAV 61 9,550 72%
12822H(H) ZaE PAV) 61 8,050 76%
12523H(A) ZaE PA) 61 7,550 78%
12H24H(N) ZaE PAV) 61 8,050 76%
12H25H(K) ZaE DAV 61 7,550 78%
12H26H(K) ZhE PAV) 61 10,550 69%
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1H6H(H) ZaE A 61 7,550 76%
1H7H(N) ZhE PAV) 61 7,550 76%
1H8H(K) ZaE A 61 7,550 76%
1H9H(XK) ZhE PAV) 61 7,550 76%
1H10H(GE) ZaE A5 61 9,550 70%
1811H(L) ZhE PAV) 61 10,550 67%
1H12H(H) ZaE PA) 61 7,550 76%
1H13H(H) ZhE PAV) 61 8,050 75%
1H14H(X) ZaE A 61 7,550 76%
1H15H(K) ZhE PAV) 61 7,550 76%
1H16H(K) ZaE A 61 7,550 76%
1817H(%) ZhE PAV) 61 9,050 72%
1H18H(L) ZaE DAV 61 9,050 72%
1H19H(H) ZhE PAV) 61 7,550 76%
1H20H(H) ZaE PA) 61 7,550 76%
1H21H(CKX) ZhE PAV) 61 7,550 76%
1H22H(K) ZaE PA) 61 7,550 76%
1H23H(K) 2EE PAV) 61 7,550 76%
1H24H(&) ZaE X5 61 9,050 72%
1H25H(%) ZhE PA) 61 8,050 75%
1H26H(H) ZaE PA) 61 9,550 70%
1H27H(H) ZhE PAV) 61 7,550 76%
1H28H(X) ZaE PA) 61 7,550 76%
1H29H(K) ZhE PAV) 61 7,550 76%
1H30H(K) ZaE PA) 61 9,050 72%
1H31HGE) ZhE PAV) 61 9,550 70%
2H1H(X) ZaE PA) 61 9,550 70%
2H2H((H) ZhE PA) 61 8,050 75%
2H3H(H) ZaE PAV) 61 7,550 76%
2H48(X) ZhE PA) 61 7,550 76%
2H5H(K) ZaE PAV) 61 7,550 76%
2H6H(K) ZhE PA) 61 7,550 76%
2H78H(E) ZaE PAVJ) 61 9,050 72%
2H8H(TL) ZhE PA) 61 11,550 64%
2H9H(H) ZaE PAVJ) 61 9,050 72%
2H10H(H) ZhE PA) 61 7,550 76%
2H11HX) ZaE PAV) 61 9,050 72%
2H12H(K) ZhE PA) 61 7,550 76%
2H13H(K) ZaE PAV) 61 8,050 75%
2H14HGE) 2EE A5 61 8,050 75%
2H15H(%) ZaE PAV)) 61 9,050 72%
2H16H(H) “aE PA) 61 8,050 75%
2H17H(H) ZaE PAV) 61 8,550 73%
2H18H(N) “aE PA) 61 7,550 76%
2H19H(K) ZaE PAV) 61 8,550 73%
2H20H(K) g 2Y=] A5 61 7,550 76%
2H21H(5&) ZaE PAV) 61 11,550 64%
2H22H(L) ZaE DAV 61 12,550 61%
2H23H(H) ZaE PAV) 61 9,550 70%
2H24H(H) ZaE DAV 61 10,550 67%
2H25H(X) ZaE PAV) 61 7,550 76%
2H26H(K) ZaE DAV 61 7,550 76%
2H27H(K) ZaE PAV) 61 8,550 73%
2H28H(5&) ZaE PA) 61 9,550 70%
1181H(ER) PAV) “EE 62 12,550 61%




Bx-d X[ (G IBEX4Fifi
1183H(H) x5 2= 62 10,550 67%
11878(K) ) 2= 62 9,050 72%
115108(8) ) &= 62 10,550 67%
115118(8) ) 2= 62 9,550 70%
115128(X) ) &= 62 9,050 72%
118138 (K) ) 2= 62 9,050 72%
115148 () ) &= 62 8,550 73%
115158(&) ) & E 62 9,050 72%
115188 (A) ) &= 62 9,050 72%
115198 (N) ) 2= 62 9,050 72%
115208 (K) ) &= 62 9,050 72%
115218 (K) ) 2= 62 9,550 70%
11H228(&) ) &= 62 11,550 64%
115238(%) ) &E 62 9,050 72%
11H248(8) ) &= 62 10,550 67%
115258(8) ) &= 62 10,550 67%
118268 (N) ) &= 62 8,550 73%
118278 (K) ) &E 62 8,550 73%
115288 (k) ) &= 62 8,550 73%
115298(&) ) &E 62 9,050 72%
118308 (1) ) &= 62 9,550 70%
128518(H) ) &E 62 9,550 72%
12828(H) ) &= 62 9,050 73%
12538 (X) ) &= 62 8,050 76%
12848 (%K) ) &= 62 7,550 78%
12558 (K) ) &E 62 7,550 78%
1286H(%) ) &= 62 8,050 76%
12878(1) ) &E 62 9,050 73%
1258H(H) ) &= 62 9,050 73%
128598 (H) ) &E 62 8,050 76%
128108 (X) ) &= 62 7,550 78%
128118 (K) ) &E 62 7,550 78%
128 128(A) ) &= 62 8,050 76%
125138(®) ) &E 62 9,550 72%
128148(%) ) &= 62 8,550 75%
12515H(H) ) &E 62 8,050 76%
12816H(A) ) &= 62 7,550 78%
128178(X) ) &E 62 7,550 78%
128188 (K) ) &= 62 7,550 78%
125198 (K) ) &E 62 7,550 78%
12820H(%) ) &= 62 7,550 78%
128228(8) X9 &= 62 7,550 78%
12H238(A) ) &E 62 7,550 78%
128248 (N) X9 &= 62 8,050 76%
128258 (K) ) &E 62 7,550 78%
125268 (K) ) &= 62 7,550 78%

1B6H(A) ) &E 62 11,550 64%
1B7H(K) X9 &= 62 9,050 72%
1A8H(GK) ) &E 62 7,550 76%
159H(K) ) &R 62 7,550 76%
1A10H(®) ) &E 62 8,050 75%
18118(1) X9 &R 62 11,550 64%
1A128(8) ) &E 62 8,050 75%
18138(H) X9 &R 62 9,550 70%
1A 148(N) ) &= 62 7,550 76%
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1H15H(K) A7 ZEaE 62 7,550 76%
1H16H(K) PAV) ZhE 62 7,550 76%
1H17H(E) ) ZHaE 62 7,550 76%
1H18H(L) PAV) g 2Ya] 62 9,050 72%
1H19H((H) ) ZHaE 62 8,050 75%
1H20H(H) PAV) ZhE 62 7,550 76%
1H21H(X) ) ZHaE 62 7,550 76%
1H22H(K) PAV) ZhE 62 7,550 76%
1H23H(K) %) ZHaE 62 7,550 76%
1524H(%) PAV) BEE 62 7,550 76%
1H25H(XL) ) ZHaE 62 7,550 76%
1H26H(H) PAV) ZhE 62 7,550 76%
1H27H(RH) ) ZHaE 62 7,550 76%
1H28H(X) PAV) ZhE 62 7,550 76%
1H29H(K) PA) 2EaE 62 7,550 76%
1H30H(K) PAV) ZhE 62 7,550 76%
1H31HGER) PA) ZEaE 62 7,550 76%
2H1H(X) PAV) BEE 62 8,050 75%
2H2H(H) PAV) ZEE 62 8,050 75%
2H3H((A) PAV) ZhE 62 9,550 70%
2H4H(N) PA) ZEaE 62 8,050 75%
2H580K) PAV) BEE 62 8,050 75%
2H6H(K) PAV) ZEaE 62 8,050 75%
2H7H (&) PAV) BEE 62 8,050 75%
2H8H(X) PA) ZEaE 62 11,550 64%
2H9H(H) PAV) BEE 62 8,050 75%
2H10H(H) PAV) ZEaE 62 8,050 75%
2H11H(XN) PAV) R 62 11,550 64%
2H12H(K) PAV) ZaE 62 8,050 75%
2H13H(XK) PAV) “EE 62 8,050 75%
2H14H(&) PAV) ZHaE 62 8,050 75%
2H15H(%) PAV) R 62 8,050 75%
2H16H(H) PAV) ZaE 62 8,050 75%
2H17H(A) PAV) “EE 62 8,050 75%
2H18H(X) PAV) ZHaE 62 8,050 75%
2H19H(K) PAV) R 62 8,050 75%
2H20H(K) PAV) ZHaE 62 8,050 75%
2H21H(5E) PAV) “EE 62 8,050 75%
2H22H(%) PAV) ZHaE 62 11,550 64%
2H23H(H) PAV) “EE 62 9,550 70%
2H24H(H) PAV) ZaE 62 10,550 67%
2H25H(N) PAV) “aE 62 8,050 75%
2H26H(K) PAV) ZhE 62 8,050 75%
2H27H(XK) PAV) “aE 62 8,050 75%
2H28H(5&) PAV) ZhE 62 8,050 75%
11H2H(XL) ZaE PA) 65 10,550 67%
1183H(H) ZaE PAV) 65 10,550 67%
11H5HX) “aE DAV 65 10,550 67%
11H6H(K) ZaE PAV) 65 9,050 72%
11H7H(K) BEE A5 65 9,050 72%
11H9H(L) ZaE PAV) 65 9,050 72%

11H12H(CN) ZaE PA) 65 9,050 72%
11H13H0K) ZaE PAV) 65 9,050 72%
11H14H(K) ZaE DAV 65 9,550 70%
11H16H(X) ZhE PAV) 65 9,050 72%
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11H17H(H) ZaE DAV 65 11,550 64%
11H19H(N) ZhE PAV) 65 8,550 73%
11H20H(K) ZaE DAV 65 9,050 72%
11H21H(K) ZhE PAV) 65 9,050 72%
11H22H(%) ZaE DAV 65 11,550 64%
11H23H(%) ZhE PAV) 65 8,550 73%
11525H(H) ZaE DAV 65 9,050 72%
11H26H(N) ZhE PAV) 65 8,050 75%
11H27H(K) ZaE DAV 65 9,050 72%
11H28H(K) ZhE PAV) 65 9,050 72%
11H29H (&) ZaE DAV 65 9,050 72%
115308 (%) ZhE PAV) 65 8,050 75%
1252H(H) ZaE DAV 65 8,550 75%
12H3H(X) ZhE PAV) 65 8,050 76%
12H4H(K) ZaE X5 65 8,050 76%
12H5H(K) ZhE PA) 65 7,550 78%
12H6H(E) ZaE X5 65 8,550 75%
12H7H(XL) ZhE PA) 65 8,050 76%
12H8H(H) ZaE X5 65 8,050 76%
12H9H(AH) ZhE PA) 65 8,050 76%
12H10H(CN) ZaE X5 65 7,550 78%
12H11H(K) ZhE PA) 65 7,550 78%
12H12H(K) ZaE X5 65 8,550 75%
12H13H(&) ZhE PA) 65 8,050 76%
12H14H(X) ZaE X5 65 7,550 78%
12H15H(H) ZhE PA) 65 8,050 76%
12H16H(A) ZaE X5 65 8,050 76%
12H178(CX) ZhE PA) 65 7,550 78%
12H18H(K) ZaE PAVJ) 65 8,050 76%
12H19H(XK) ZhE PA) 65 7,550 78%
12H208 (&) ZaE PAVJ) 65 8,050 76%
12H21H(X) ZhE PAV) 65 8,050 76%
12822H(H) ZaE PAVJ) 65 8,050 76%
12H23H(A) ZhE PAV) 65 8,050 76%
12H24H(N) ZaE PAVJ) 65 8,050 76%
12H25H(K) ZhE PAV) 65 7,550 78%
12H26H(K) ZaE PAVJ) 65 9,550 72%

1H6H(H) ZhE PAV) 65 7,550 76%
1878(X) ZaE PAVJ) 65 7,550 76%
1H8H(K) ZhE PAV) 65 7,550 76%
1H9H(K) ZaE PAV)) 65 7,550 76%
1H10H(E) ZaE DAV 65 7,550 76%
1H11H(EL) ZaE PAV) 65 8,050 75%
1H12H(H) ZaE DAV 65 7,550 76%
1H13H(H) ZaE PAV) 65 7,550 76%
1H14H(X) ZaE PAV) 65 7,550 76%
1H15H(K) ZaE PAV) 65 7,550 76%
1H16H(K) “aE DAV 65 7,550 76%
1H17H(E) ZaE PAV) 65 7,550 76%
1H18H(L) ZaE DAV 65 7,550 76%
1H19H(H) ZaE PAV) 65 7,550 76%
1H20H(H) ZaE DAV 65 7,550 76%
1H21H(KX) ZaE PAV) 65 7,550 76%
1H22H(K) ZaE DAV 65 7,550 76%
1H23H(K) ZhE PAV) 65 7,550 76%
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1H24H(&E) ZaE DAV 65 7,550 76%
1H25H(%) ZhE PAV) 65 7,550 76%
1H26H(H) ZaE DAV 65 7,550 76%
1H27H(H) ZhE PAV) 65 7,550 76%
1H28H(X) ZaE DAV 65 7,550 76%
1H29H(K) ZhE PAV) 65 7,550 76%
1H30H(K) ZaE DAV 65 7,550 76%
1831H(%) ZhE PAV) 65 9,050 72%
2H1H(L) ZaE DAV 65 7,550 76%
2H2H((H) ZhE PAV) 65 7,550 76%
2H3H((A) ZaE DAV 65 7,550 76%
2H4B(X) ZhE PAV) 65 7,550 76%
2H5B8(0K) ZaE DAV 65 7,550 76%
2H6H(K) ZhE PAV) 65 7,550 76%
2H7H(E) ZaE X5 65 7,550 76%
2H8H(L) ZhE PAV) 65 7,550 76%
2H9H(H) ZaE X5 65 7,550 76%
2H10H(H) ZhE PAV) 65 7,550 76%
2H11HCN) ZaE X5 65 7,550 76%
2H12H(K) ZhE PAV) 65 7,550 76%
2H13H(K) ZaE X5 65 7,550 76%
2H14H (%) ZhE PAV) 65 7,550 76%
2H15H(%) ZaE X5 65 7,550 76%
2H16H(H) ZhE PAV) 65 7,550 76%
2H17H(H) ZaE X5 65 7,550 76%
2H18H(N) ZhE PAV) 65 7,550 76%
2H19H(K) ZaE X5 65 7,550 76%
2H20H(XK) ZhE PA) 65 7,550 76%
2H21H(5&) ZaE PAVJ) 65 8,050 75%
2H22H (%) ZhE PAV) 65 9,050 72%
2H23H(H) ZaE PAVJ) 65 7,550 76%
2H24H(H) ZhE PAV) 65 9,550 70%
2H25H(X) ZaE PAVJ) 65 7,550 76%
2H26H(K) ZhE PAV) 65 7,550 76%
2H27H(K) ZaE PAVJ) 65 7,550 76%
2H28H (&) ZhE PAV) 65 7,550 76%
11H1HGER) PAV) ZHaE 66 12,550 61%
11H2H(L) PAV) ZhE 66 11,550 64%
11H6H(K) PAV) ZHaE 66 9,050 72%
11H7H(CK) PAV) “EE 66 10,550 67%

11H12HCN) PAV) ZaE 66 9,050 72%
11H13H(K) PAV) “aE 66 9,050 72%
11H14H(K) PAV) ZhE 66 10,550 67%
11H15H(%) PAV) “aE 66 10,550 67%
11H16H(X) PAV) ZhE 66 11,550 64%
11518H(H) PAV) “aE 66 11,550 64%
11H19H(N) PAV) ZhE 66 9,550 70%
11H20H(K) PAV) ZaE 66 9,550 70%
11H21H(K) PAV) ZhE 66 9,550 70%
11H26H(XN) PAV) ZoaE 66 9,550 70%
11H27H(0K) PAV) ZhE 66 8,550 73%
11H28H(K) PAV) ZoaE 66 8,550 73%
11H29H (%) PAV) ZhE 66 10,550 67%
11H30H (%) PAV) ZoaE 66 9,550 70%
12H2H(H) PAV) ZhE 66 9,550 72%
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12538(X) o) 2= 66 8,550 75%
12548 (K) ) 2= 66 8,050 76%
12558 (K) ) &= 66 9,050 73%
1256H (%) ) &E 66 8,550 75%
12878(1) X9 &= 66 8,550 75%
128598(A) P} 2= 66 8,050 76%
1285108 (X) ) &= 66 8,050 76%
128 118(K) ) 2= 66 8,050 76%
125128 (k) ) &= 66 8,050 76%
125138(®) ) &E 66 9,050 73%
125148(%) X9 &= 66 8,050 76%
125158 (H) ) 2= 66 9,550 72%
128168(A) ) &= 66 8,050 76%
125178(X) ) 2= 66 8,050 76%
128188 (K) ) &= 66 7,550 78%
125198 (K) ) &E 66 7,550 78%
12H208(&) ) 2= 66 8,050 76%
128218 (%) ) &= 66 8,050 76%
128228(8) ) &= 66 9,050 73%
12523H(A) ) &E 66 8,050 76%
12H248(N) ) &= 66 8,050 76%
128258 (7K) ) &= 66 7,550 78%
128268 (k) ) &= 66 7,550 78%

186H(B) ) &E 66 10,550 67%

1B78(N) ) &= 66 9,050 72%

188H(K) ) &= 66 7,550 76%

159H(XK) ) &= 66 7,550 76%
1510H(®) ) &E 66 7,550 76%
1A118(1) ) &= 66 9,550 70%
18128(H) ) &E 66 11,550 64%
15138(A) ) &= 66 11,550 64%
15148(N) ) ZhE 66 8,050 75%
1A 158 (K) ) &= 66 7,550 76%
1816H(X) ) &E 66 7,550 76%
1A178(®) ) &= 66 8,050 75%
1518H(%) ) &E 66 7,550 76%
18198(H) ) &= 66 11,550 64%
185208(A) ) ZhE 66 8,050 75%
1H218(X) ) &= 66 7,550 76%
18228 (K) ) &E 66 7,550 76%
1823H(K) ) &= 66 7,550 76%
18248(%) X9 &= 66 8,050 75%
18258(%) ) &E 66 8,050 75%
1826H(H) X9 &= 66 11,550 64%
18278(8) ) &E 66 9,550 70%
15288 (X) X9 &= 66 7,550 76%
18298 (K) ) &E 66 7,550 76%
18308 (K) ) &= 66 7,550 76%
1A31H(®) ) &E 66 9,050 72%

2B1H(L) X9 &R 66 8,050 75%

2828(8) ) &E 66 11,550 64%

2838(A) X9 &R 66 11,550 64%

2848 (N) ) &E 66 8,050 75%

2858 (K) X9 &R 66 8,050 75%

2A6E(K) ) &= 66 8,050 75%
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2H7H(E) A7 ZEaE 66 9,050 72%
2H8H(X) PAV) BEE 66 10,550 67%
2H9H(H) ) ZHaE 66 10,550 67%

2H10H(H) PAV) ZhE 66 11,550 64%
2H11H(N) ) ZHaE 66 10,550 67%
2H12H(K) PAV) ZhE 66 8,050 75%
2H13H(XK) ) ZHaE 66 8,050 75%
2H14H(E) PAV) BEE 66 8,050 75%
2H15H(L) %) ZHaE 66 8,050 75%
2H16H(H) PAV) ZhE 66 10,550 67%
2H17H(H) ) ZHaE 66 9,050 72%
2H18H(X) PAV) ZhE 66 8,050 75%
2H19H(K) ) ZHaE 66 8,050 75%
2H20H(K) PAV) ZhE 66 8,050 75%
2H21H(®) PA) 2EaE 66 9,550 70%
2H22H (%) PAV) BEE 66 10,550 67%
2H23H(H) PA) ZEaE 66 11,550 64%
2H24H(H) PAV) ZhE 66 11,550 64%
2H25H(X) PAV) ZEE 66 8,050 75%
2H26H(K) PAV) BEE 66 8,050 75%
2H27H(K) PA) ZEaE 66 8,050 75%
2H28H (&) PAV) BEE 66 9,050 72%
1181HGER) AN ok 71 9,600 75%
1183H(H) AN b 71 9,600 75%
11H4H(H) AN ok 71 9,600 75%
11H58H0X) AN b 71 9,200 76%
1156H(K) AN ok 71 9,200 76%
11H7H(K) AN R 71 7,600 80%
11H8H(E) ABR ik 71 9,600 75%
11H9H(L) KPR R 71 8,600 77%
11510H(H) ABR ik 71 8,600 77%
11811H(H) AN R 71 8,200 78%
11H12HCN) ABR ik 71 8,600 77%
11H13H(K) AN R 71 7,200 81%
11H14H(K) ABR ik 71 7,600 80%
11H15H (%) KPR R 71 8,200 78%
11H16H(X) ABR ik 71 8,200 78%
11H17H(H) AN R 71 8,600 77%
118518H(AH) ABR ik 71 8,600 77%
11H19H(N) AN R 71 8,600 77%
11H20H(K) ABR ik 71 8,600 77%
11H21H(K) AN R 71 7,200 81%
11H22H (&) ABR e 71 8,600 77%
11H23H(%) KPR R 71 9,200 76%
11824H(H) AN e 71 9,600 75%
11825H(H) AN o) 71 8,600 77%
11H26H(N) AN o) 71 6,600 83%
11H27H(K) AN o) 71 7,200 81%
11H28H(K) AN o) 71 6,600 83%
11H29H(%) KPR R 71 8,600 77%
12H1H(H) AN s 71 8,200 80%
12852H(H) AN R 71 7,600 81%
12H3H(X) AN s 71 6,200 85%
12H4H(K) AN R 71 6,200 85%
12H5H(K) AN o) 71 6,200 85%
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12H6H(E) ABR it 71 7,200 82%
1288H(H) AN ot 71 8,200 80%
12H9H(H) ABR it 71 6,600 84%
12H10H(N) AN ot 71 6,200 85%
12H11H(K) AP it 71 6,600 84%
12H12H(K) AN ot 71 6,600 84%
12H13H(E) ABR it 71 7,200 82%
12H14H(X) AN ot 71 6,600 84%
12H15H(H) ABR it 71 6,200 85%
12H16H(H) AN ot 71 6,200 85%
12H178(CX) ABR it 71 6,200 85%
12H18H(K) AN ot 71 6,200 85%
12H19H(K) AP it 71 6,200 85%
12H20H(&) AN ot 71 6,200 85%
12H21H(X) AN ik 71 6,600 84%
12H22H(H) AN it 71 6,600 84%
12H23H(A) AN ok 71 6,600 84%
12H24H(N) AN it 71 6,200 85%
12H25H(0K) AN ok 71 6,200 85%
12H26H(K) AN it 71 6,600 84%

1H6H(A) AN ok 71 6,200 84%

1H7H(N) AN it 71 6,200 84%

1H8H(K) AN ok 71 6,200 84%

1H9H(RK) ABR Goibis) 71 6,200 84%
1H10HGER) AN ok 71 6,200 84%
1H11H(XL) AN it 71 8,200 78%
1H12H(H) AN ok 71 6,200 84%
1813H(H) AN it 71 6,200 84%
1H14H(X) ABR ik 71 6,200 84%
1H15H(K) AN it 71 6,200 84%
1H16H(K) ABR ik 71 6,200 84%
1H17H(E) AN it 71 6,600 83%
1H18H(L) ABR ik 71 6,600 83%
1H19H(H) AN it 71 6,200 84%
1H20H(H) ABR ik 71 6,200 84%
1H21H(CKX) AN it 71 6,200 84%
1H22H(K) ABR ik 71 6,200 84%
1H23H(K) AN it 71 6,200 84%
1H24H(E) ABR ik 71 6,200 84%
1H25H(L) AN it 71 6,200 84%
1H26H(H) ABR ik 71 6,200 84%
1H27H(H) AN it 71 6,200 84%
1H28H(X) AN ot 71 6,200 84%
1H29H(K) AN it 71 6,200 84%
1H30H(RK) AN ot 71 6,200 84%
1H31HGE) AN it 71 6,200 84%

2H1H(X) AN o) 71 6,200 84%

2H2H((H) AN it 71 6,200 84%

2H3H(H) AN it 71 6,200 84%

2H48(X) AN it 71 6,200 84%

2H5H0K) AN it 71 6,200 84%

2H6H(K) AN it 71 6,200 84%

2H78(E) AN s 71 6,200 84%

2H8H(L) AN it 71 9,600 75%

2H9H(H) AN e 71 6,600 83%
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2H10H(H) ABR it 71 6,600 83%
2H11HX) AN ot 71 6,200 84%
2H12H(K) ABR it 71 6,200 84%
2H13H(K) AN ot 71 6,200 84%
2H14H(®) AP it 71 6,200 84%
2H15H(L) AN ot 71 6,200 84%
2H16H(H) ABR it 71 6,200 84%
2H17H(H) AN ot 71 6,200 84%
2H18H(N) ABR it 71 6,200 84%
2H19H(K) AN ot 71 6,200 84%
2H20H(XK) ABR it 71 6,200 84%
2H21H(&) AN ot 71 6,200 84%
2H22H(L) AP it 71 9,600 75%
2H23H(H) AN ot 71 6,200 84%
2H24H(H) AN ik 71 9,200 76%
2H25H(X) AN it 71 6,200 84%
2H26H(K) AN ok 71 6,200 84%
2H27H(K) AN it 71 6,200 84%
2H28H(5&) AN ok 71 6,200 84%
1183H(H) Eoibi) AN 72 9,600 75%
11H4H(H) Eolb) AP 72 9,600 75%
11H58H0X) ik KB 72 9,600 75%
1156H(K) R AP 72 7,200 81%
1187H(K) ik AN 72 8,600 77%
11H8H(E) Eolb) AP 72 8,600 77%
11H9H(XL) ik KB 72 9,600 75%

11H11H(H) R AP 72 7,600 80%
11H12H(CN) Eoibi) AP 72 8,600 77%
11H13H0K) o) ABR 72 7,200 81%
11H14H(K) Eoibi) AP 72 8,200 78%
11H158(&) b, ABR 72 9,200 76%
11H17H(H) Eoibi) AP 72 7,600 80%
11H18H(H) o) ABR 72 9,200 76%
11H19H(N) Eoibi) AP 72 8,200 78%
11H20H(K) b, ABR 72 7,200 81%
11H22H(%&) Eoibi) AP 72 8,600 77%
11H23H(%) o) ABR 72 8,600 77%
11H24H(H) Eoibi) AP 72 8,200 78%
11H26H(N) o) ABR 72 7,600 80%
11H27H(K) Eoibi) AP 72 8,200 78%
11H28H(K) o) ABR 72 8,200 78%
11H29H(%) poibi) AP 72 7,200 81%
115308 (%) b ABR 72 8,200 78%
1281H(H) poibi) AP 72 7,600 81%
12H2H(H) b ABR 72 8,200 80%
12H3H(X) poibi) AP 72 7,600 81%
12H4H(K) b ABR 72 8,200 80%
12H5H(K) poibi) AP 72 9,200 77%
12H6H(E) b ABR 72 9,600 76%
12H7H(L) Eoibi) KB 72 9,600 76%
12H9H(H) o) ABR 72 6,600 84%
12H108(CN) Eoibi) KB 72 7,200 82%
12H11H(CK) o) ABR 72 7,200 82%
12H12H(K) Eoibi) KB 72 7,600 81%
12H13H(%&) it KB 72 7,600 81%
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12H14H(%) ok AP 72 9,600 76%
12H15H(H) Eoibis) N 72 6,600 84%
12H16H(H) b AP 72 6,600 84%
12H178(CN) it AN 72 6,600 84%
12H18H(K) b AP 72 6,200 85%
12H19H(K) it AN 72 6,200 85%
12H208 (&) b AP 72 8,200 80%
12H21H(X) it N 72 8,200 80%
12H22H(H) b AP 72 6,600 84%
12H23H(A) Eoibis) AN 72 6,600 84%
12H24H(N) b AP 72 6,600 84%
12H25H(K) it AN 72 9,200 77%
12H26H(K) b AP 72 7,600 81%

156H(H) it AN 72 9,600 75%
1H7H(CN) o) AP 72 7,600 80%
1H8H(K) ik AN 72 6,200 84%
1H9H(K) Eolb) AP 72 6,200 84%
1H10H(E) ik AN 72 6,200 84%
1H11H(XL) R AP 72 9,200 76%
1812H(H) Eoibi) AN 72 6,200 84%
1H13H(H) Eolb) AP 72 8,600 77%
1H148H0X) ik KB 72 6,200 84%
1H15H(K) R AP 72 6,200 84%
1H16H(K) ik AN 72 6,200 84%
1H17H(GER) Eolb) AP 72 6,600 83%
1H18H(L) ik KB 72 7,600 80%
1H19H((H) R AP 72 6,200 84%
1820H(H) Eoibi) AP 72 6,200 84%
1H21H(KX) o) ABR 72 6,200 84%
1H22H(K) Eoibi) AP 72 6,200 84%
1H23H(K) b, ABR 72 6,200 84%
1H24H(E) Eoibi) AP 72 7,200 81%
1H25H(XL) o) ABR 72 7,600 80%
1826H(H) Eoibi) AP 72 6,200 84%
1H27H(H) b, ABR 72 6,200 84%
1H28H(X) Eoibi) AP 72 6,200 84%
1H29H(K) o) ABR 72 6,200 84%
1H30H(K) Eoibi) AP 72 6,600 83%
1H31H(GER) o) ABR 72 6,200 84%
2H1H(EL) Eoibi) AP 72 7,600 80%
2H2H(H) o) ABR 72 8,600 77%
2H3H((A) poibi) AP 72 6,200 84%
2H48(X) b ABR 72 6,200 84%
2H5B8(0K) poibi) AP 72 6,200 84%
2H6H(K) b ABR 72 6,200 84%
2H7H(GE) poibi) AP 72 6,200 84%
2H8H(X) b ABR 72 9,200 76%
2H9H(H) poibi) AP 72 6,600 83%
2H10H(H) b ABR 72 9,200 76%
2H11H(N) Eoibi) KB 72 9,600 75%
2H12H(K) o) ABR 72 6,200 84%
2H13H(XK) Eoibi) KB 72 6,200 84%
2H14H(&) o) ABR 72 6,600 83%
2H15H (%) Eoibi) KB 72 6,600 83%
2H16H(H) it KB 72 6,200 84%
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2H17H(H) ok AP 72 6,200 84%
2H18H(N) Eoibis) N 72 6,600 83%
2H19H(K) b AP 72 6,200 84%
2H20H(K) it AN 72 6,200 84%
2H21H(5&) b AP 72 7,600 80%
2H22H(L) it AN 72 9,600 75%
2H23H(H) b AP 72 7,600 80%
2H24H(AH) it N 72 9,200 76%
2H25H(N) b AP 72 6,200 84%
2H26H(K) Eoibis) AN 72 8,600 77%
2H27H(XK) b AP 72 6,200 84%
2H28H (&) it AN 72 7,600 80%
11H1HGE) AP it 73 8,600 77%
11H2H(L) AN ot 73 9,600 75%
11H3H((H) AN ik 73 9,600 75%
11H58H0X) AN it 73 9,200 76%
1156H(K) AN ok 73 9,200 76%
11H7H(CK) AN it 73 7,200 81%
11H8H(E) AN ok 73 7,600 80%
11H9H(L) AN it 73 8,600 77%

118510H(H) AN ok 73 9,200 76%
11811H(A) AN it 73 8,200 78%
11H13H0K) AN ok 73 8,600 77%
11H148(K) AN it 73 7,200 81%
11H158(&) AN ok 73 7,600 80%
11H16H(X) AN it 73 8,600 77%
118518H(AH) AN ok 73 8,200 78%
11H198(CN) AN it 73 8,200 78%
11H20H(K) ABR ik 73 8,600 77%
11H21H(K) AN it 73 7,600 80%
11H22H (&) ABR ik 73 8,600 77%
11H23H(L) AN it 73 9,200 76%
11824H(H) ABR ik 73 9,600 75%
11H25H(A) AN it 73 8,600 77%
11H26H(N) ABR ik 73 7,200 81%
11H27H(K) AN it 73 7,600 80%
11H28H(K) ABR ik 73 7,200 81%
11H29H(%&) AN it 73 7,600 80%
11H30H(x) ABR ik 73 8,600 77%
1281H(H) AN it 73 8,600 79%
12H2H(H) ABR ik 73 7,600 81%
12H3H(X) AN it 73 6,200 85%
12H4H(K) AN ot 73 6,200 85%
12H5H(K) AN it 73 6,600 84%
12H6H(E) AN ot 73 7,200 82%
1287H(XL) AN it 73 8,200 80%
12H8H(H) AN it 73 8,200 80%
12859H(H) AN it 73 7,200 82%
12H10H(CN) AN it 73 6,200 85%
12H11H(K) AN it 73 6,600 84%
12H12H(K) AN it 73 6,600 84%
12H138(E) AN it 73 6,200 85%
12H14H(X) AN it 73 6,600 84%
12515H(H) AN it 73 8,200 80%
12H16H(A) AN e 73 6,600 84%
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12H178(CX) ABR it 73 6,200 85%
12H18H(K) AN ot 73 6,200 85%
12H19H(K) ABR it 73 6,200 85%
12H20H(&) AN ot 73 6,600 84%
12H21H(X) AP it 73 6,600 84%
12H22H(H) AN ot 73 7,600 81%
12H23H(H) ABR it 73 7,200 82%
12H248(N) AN ot 73 6,600 84%
12H25H(K) ABR it 73 6,600 84%
12H26H(K) AN ot 73 7,200 82%

1H6H(H) ABR it 73 6,200 84%
1H7H(N) AN ot 73 6,200 84%
1H8H(K) AP it 73 6,200 84%
1H9H(XK) AN ot 73 6,200 84%
1H10H(GER) AN ik 73 6,600 83%
1H11H(XL) AN it 73 7,600 80%
1H12H(H) AN ok 73 6,200 84%
1813H(H) AN it 73 7,600 80%
1H14H(X) AN ok 73 6,200 84%
1H15H(K) AN it 73 6,200 84%
1H16H(K) AN ok 73 6,200 84%
1H17H(GE) AN it 73 6,200 84%
1H18H(L) AN ok 73 6,200 84%
1819H((H) AN it 73 8,200 78%
1H20H(H) AN ok 73 6,200 84%
1H21HCX) AN it 73 6,200 84%
1H22H(K) AN ok 73 6,200 84%
1H23H(K) AN it 73 6,200 84%
1H24H(E) ABR ik 73 6,600 83%
1H25H(L) AN it 73 6,200 84%
1H26H(H) ABR ik 73 8,200 78%
1827H(H) AN it 73 6,600 83%
1H28H(X) ABR ik 73 6,200 84%
1H29H(K) AN it 73 6,200 84%
1H30H(RK) ABR ik 73 6,200 84%
1H31HGE) AN it 73 6,600 83%
2H1H(X) ABR ik 73 6,600 83%
2H2H((H) AN it 73 7,600 80%
2H3H((A) ABR ik 73 6,600 83%
2H48(X) AN it 73 6,200 84%
2H5H0K) ABR ik 73 6,200 84%
2H6H(K) AN it 73 6,200 84%
2H7H(ER) AN ot 73 6,600 83%
2H8H(X) AN it 73 9,600 75%
2H9H(H) AN ot 73 8,600 77%
2H10H(H) AN it 73 6,600 83%
2H11HX) AN it 73 9,200 76%
2H12H(K) AN it 73 6,200 84%
2H13H(K) AN it 73 6,200 84%
2H14H(®) AN it 73 6,200 84%
2H15H(L) AN it 73 6,200 84%
2H16H(H) AN it 73 8,600 77%
2H17H(H) AN it 73 6,200 84%
2H18H(N) AN it 73 6,200 84%
2H19H(K) AN e 73 6,200 84%
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2H20H(XK) ABR it 73 6,200 84%
2H21H(&) AN ot 73 9,200 76%
2H22H(L) ABR it 73 9,200 76%
2H23H(H) AN ot 73 7,600 80%
2H24H(H) AP it 73 9,600 75%
2H25H(N) AN ot 73 6,200 84%
2H26H(K) ABR it 73 6,200 84%
2H27H(K) AN ot 73 6,200 84%
2H28H(5&) ABR it 73 7,200 81%
1183H(H) Eoibis) AN 74 9,600 75%
11H5H(X) b AP 74 7,200 81%
11H6H(K) it AN 74 7,200 81%
11H7H(CK) b AP 74 7,200 81%
11H59H(XL) it AN 74 8,200 78%

11510H(H) o) AP 74 8,200 78%
11811H(H) ik AN 74 7,200 81%
11H12H(N) Eolb) AP 74 8,200 78%
11H13H(K) ik AN 74 8,200 78%
11H14H(K) R AP 74 8,200 78%
11H15H (&) Eoibi) AN 74 9,200 76%
11516H(X) Eolb) AP 74 8,200 78%
11817H(H) ik KB 74 8,200 78%
118518H(AH) R AP 74 8,200 78%
11H19H(N) ik AN 74 7,200 81%
11H20H(K) Eolb) AP 74 7,200 81%
11H21H(K) ik KB 74 8,600 77%
11H22H(£) R AP 74 8,600 77%
11H23H(%) Eoibi) AP 74 8,200 78%
11824H(H) o) ABR 74 7,600 80%
11525H(A) Eoibi) AP 74 8,600 77%
11H26H(N) b, ABR 74 8,200 78%
11H27H(K) Eoibi) AP 74 7,200 81%
11H28H(K) o) ABR 74 8,200 78%
11H29H(%&) Eoibi) AP 74 7,200 81%
11H30H(x) b, ABR 74 7,600 80%
1281H((H) Eoibi) AP 74 8,200 80%
12H2H(H) o) ABR 74 7,600 81%
12H3HX) Eoibi) AP 74 7,600 81%
12H4H(K) o) ABR 74 7,600 81%
12H5H(K) Eoibi) AP 74 6,600 84%
12H6H(E) o) ABR 74 7,200 82%
12/7H(XL) poibi) AP 74 6,600 84%
12H8H(H) b ABR 74 9,200 77%
12859H(H) poibi) AP 74 6,600 84%
12H10H(N) b ABR 74 6,600 84%
12H11H(K) poibi) AP 74 6,600 84%
12H12H(K) b ABR 74 6,600 84%
12H13H(%) poibi) AP 74 7,200 82%
12H14H(X) b ABR 74 6,600 84%
12515H(H) Eoibi) KB 74 6,600 84%
12H16H(H) o) ABR 74 6,600 84%
12H17H(N) Eoibi) KB 74 6,600 84%
12H18H(K) o) ABR 74 6,200 85%
12H19H(XK) Eoibi) KB 74 6,600 84%
12H20H(&) it KB 74 7,200 82%
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12H21H(%) ok AP 74 6,600 84%
12H22H(H) Eoibis) N 74 6,600 84%
12H23H(H) b AP 74 6,600 84%
12H24H(N) it AN 74 6,200 85%
12H25H(K) b AP 74 6,200 85%
12H26H(K) it AN 74 6,600 84%

1H6H(H) b AP 74 9,600 75%
1H7H(N) it N 74 6,200 84%
1H8H(K) b AP 74 6,200 84%
1H9H(XK) Eoibis) AN 74 6,200 84%
1H10H(GER) b AP 74 6,200 84%
1H11H(EL) it AN 74 6,600 83%
1H12H(H) b AP 74 6,200 84%
1813H(H) it AN 74 9,600 75%
1H14H(KX) o) AP 74 6,200 84%
1H15H(K) ik AN 74 6,200 84%
1H16H(K) Eolb) AP 74 6,200 84%
1H17H(GE) ik AN 74 6,200 84%
1H18H(L) R AP 74 6,200 84%
1819H((H) Eoibi) AN 74 6,200 84%
1H20H(H) Eolb) AP 74 6,200 84%
1H21HCX) ik KB 74 6,200 84%
1H22H(K) R AP 74 6,200 84%
1H23H(K) ik AN 74 6,200 84%
1H24H(ER) Eolb) AP 74 6,600 83%
1H25H(XL) ik KB 74 6,200 84%
1H26H(H) R AP 74 6,200 84%
1827H(H) Eoibi) AP 74 6,200 84%
1H28H(KXN) o) ABR 74 6,200 84%
1H29H(K) Eoibi) AP 74 6,200 84%
1H30H(RK) b, ABR 74 6,200 84%
1H31HGE) Eoibi) AP 74 6,200 84%
2H1H(X) o) ABR 74 7,200 81%
2H2H((H) Eoibi) AP 74 6,200 84%
2H3H(H) b, ABR 74 6,200 84%
2H48(X) Eoibi) AP 74 6,200 84%
2H5H(K) o) ABR 74 6,200 84%
2H6H(K) Eoibi) AP 74 6,200 84%
2H78H(E) o) ABR 74 7,200 81%
2H8H(TL) Eoibi) AP 74 9,600 75%
2H9H(H) o) ABR 74 6,600 83%
2H10H(H) poibi) AP 74 7,200 81%
2H11H(X) b ABR 74 9,600 75%
2H12H(K) poibi) AP 74 6,200 84%
2H13H(K) b ABR 74 6,200 84%
2H14H(®) poibi) AP 74 6,600 83%
2H15H(L) b ABR 74 6,200 84%
2H16H(H) poibi) AP 74 6,200 84%
2H17H(H) b ABR 74 6,200 84%
2H18H(N) Eoibi) KB 74 6,200 84%
2H19H(K) o) ABR 74 6,200 84%
2H20H(XK) Eoibi) KB 74 7,600 80%
2H21H(5&) o) ABR 74 7,600 80%
2H22H(L) Eoibi) KB 74 9,200 76%
2H23H(H) it KB 74 7,600 80%
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2H24H(H) ok AP 74 9,600 75%
2H25H(X) Eoibis) N 74 6,200 84%
2H26H(K) b AP 74 6,200 84%
2H27H(K) it AN 74 6,200 84%
2H28H(5&) b AP 74 8,600 77%
1181H(GER) ABR B 75 7,160 80%
11H2H(XL) ABR RS 75 7,160 80%
1183H((H) AN RS 75 7,160 80%
1154H(H) ABR RS 75 12,000 66%
11H5HX) AN BR5 75 7,160 80%
11H6H(K) ABR RS 75 7,160 80%
11H7H(CK) AN RS 75 7,160 80%
11H8H(E) AP RS 75 7,160 80%
11H59H(XL) ABR B 75 7,160 80%

11510H(H) AN ERS 75 7,160 80%
11811H(H) AN ) 75 7,160 80%
11H12H(N) AN ERS 75 7,160 80%
11H13H(K) AN ) 75 7,160 80%
11H14H(K) AN ERS 75 7,160 80%
11H15H (&) ABR ) 75 7,160 80%
11516H(X) AN ERS 75 7,160 80%
11817H(H) AN ) 75 7,160 80%
118518H(AH) AN ERS 75 7,160 80%
11H19H(N) AN ) 75 7,160 80%
11H20H(K) AN ERS 75 7,160 80%
11H21H(K) AN RS 75 8,000 77%
11H22H(£) AN ERS 75 8,000 77%
11H23H(%) KPR ) 75 8,000 77%
11824H(H) ABR ERS 75 8,000 77%
11525H(A) AN RS 75 7,160 80%
11H26H(N) ABR ERS 75 7,160 80%
11H27H(K) AN RS 75 7,160 80%
11H28H(K) ABR ERS 75 7,160 80%
11H29H(%&) KPR RS 75 7,160 80%
11H30H(x) ABR ERS 75 7,160 80%
1281H((H) AN RS 75 8,000 78%
12H2H(H) ABR ERS 75 7,160 81%
12H3HX) AN ) 75 7,160 81%
12H4H(K) ABR ERS 75 7,160 81%
12H5H(K) AN ) 75 7,160 81%
12H6H(E) ABR ERS 75 7,160 81%
12/7H(XL) AN RS 75 7,160 81%
12H8H(H) ABR E 75 8,000 78%
12859H(H) AN RS 75 8,000 78%
12H10H(N) ABR EX 75 7,160 81%
12H11H(K) AN RS 75 7,160 81%
12H12H(K) ABR EX 75 7,160 81%
12H13H(%) AN RS 75 7,160 81%
12H14H(X) ABR E 75 7,160 81%
12515H(H) AN RS 75 8,000 78%
12H16H(H) ABR EX 75 7,160 81%
12H17H(N) AN RS 75 7,160 81%
12H18H(K) ABR EX 75 7,160 81%
12H19H(K) AN RS 75 7,160 81%
12H20H(&) ABR EX 75 7,160 81%
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12H21H(%) ABR 75 7,160 81%
12H22H(H) AN 75 8,000 78%
12H23H(H) ABR 75 7,160 81%
12H24H(N) AN 75 7,160 81%
12H25H(K) AP 75 7,160 81%
12H26H(K) AN 75 7,160 81%

1H6H(H) ABR 75 7,160 80%
1H7H(N) AN 75 7,160 80%
1H8H(K) ABR 75 7,160 80%
1H9H(XK) AN 75 7,160 80%
1H10H(GER) ABR 75 7,160 80%
1H11H(EL) ABR 75 7,160 80%
1H12H(H) AP 75 7,160 80%
1H13H(H) AN 75 7,160 80%
1H14H(KX) AN 75 7,160 80%
1H15H(K) AN 75 7,160 80%
1H16H(K) AN 75 7,160 80%
1H17H(GE) ABR 75 7,160 80%
1H18H(L) AN 75 7,160 80%
1H19H(H) AN 75 7,160 80%
1H20H(H) AN 75 7,160 80%
1H21H(CKX) AN 75 7,160 80%
1H22H(K) AN 75 7,160 80%
1H23H(K) AN 75 7,160 80%
1H24H(&) AN 75 7,160 80%
1H25H(XL) ABR 75 7,160 80%
1H26H(H) AN 75 7,160 80%
1H27H(H) AN 75 7,160 80%
1H28H(X) ABR 75 7,160 80%
1H29H(K) AN 75 7,160 80%
1H30H(RK) ABR 75 7,160 80%
1H31HGE) KPR 75 7,160 80%
2H1H(X) ABR 75 7,160 80%
2H2H((H) AN 75 7,160 80%
2H3H(H) ABR 75 7,160 80%
2H48(X) AN 75 7,160 80%
2H5H(K) ABR 75 7,160 80%
2H6H(K) AN 75 7,160 80%
2H78H(E) ABR 75 7,160 80%
2H8H(TL) KPR 75 7,160 80%
2H9H(H) ABR 75 7,160 80%
2H10H(H) AN 75 7,160 80%
2H11H(X) ABR 75 7,160 80%
2H12H(K) AN 75 7,160 80%
2H13H(K) ABR 75 7,160 80%
2H14H(®) KPR 75 7,160 80%
2H15H(L) ABR 75 7,160 80%
2H16H(H) AN 75 7,160 80%
2H17H(H) ABR 75 7,160 80%
2H18H(N) AN 75 7,160 80%
2H19H(K) ABR 75 7,160 80%
2H20H(XK) AN 75 7,160 80%
2H21H(5&) ABR 75 7,160 80%
2H22H(L) KPR 75 7,160 80%
2H23H(H) ABR 75 7,160 80%
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2H24H(H) ABR RS 75 7,160 80%
2H25H(X) AN ERS 75 7,160 80%
2H26H(K) ABR E'E% 75 7,160 80%
2H27H(K) AN RS 75 7,160 80%
2H28H(5&) AP RS 75 7,160 80%
1181H(GER) S AN 76 11,000 69%
11H2H(XL) S AP 76 7,160 80%
1183H((H) S N 76 11,000 69%
1154H(H) S AP 76 7,160 80%
11H5HX) S AN 76 7,160 80%
11H6H(K) S AP 76 7,160 80%
11H7H(CK) S AN 76 7,160 80%
11H8H(E) S AP 76 7,160 80%
11H59H(XL) ERE AN 76 7,160 80%
11510H(H) m' AP 76 7,160 80%
11811H(H) S ABR 76 8,000 77%
11H12H(N) E AP 76 8,000 77%
11H13H(K) ERS ABR 76 8,000 77%
11H14H(K) m' AP 76 8,000 77%
11H15H (&) ) ABR 76 8,000 77%
11516H(X) E AP 76 7,160 80%
11817H(H) ERE ABR 76 7,160 80%
118518H(AH) m' AP 76 7,160 80%
11H19H(N) ERE ABR 76 7,160 80%
11H20H(K) m' AP 76 7,160 80%
11H21H(K) ) ABR 76 7,160 80%
11H22H(£) E AP 76 8,000 77%
11H23H(%) ERE KPR 76 8,000 77%
11824H(H) m' ABR 76 8,000 77%
11525H(A) ) ABR 76 8,000 77%
11H26H(N) EeUT ABR 76 7,160 80%
11H27H(K) ERS KPR 76 7,160 80%
11H28H(K) m' ABR 76 8,000 77%
11H29H(%&) ERE ABR 76 7,160 80%
11H30H(x) m' ABR 76 7,160 80%
1281H((H) ) KPR 76 8,000 78%
12H2H(H) EeUT ABR 76 7,160 81%
12H3HX) ERS ABR 76 7,160 81%
12H4H(0K) m' ABR 76 7,160 81%
12H5H(K) ERS ABR 76 7,160 81%
12H6H(E) m' ABR 76 7,160 81%
12/7H(XL) ERS KPR 76 7,160 81%
12H8H(H) ﬁ')ﬁ ABR 76 8,000 78%
12859H(H) ERS KPR 76 7,160 81%
12H10H(N) ﬁ')ﬁ N 76 7,160 81%
12H11H(K) ERS KPR 76 7,160 81%
12H12H(K) ﬁ')ﬁ N 76 7,160 81%
12H13H(%) ERS KPR 76 7,160 81%
12H14H(X) ﬁ')ﬁ ABR 76 7,160 81%
12515H(H) ERS KPR 76 8,000 78%
12H16H(H) ﬁ')ﬁ N 76 7,160 81%
12H17H(N) ) KPR 76 7,160 81%
12H18H(K) RER N 76 7,160 81%
12H19H(K) ERS KPR 76 7,160 81%
12H20H(&) FEEIJ% KB 76 7,160 81%
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12H21H(%) EeT KPR 76 7,160 81%
12H22H(H) RER N 76 7,160 81%
12H23H(H) S AP 76 7,160 81%
12H24H(N) RER AN 76 7,160 81%
12H25H(K) E AP 76 7,160 81%
12H26H(K) RER AN 76 7,160 81%

1H6H(H) S AP 76 8,000 77%
1H7H(N) RER N 76 7,160 80%
1H8H(K) S AP 76 7,160 80%
1H9H(XK) RER AN 76 7,160 80%
1H10H(GER) RS AP 76 7,160 80%
1H11H(EL) S AN 76 7,160 80%
1H12H(H) S AP 76 7,160 80%
1H13H(H) ) AN 76 8,000 77%
1H14H(X) EER AP 76 7,160 80%
1H15H(K) ) ABR 76 7,160 80%
1H16H(K) EER AP 76 7,160 80%
1H17H(GE) RS AN 76 7,160 80%
1H18H(L) RER AP 76 7,160 80%
1H19H(H) ) AN 76 7,160 80%
1H20H(H) RER AP 76 7,160 80%
1H21H(CKX) ) KB 76 7,160 80%
1H22H(K) EER AP 76 7,160 80%
1H23H(K) ) ABR 76 7,160 80%
1H24H(&) RER AP 76 7,160 80%
1H25H(XL) ) KB 76 7,160 80%
1H26H(H) RER AP 76 7,160 80%
1H27H(H) ) KPR 76 7,160 80%
1H28H(X) EER ABR 76 7,160 80%
1H29H(K) ) ABR 76 7,160 80%
1H30H(RK) EELR ABR 76 7,160 80%
1H31HGE) ) KPR 76 7,160 80%
2H1H(X) RER ABR 76 7,160 80%
2H2H((H) ) ABR 76 7,160 80%
2H3H(H) EELR ABR 76 7,160 80%
2H48(X) ) KPR 76 7,160 80%
2H5H(K) EER ABR 76 7,160 80%
2H6H(K) ) ABR 76 7,160 80%
2H78H(E) RER ABR 76 7,160 80%
2H8H(TL) ) ABR 76 7,160 80%
2H9H(H) RER ABR 76 7,160 80%
2H10H(H) ) AP 76 7,160 80%
2H11H(X) S N 76 7,160 80%
2H12H(K) ) AP 76 7,160 80%
2H13H(K) S N 76 7,160 80%
2H14H(®) ) AP 76 7,160 80%
2H15H(L) S ABR 76 7,160 80%
2H16H(H) ) AP 76 7,160 80%
2H17H(H) S N 76 7,160 80%
2H18H(N) ) KB 76 7,160 80%
2H19H(K) eSS N 76 7,160 80%
2H20H(XK) ) KB 76 7,160 80%
2H21H(5&) eSS ABR 76 7,160 80%
2H22H(L) ) KB 76 7,160 80%
2H23H(H) eSS KB 76 7,160 80%
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2H24H(H) RS KPR 76 7,160 80%
2H25H(X) S N 76 7,160 80%
2H26H(K) S AP 76 7,160 80%
2H27H(K) S AN 76 7,160 80%
2H28H(5&) S AP 76 7,160 80%
1181H(GER) ABR PAV) 77 8,500 66%
11H2H(XL) ABR DAV 77 8,500 66%
1183H((H) AN PAV) 77 8,500 66%
1154H(H) ABR DAV 77 8,500 66%
11H5HX) AN PAV) 77 8,500 66%
11H6H(K) ABR DAV 77 8,500 66%
11H7H(CK) AN PAV) 77 8,500 66%
11H8H(E) AP DAV 77 8,500 66%
11H59H(XL) ABR PAV) 77 8,500 66%
11510H(H) AN X5 77 7,160 71%
11811H(H) AN PA) 77 8,500 66%
11H12H(N) AN X5 77 7,160 71%
11H13H(K) AN PA) 77 8,500 66%
11H14H(K) AN X5 77 8,500 66%
11H15H (&) ABR PA) 77 8,500 66%
11516H(X) AN X5 77 8,500 66%
11817H(H) AN PAV) 77 7,160 71%
118518H(AH) AN X5 77 8,500 66%
11H19H(N) AN PA) 77 8,500 66%
11H20H(K) AN X5 77 8,500 66%
11H21H(K) AN PAV) 77 8,500 66%
11H22H(£) AN X5 77 8,500 66%
11H23H(%) KPR PAV) 77 8,500 66%
11824H(H) ABR PAVJ) 77 8,500 66%
11525H(A) AN PAV) 77 8,500 66%
11H26H(N) ABR PAVJ) 77 8,500 66%
11H27H(K) AN PA) 77 7,160 71%
11H28H(K) ABR PAVJ) 77 8,500 66%
11H29H(%&) KPR PAV) 77 8,500 66%
11H30H(x) ABR PAVJ) 77 8,500 66%
1281H((H) AN PAV) 77 7,160 73%
12H2H(H) ABR PAVJ) 77 7,160 73%
12H3HX) AN PAV) 77 7,160 73%
12H4H(K) ABR PAVJ) 77 7,160 73%
12H5H(K) AN PAV) 77 7,160 73%
12H6H(E) ABR PAV)) 77 7,160 73%
12/7H(XL) AN DAV 77 7,160 73%
12H8H(H) ABR PAV) 77 7,160 73%
12859H(H) AN DAV 77 7,160 73%
12H10H(N) ABR Aa) 77 7,160 73%
12H11H(K) AN PAV) 77 7,160 73%
12H12H(K) ABR Aa) 77 7,160 73%
12H13H(%) AN DAV 77 7,160 73%
12H14H(X) ABR PAV) 77 8,000 70%
12515H(H) AN DAV 77 7,160 73%
12H16H(H) ABR Aa) 77 7,160 73%
12H17H(N) AN DAV 77 7,160 73%
12H18H(K) ABR Aa) 77 7,160 73%
12H19H(K) AN DAV 77 7,160 73%
12H20H(&) ABR PAV) 77 7,160 73%
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12H21H(%) ABR DAV 77 7,160 73%
12H22H(H) AN PAV) 77 7,160 73%
12H23H(H) ABR DAV 77 7,160 73%
12H24H(N) AN PAV) 77 7,160 73%
12H25H(K) AP DAV 77 7,160 73%
12H26H(K) AN PAV) 77 7,160 73%

1H6H(H) ABR DAV 77 7,160 71%
1H7H(N) AN PAV) 77 7,160 71%
1H8H(K) ABR DAV 77 7,160 71%
1H9H(XK) AN PAV) 77 7,160 71%
1H10H(GER) ABR DAV 77 7,160 71%
1H11H(EL) ABR PAV) 77 8,000 68%
1H12H(H) AP DAV 77 7,160 71%
1H13H(H) AN PAV) 77 7,160 71%
1H14H(X) AN X5 77 7,160 71%
1H15H(K) AN PAV) 77 7,160 71%
1H16H(K) AN X5 77 7,160 71%
1H17H(GE) ABR PAV) 77 7,160 71%
1H18H(L) AN X5 77 7,160 71%
1H19H(H) AN PAV) 77 7,160 71%
1H20H(H) AN X5 77 7,160 71%
1H21H(CKX) AN PAV) 77 7,160 71%
1H22H(K) AN X5 77 7,160 71%
1H23H(K) AN PAV) 77 7,160 71%
1H24H(&) AN X5 77 7,160 71%
1H25H(XL) ABR PAV) 77 7,160 71%
1H26H(H) AN X5 77 7,160 71%
1H27H(H) AN PAV) 77 7,160 71%
1H28H(X) ABR PAVJ) 77 7,160 71%
1H29H(K) AN PAV) 77 7,160 71%
1H30H(RK) ABR PAVJ) 77 7,160 71%
1H31HGE) KPR PA) 77 7,160 71%
2H1H(X) ABR PAVJ) 77 8,000 68%
2H2H((H) AN PAV) 77 7,160 71%
2H3H(H) ABR PAVJ) 77 7,160 71%
2H48(X) AN PAV) 77 7,160 71%
2H5H(K) ABR PAVJ) 77 7,160 71%
2H6H(K) AN PAV) 77 7,160 71%
2H78H(E) ABR PAVJ) 77 7,160 71%
2H8H(TL) KPR PA) 77 7,160 71%
2H9H(H) ABR PAV)) 77 7,160 71%
2H10H(H) AN DAV 77 7,160 71%
2H11H(X) ABR Aa) 77 7,160 71%
2H12H(K) AN DAV 77 7,160 71%
2H13H(K) ABR Aa) 77 7,160 71%
2H14H(®) AN PAV) 77 7,160 71%
2H15H(L) ABR PAV) 77 7,160 71%
2H16H(H) AN DAV 77 7,160 71%
2H17H(H) ABR Aa) 77 7,160 71%
2H18H(N) AN DAV 77 7,160 71%
2H19H(K) ABR Aa) 77 7,160 71%
2H20H(XK) AN DAV 77 7,160 71%
2H21H(5&) ABR PAV) 77 7,160 71%
2H22H(L) AN DAV 77 7,160 71%
2H23H(H) ABR PAV) 77 7,160 71%




a%H [XF& B IBEX#il
2H24H(H) ABR DAV 77 7,160 71%
2H25H(X) AN PAV) 77 7,160 71%
2H26H(K) ABR DAV 77 7,160 71%
2H27H(K) AN PAV) 77 7,160 71%
2H28H(5&) AP DAV 77 7,160 71%
1181H(GER) PAV) AN 78 8,500 66%
11H2H(XL) ) AP 78 8,500 66%
1183H((H) PAV) N 78 8,500 66%
1154H(H) %) AP 78 8,500 66%
11H5HX) PAV) AN 78 8,500 66%
11H6H(K) ) AP 78 8,500 66%
11H7H(CK) PAV) AN 78 8,500 66%
11H8H(E) ) AP 78 8,500 66%
11H59H(XL) PAV) AN 78 8,500 66%

11510H(H) PA) AP 78 8,500 66%
11811H(H) PAV) AN 78 7,160 71%
11H12H(N) PA) AP 78 7,160 71%
11H13H(K) PAV) ABR 78 8,500 66%
11H14H(K) PAV) AP 78 8,500 66%
11H15H (&) PAV) ABR 78 8,500 66%
11516H(X) PA) AP 78 8,500 66%
11817H(H) PAV) ABR 78 8,500 66%
118518H(AH) PAV) AP 78 8,500 66%
11H19H(N) PAV) ABR 78 8,500 66%
11H20H(K) PA) AP 78 8,500 66%
11H21H(K) PAV) ABR 78 8,500 66%
11H22H(£) PAV) AP 78 8,500 66%
11H23H(%) PAV) KPR 78 8,500 66%
11824H(H) PAV) ABR 78 8,500 66%
11525H(A) PAV) ABR 78 7,160 71%
11H26H(N) PAV) ABR 78 7,160 71%
11H27H(K) PAV) KPR 78 7,160 71%
11H28H(K) PAV) ABR 78 7,160 71%
11H29H(%&) PAV) ABR 78 8,500 66%
11H30H(x) PAV) ABR 78 8,500 66%
1281H((H) PAV) KPR 78 7,160 73%
12H2H(H) PAV) ABR 78 7,160 73%
12H3HX) PAV) ABR 78 7,160 73%
12H4H(K) PAV) ABR 78 7,160 73%
12H5H(K) PAV) ABR 78 9,000 66%
12H6H(E) PAV) ABR 78 7,160 73%
12/7H(XL) PAV) KPR 78 8,000 70%
12H8H(H) PAV) ABR 78 8,000 70%
12859H(H) PAV) KPR 78 7,160 73%
12H10H(N) PAV) N 78 7,160 73%
12H11H(K) PAV) KPR 78 7,160 73%
12H12H(K) PAV) N 78 7,160 73%
12H13H(%) PAV) KPR 78 7,160 73%
12H14H(X) PAV) ABR 78 7,160 73%
12515H(H) PAV) KPR 78 7,160 73%
12H16H(H) PAV) N 78 7,160 73%
12H17H(N) PAV) KPR 78 7,160 73%
12H18H(K) PAV) ABR 78 7,160 73%
12H19H(K) PAV) KB 78 7,160 73%
12H20H(&) PAV) KB 78 8,000 70%




a%H [XF& B IBEX#il
12H21H(%) A7 KPR 78 8,000 70%
12H22H(H) PAV) N 78 8,000 70%
12H23H(H) ) AP 78 7,160 73%
12H24H(N) PAV) AN 78 7,160 73%
12H25H(K) ) AP 78 7,160 73%
12H26H(K) PAV) AN 78 7,160 73%

1H6H(H) ) AP 78 7,160 71%
1H7H(N) PAV) N 78 7,160 71%
1H8H(K) %) AP 78 7,160 71%
1H9H(XK) PAV) AN 78 7,160 71%
1H10H(GER) ) AP 78 7,160 71%
1H11H(EL) PAV) AN 78 8,000 68%
1H12H(H) ) AP 78 7,160 71%
1H13H(H) PAV) AN 78 7,160 71%
1H14H(X) PA) AP 78 7,160 71%
1H15H(K) PAV) AN 78 7,160 71%
1H16H(K) PA) AP 78 7,160 71%
1H17H(GE) PAV) AN 78 7,160 71%
1H18H(L) PAV) AP 78 7,160 71%
1H19H(H) PAV) AN 78 7,160 71%
1H20H(H) PA) AP 78 7,160 71%
1H21H(CKX) PAV) KB 78 7,160 71%
1H22H(K) PAV) AP 78 7,160 71%
1H23H(K) PAV) AN 78 7,160 71%
1H24H(&) PA) AP 78 7,160 71%
1H25H(XL) PAV) KB 78 7,160 71%
1H26H(H) PAV) AP 78 7,160 71%
1H27H(H) PAV) KPR 78 7,160 71%
1H28H(X) PAV) ABR 78 7,160 71%
1H29H(K) PAV) ABR 78 7,160 71%
1H30H(RK) PAV) ABR 78 7,160 71%
1H31HGE) PAV) KPR 78 7,160 71%
2H1H(X) PAV) ABR 78 7,160 71%
2H2H((H) PAV) ABR 78 7,160 71%
2H3H(H) PAV) ABR 78 7,160 71%
2H48(X) PAV) KPR 78 7,160 71%
2H5H(K) PAV) ABR 78 7,160 71%
2H6H(K) PAV) ABR 78 7,160 71%
2H78H(E) PAV) ABR 78 7,160 71%
2H8H(TL) PAV) ABR 78 8,000 68%
2H9H(H) PAV) ABR 78 7,160 71%
2H10H(H) PAV) KPR 78 7,160 71%
2H11H(X) PAV) N 78 7,160 71%
2H12H(K) PAV) KPR 78 7,160 71%
2H13H(K) PAV) N 78 7,160 71%
2H14H(®) PAV) KPR 78 7,160 71%
2H15H(L) PAV) ABR 78 7,160 71%
2H16H(H) PAV) KPR 78 7,160 71%
2H17H(H) PAV) N 78 7,160 71%
2H18H(N) PAV) KPR 78 7,160 71%
2H19H(K) PAV) N 78 7,160 71%
2H20H(XK) PAV) KB 78 7,160 71%
2H21H(5&) PAV) ABR 78 7,160 71%
2H22H(L) PAV) KPR 78 7,160 71%
2H23H(H) PAV) KB 78 7,160 71%
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2H24H(H) A7 AP 78 7,160 71%
2H25H(X) PAV) N 78 7,160 71%
2H26H(K) ) AP 78 7,160 71%
2H27H(K) PAV) AN 78 7,160 71%
2H28H(5&) ) AP 78 7,160 71%
1181H(GER) ABR B5S 79 11,000 72%
11H2H(XL) ABR = 79 13,000 67%
1183H((H) AN B5S 79 8,000 80%
1154H(H) ABR = 79 11,000 72%
11H5HX) AN B5S 79 11,000 72%
11H6H(K) ABR = 79 8,000 80%
11H7H(CK) AN B5S 79 11,000 72%
11H8H(E) AP B 79 11,000 72%
11H59H(XL) ABR B5S 79 11,000 72%
11510H(H) AN = 79 11,000 72%
11811H(H) AN B5S 79 11,000 72%
11H12H(N) AN = 79 11,000 72%
11H13H(K) AN (=) 79 8,000 80%
11H14H(K) AN = 79 11,000 72%
11H15H (&) AN B5S 79 11,000 72%
11516H(X) AN = 79 11,000 72%
11817H(H) AN B5S 79 11,000 72%
118518H(AH) AN = 79 8,000 80%
11H19H(N) AN (=) 79 8,000 80%
11H20H(K) AN = 79 8,000 80%
11H21H(K) AN (=) 79 8,000 80%
11H22H(£) AN = 79 8,000 80%
11H23H(%) AN (=) 79 8,000 80%
11824H(H) ABR B 79 8,000 80%
11525H(A) AN (=) 79 11,000 72%
11H26H(N) ABR B 79 8,000 80%
11H27H(K) AN (=) 79 8,000 80%
11H28H(K) ABR B 79 8,000 80%
11H29H(%&) AN (=) 79 8,000 80%
11H30H(x) ABR B 79 8,000 80%
1281H((H) AN (=) 79 11,000 73%
12H2H(H) ABR B 79 8,000 81%
12H3HX) AN (=) 79 8,000 81%
12H4H(K) ABR B 79 8,000 81%
12H5H(K) AN (=) 79 8,000 81%
12H6H(E) ABR B 79 8,000 81%
12/7H(XL) AN | 79 8,000 81%
12H8H(H) ABR =) 79 8,000 81%
12859H(H) AN | 79 8,000 81%
12H10H(N) ABR B5S 79 8,000 81%
12H11H(K) AN | 79 8,000 81%
12H12H(K) ABR B5S 79 8,000 81%
12H13H(%) AN | 79 8,000 81%
12H14H(X) ABR =) 79 8,000 81%
12515H(H) AN i 79 8,000 81%
12H16H(H) ABR BES 79 8,000 81%
12H17H(N) AN i 79 8,000 81%
12H18H(K) ABR BES 79 8,000 81%
12H19H(K) AN & 79 8,000 81%
12H20H(&) ABR B5S 79 8,000 81%
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12H21H(%) ABR =) 79 8,000 81%
12H22H(H) AN B5S 79 8,000 81%
12H23H(H) ABR = 79 8,000 81%
12H248(XN) AN B5S 79 8,000 81%
12H25H(K) AP B 79 8,000 81%
12H26H(K) AN B5S 79 8,000 81%

1H6H(H) ABR = 79 8,000 80%
1H7H(N) AN B5S 79 8,000 80%
1H8H(K) ABR = 79 8,000 80%
1H9H(XK) AN B5S 79 8,000 80%
1H10H(GER) ABR = 79 8,000 80%
1H11H(EL) AN B5S 79 9,000 77%
1H12H(H) AP B 79 8,000 80%
1813H(H) AN B5S 79 9,000 77%
1H14H(X) AN = 79 8,000 80%
1H15H(K) AN B5S 79 8,000 80%
1H16H(K) AN = 79 8,000 80%
1H17H(GE) AN B5S 79 8,000 80%
1H18H(L) AN = 79 8,000 80%
1819H((H) AN B5S 79 8,000 80%
1H20H(H) AN = 79 8,000 80%
1H21HCX) AN B5S 79 8,000 80%
1H22H(K) AN = 79 8,000 80%
1H23H(K) AN B5S 79 8,000 80%
1H24H(ER) AN = 79 8,000 80%
1H25H(XL) AN B5S 79 8,000 80%
1H26H(H) AN = 79 9,000 77%
1827H(H) AN B5S 79 8,000 80%
1H28H(X) ABR B 79 8,000 80%
1H29H(K) AN B5S 79 8,000 80%
1H30H(RK) ABR B 79 8,000 80%
1H31HGE) AN B5S 79 8,000 80%
2H1H(X) ABR B 79 8,000 80%
2H2H((H) AN B5S 79 8,000 80%
2H3H((A) ABR B 79 8,000 80%
2H48(X) AN B5S 79 8,000 80%
2H5H(K) ABR B 79 8,000 80%
2H6H(K) AN B5S 79 8,000 80%
2H78H(E) ABR B 79 8,000 80%
2H8H(TL) AN B5S 79 8,000 80%
2H9H(H) ABR B 79 8,000 80%
2H10H(H) AN & 79 8,000 80%
2H11H(X) ABR B5S 79 8,000 80%
2H12H(K) AN & 79 8,000 80%
2H13H(K) ABR B5S 79 8,000 80%
2H14H(®) AN & 79 8,000 80%
2H15H(L) ABR =) 79 8,000 80%
2H16H(H) AN & 79 8,000 80%
2H17H(H) ABR B5S 79 8,000 80%
2H18H(N) AN & 79 8,000 80%
2H19H(K) ABR BES 79 8,000 80%
2H20H(XK) AN & 79 8,000 80%
2H21H(5&) ABR B 79 8,000 80%
2H22H(L) AN & 79 8,000 80%
2H23H(H) AN B5S 79 8,000 80%
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2H24H(H) ABR =) 79 8,000 80%
2H25H(N) AN B5S 79 8,000 80%
2H26H(K) ABR = 79 8,000 80%
2H27H(K) AN B5S 79 8,000 80%
2H28H(5&) AP B 79 8,000 80%
1181H(%) RS AN 80 15,000 62%
1152H(L) =] AP 80 15,000 62%
1183H((H) RS N 80 11,000 72%
1154H(H) =] AP 80 15,000 62%
11H5HX) RS AN 80 8,000 80%
11H6H(K) BS AP 80 11,000 72%
11H7H(CK) RS AN 80 8,000 80%
11H8H(E) =] AP 80 11,000 72%
11H9H(L) RS AN 80 8,000 80%

11510H(H) =] AP 80 8,000 80%
11811H(H) RS AN 80 8,000 80%
11512H(CN) B AP 80 8,000 80%
11H13H(K) RS AN 80 8,000 80%
11514H(K) B AP 80 8,000 80%
11H15H (&) RS AN 80 11,000 72%
11516H(X) =] AP 80 11,000 72%
11817H(H) RS KB 80 11,000 72%
118518H(AH) =] AP 80 8,000 80%
11H19H(N) RS AN 80 8,000 80%
11H20H(K) B AP 80 8,000 80%
11H218(K) RS KB 80 8,000 80%
11H22H(£) =] AP 80 11,000 72%
11H23H(L) RS AP 80 11,000 72%
11824H(H) =] ABR 80 8,000 80%
11525H(A) RS AP 80 8,000 80%
11H26H(N) B ABR 80 8,000 80%
11H27H(K) RS AP 80 8,000 80%
11H28H(K) B ABR 80 8,000 80%
11H29H(%&) RS AP 80 8,000 80%
11H30H(x) =] ABR 80 8,000 80%
1281H((H) RS AP 80 8,000 81%
12H2H(H) B ABR 80 8,000 81%
12H3HX) RS AP 80 8,000 81%
12H4H(K) B ABR 80 8,000 81%
12H5H(K) RS AP 80 8,000 81%
12H6H(E) =] ABR 80 8,000 81%
1287H(XL) & AP 80 8,000 81%
12H8H(H) =) N 80 8,000 81%
12859H(H) & AP 80 8,000 81%
12H10H(CN) =) N 80 8,000 81%
12H11H(K) & AP 80 8,000 81%
12H12H(K) =) N 80 8,000 81%
12H138(E) & AP 80 8,000 81%
12H14H(X) =) N 80 8,000 81%
12515H(H) & KB 80 8,000 81%
12H16H(H) =) N 80 8,000 81%
12H17H(N) & KB 80 8,000 81%
12H18H(K) =) N 80 8,000 81%
12H19H(K) & KB 80 8,000 81%
12H20H(&) BE KB 80 8,000 81%
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12H21H(%) =] AP 80 8,000 81%
12H22H(H) RS N 80 8,000 81%
12H23H(H) =] AP 80 8,000 81%
12H248(XN) RS AN 80 8,000 81%
12H25H(K) BS AP 80 8,000 81%
12H26H(K) RS AN 80 8,000 81%

1H6H(H) =] AP 80 8,000 80%
1H7H(N) RS N 80 8,000 80%
1H8H(K) BS AP 80 8,000 80%
1H9H(XK) RS AN 80 8,000 80%
1H10H(GER) =] AP 80 8,000 80%
1H11H(EL) RS AN 80 9,000 77%
1H12H(H) =] AP 80 8,000 80%
1813H(H) RS AN 80 9,000 77%
1H14H(X) B AP 80 8,000 80%
1H15H(K) RS AN 80 8,000 80%
1H16H(K) B AP 80 8,000 80%
1H17H(GE) RS AN 80 8,000 80%
1H18H(L) =] AP 80 8,000 80%
1819H((H) RS AN 80 8,000 80%
1H20H(H) =] AP 80 8,000 80%
1H21HCX) RS KB 80 8,000 80%
1H22H(K) B AP 80 8,000 80%
1H23H(K) RS AN 80 8,000 80%
1H24H(ER) =] AP 80 8,000 80%
1H25H(XL) RS KB 80 8,000 80%
1H26H(H) =] AP 80 8,000 80%
1827H(H) RS AP 80 8,000 80%
1H28H(X) B ABR 80 8,000 80%
1H29H(K) RS AP 80 8,000 80%
1H30H(RK) B ABR 80 8,000 80%
1H31HGE) RS AP 80 8,000 80%
2H1H(X) =] ABR 80 8,000 80%
2H2H((H) RS AP 80 8,000 80%
2H3H((A) B ABR 80 8,000 80%
2H48(X) RS AP 80 8,000 80%
2H5H(K) B ABR 80 8,000 80%
2H6H(K) RS AP 80 8,000 80%
2H78H(E) =] ABR 80 8,000 80%
2H8H(TL) RS AP 80 8,000 80%
2H9H(H) =] ABR 80 8,000 80%
2H10H(H) & AP 80 8,000 80%
2H11H(X) =) N 80 8,000 80%
2H12H(K) & AP 80 8,000 80%
2H13H(K) =) N 80 8,000 80%
2H14H(®) & AP 80 8,000 80%
2H15H(L) =) ABR 80 8,000 80%
2H16H(H) & AP 80 8,000 80%
2H17H(H) =) N 80 8,000 80%
2H18H(N) & KB 80 8,000 80%
2H19H(K) =) N 80 8,000 80%
2H20H(XK) & KB 80 8,000 80%
2H21H(5&) =) ABR 80 8,000 80%
2H22H(L) & KB 80 8,000 80%
2H23H(H) BE KB 80 8,000 80%
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2H24H(H) =] AP 80 8,000 80%
2H25H(N) RS N 80 8,000 80%
2H26H(K) BS AP 80 8,000 80%
2H27H(K) RS AN 80 8,000 80%
2H28H(5&) =] AP 80 8,000 80%
1181H(%) AN B5S 81 12,000 69%
1152H(L) ABR = 81 12,000 69%
1183H((H) AN B5S 81 12,000 69%
1154H(H) ABR = 81 12,000 69%
11H5HX) AN B5S 81 12,000 69%
11H6H(K) ABR = 81 8,000 80%
11H7H(CK) AN B5S 81 8,000 80%
11H8H(E) AP B 81 11,000 72%
11H9H(L) AN B5S 81 11,000 72%

11510H(H) AN = 81 12,000 69%
11811H(H) AN B5S 81 12,000 69%
11H12H(N) AN = 81 12,000 69%
11H13H(K) AN B5S 81 11,000 72%
11H14H(K) AN B5 81 11,000 72%
11H15H (&) AN B5S 81 11,000 72%
11516H(X) AN B5 81 10,000 74%
11817H(H) AN B5S 81 11,000 72%
118518H(AH) AN = 81 8,000 80%
11H19H(N) AN B5S 81 8,000 80%
11H20H(K) AN = 81 8,000 80%
11H218(K) AN B5S 81 8,000 80%
11H22H(£) AN B5 81 11,000 72%
11H23H(L) AN B5S 81 8,000 80%
11824H(H) ABR BS 81 11,000 72%
11525H(A) AN B5S 81 8,000 80%
11H26H(N) ABR B 81 8,000 80%
11H27H(K) AN B5S 81 8,000 80%
11H28H(K) ABR B 81 8,000 80%
11H29H(%&) AN B5S 81 8,000 80%
11H30H(x) ABR B 81 8,000 80%
1281H((H) AN B5S 81 11,000 73%
12H2H(H) ABR BS 81 8,000 81%
12H3HX) AN B5S 81 8,000 81%
12H4H(K) ABR BS 81 8,000 81%
12H5H(K) AN B5S 81 8,000 81%
12H6H(E) ABR BS 81 8,000 81%
1287H(XL) AN & 81 8,000 81%
12H8H(H) ABR B5S 81 8,000 81%
12859H(H) AN & 81 8,000 81%
12H10H(CN) ABR B5S 81 8,000 81%
12H11H(K) AN & 81 8,000 81%
12H12H(K) ABR B5S 81 8,000 81%
12H138(E) AN & 81 8,000 81%
12H14H(X) ABR B5S 81 8,000 81%
12515H(H) AN & 81 8,000 81%
12H16H(H) ABR BES 81 8,000 81%
12H17H(N) AN & 81 8,000 81%
12H18H(K) ABR BES 81 8,000 81%
12H19H(K) AN & 81 8,000 81%
12H20H(&) AN B5S 81 8,000 81%
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12H21H(%) ABR == 81 8,000 81%
12H22H(H) AN B5S 81 8,000 81%
12H23H(H) ABR = 81 8,000 81%
12H248(XN) AN B5S 81 8,000 81%
12H25H(K) AP B 81 8,000 81%
12H26H(K) AN B5S 81 8,000 81%

1H6H(H) ABR = 81 9,000 77%
1H7H(N) AN B5S 81 8,000 80%
1H8H(K) ABR = 81 8,000 80%
1H9H(XK) AN B5S 81 8,000 80%
1H10H(GER) ABR = 81 8,000 80%
1H11H(EL) AN B5S 81 9,000 77%
1H12H(H) AP B 81 8,000 80%
1813H(H) AN B5S 81 9,000 77%
1H14H(X) AN = 81 8,000 80%
1H15H(K) AN B5S 81 8,000 80%
1H16H(K) AN = 81 8,000 80%
1H17H(GE) AN B5S 81 8,000 80%
1H18H(L) AN = 81 8,000 80%
1819H((H) AN B5S 81 8,000 80%
1H20H(H) AN = 81 8,000 80%
1H21HCX) AN B5S 81 8,000 80%
1H22H(K) AN = 81 8,000 80%
1H23H(K) AN B5S 81 8,000 80%
1H24H(ER) AN = 81 8,000 80%
1H25H(XL) AN B5S 81 8,000 80%
1H26H(H) AN = 81 8,000 80%
1827H(H) AN B5S 81 9,000 77%
1H28H(X) ABR B 81 8,000 80%
1H29H(K) AN B5S 81 8,000 80%
1H30H(RK) ABR B 81 8,000 80%
1H31HGE) AN B5S 81 8,000 80%
2H1H(X) ABR B 81 8,000 80%
2H2H((H) AN B5S 81 8,000 80%
2H3H((A) ABR B 81 8,000 80%
2H48(X) AN B5S 81 8,000 80%
2H5H(K) ABR B 81 8,000 80%
2H6H(K) AN B5S 81 8,000 80%
2H78H(E) ABR B 81 8,000 80%
2H8H(TL) AN B5S 81 8,000 80%
2H9H(H) ABR B 81 8,000 80%
2H10H(H) AN & 81 8,000 80%
2H11H(X) ABR B5S 81 8,000 80%
2H12H(K) AN & 81 8,000 80%
2H13H(K) ABR B5S 81 8,000 80%
2H14H(®) AN & 81 8,000 80%
2H15H(L) ABR B5S 81 8,000 80%
2H16H(H) AN & 81 8,000 80%
2H17H(H) ABR B5S 81 8,000 80%
2H18H(N) AN & 81 8,000 80%
2H19H(K) ABR BES 81 8,000 80%
2H20H(XK) AN & 81 8,000 80%
2H21H(5&) ABR BES 81 8,000 80%
2H22H(L) AN & 81 8,000 80%
2H23H(H) AN B5S 81 8,000 80%
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2H24H(H) ABR == 81 8,000 80%
2H25H(N) AN B5S 81 8,000 80%
2H26H(K) ABR = 81 8,000 80%
2H27H(K) AN B5S 81 8,000 80%
2H28H(5&) AP B 81 8,000 80%
1181H(%) RS AN 82 14,000 64%
1152H(L) =] AP 82 12,000 69%
1183H((H) RS N 82 12,000 69%
1154H(H) =] AP 82 15,000 62%
11H5HX) RS AN 82 8,000 80%
11H6H(K) BS AP 82 8,000 80%
11H7H(CK) RS AN 82 8,000 80%
11H8H(E) =] AP 82 12,000 69%
11H9H(L) RS AN 82 12,000 69%

11510H(H) =] AP 82 12,000 69%
11811H(H) RS AN 82 8,000 80%
11512H(CN) B AP 82 8,000 80%
11H13H(K) RS AN 82 8,000 80%
11514H(K) B AP 82 12,000 69%
11H15H (&) RS AN 82 12,000 69%
11516H(X) =] AP 82 15,000 62%
11817H(H) RS KB 82 11,000 72%
118518H(AH) =] AP 82 8,000 80%
11H19H(N) RS AN 82 8,000 80%
11H20H(K) B AP 82 8,000 80%
11H218(K) RS KB 82 8,000 80%
11H22H(£) =] AP 82 12,000 69%
11H23H(L) RS AP 82 12,000 69%
11824H(H) =] ABR 82 12,000 69%
11525H(A) RS AP 82 12,000 69%
11H26H(N) B ABR 82 8,000 80%
11H27H(K) RS AP 82 12,000 69%
11H28H(K) B ABR 82 12,000 69%
11H29H(%&) RS AP 82 12,000 69%
11H30H(x) =] ABR 82 12,000 69%
1281H((H) RS AP 82 8,000 81%
12H2H(H) B ABR 82 8,000 81%
12H3HX) RS AP 82 8,000 81%
12H4H(K) B ABR 82 8,000 81%
12H5H(K) RS AP 82 8,000 81%
12H6H(E) =] ABR 82 11,000 73%
1287H(XL) & AP 82 8,000 81%
12H8H(H) =) N 82 8,000 81%
12859H(H) & AP 82 8,000 81%
12H10H(CN) =) N 82 8,000 81%
12H11H(K) & AP 82 8,000 81%
12H12H(K) =) N 82 8,000 81%
12H138(E) & AP 82 8,000 81%
12H14H(X) =) N 82 8,000 81%
12515H(H) & KB 82 8,000 81%
12H16H(H) =) N 82 8,000 81%
12H17H(N) & KB 82 8,000 81%
12H18H(K) =) N 82 11,000 73%
12H19H(K) & KB 82 8,000 81%
12H20H(&) BE KB 82 8,000 81%
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12H21H(%) =] AP 82 8,000 81%
12H22H(H) RS N 82 8,000 81%
12H23H(H) =] AP 82 8,000 81%
12H248(XN) RS AN 82 8,000 81%
12H25H(K) BS AP 82 8,000 81%
12H26H(K) RS AN 82 11,000 73%

1H6H(H) =] AP 82 8,000 80%
1H7H(N) RS N 82 9,000 77%
1H8H(K) BS AP 82 8,000 80%
1H9H(XK) RS AN 82 8,000 80%
1H10H(GER) =] AP 82 8,000 80%
1H11H(EL) RS AN 82 8,000 80%
1H12H(H) =] AP 82 8,000 80%
1813H(H) RS AN 82 8,000 80%
1H14H(X) B AP 82 8,000 80%
1H15H(K) RS AN 82 8,000 80%
1H16H(K) B AP 82 8,000 80%
1H17H(GE) RS AN 82 8,000 80%
1H18H(L) =] AP 82 8,000 80%
1819H((H) RS AN 82 8,000 80%
1H20H(H) =] AP 82 8,000 80%
1H21HCX) RS KB 82 8,000 80%
1H22H(K) B AP 82 8,000 80%
1H23H(K) RS AN 82 9,000 77%
1H24H(ER) =] AP 82 8,000 80%
1H25H(XL) RS KB 82 8,000 80%
1H26H(H) =] AP 82 8,000 80%
1827H(H) RS AP 82 8,000 80%
1H28H(X) B ABR 82 8,000 80%
1H29H(K) RS AP 82 8,000 80%
1H30H(RK) B ABR 82 9,000 77%
1H31HGE) RS AP 82 8,000 80%
2H1H(X) =] ABR 82 8,000 80%
2H2H((H) RS AP 82 8,000 80%
2H3H((A) B ABR 82 8,000 80%
2H48(X) RS AP 82 8,000 80%
2H5H(K) B ABR 82 8,000 80%
2H6H(K) RS AP 82 8,000 80%
2H78H(E) =] ABR 82 8,000 80%
2H8H(TL) RS AP 82 8,000 80%
2H9H(H) =] ABR 82 8,000 80%
2H10H(H) & AP 82 8,000 80%
2H11H(X) =) N 82 8,000 80%
2H12H(K) & AP 82 8,000 80%
2H13H(K) =) N 82 8,000 80%
2H14H(®) & AP 82 8,000 80%
2H15H(L) =) ABR 82 8,000 80%
2H16H(H) & AP 82 8,000 80%
2H17H(H) =) N 82 8,000 80%
2H18H(N) & KB 82 8,000 80%
2H19H(K) =) N 82 8,000 80%
2H20H(XK) & KB 82 8,000 80%
2H21H(5&) =) ABR 82 8,000 80%
2H22H(L) & KB 82 8,000 80%
2H23H(H) BE KB 82 8,000 80%
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2H24H(B) e PN 82 8,000 80%
2H258(A) mE KB 82 8,000 80%
2H26H(K) =B AR 82 8,000 80%
2H27H(K) =mE KR 82 8,000 80%
2H28H(2) B AR 82 8,000 80%
1181H(£) 18 it 83 14,770 73%
11848(8) 12 iR 83 16,770 69%
1156H0K) e it 83 13,770 75%
1187H(K) 12 F 83 12,770 77%
1188H (&) f& 3N 83 16,770 69%
11510H(H) 12 F 83 13,770 75%
11811H(A) 18 it 83 13,770 75%
118128(X) 12 F 83 11,770 78%
118138 (K) 18 it 83 12,770 77%
118148(X) 12 Fe 83 13,770 75%
11515H(%) 18 e 83 14,770 73%
11817H(H) 12 Fe 83 13,770 75%
11518H(A) & e 83 13,770 75%
11519H(N) 12 Fe 83 11,770 78%
118208 (K) & e 83 11,770 78%
118218(X) 12 Fe 83 11,770 78%
11523H(1) 18 e 83 16,770 69%
11824H(8) 12 Fe 83 12,770 77%
118525H(A) & e 83 11,770 78%
11826H(N) 12 Fe 83 11,770 78%
118278 (K) & e 83 10,770 80%
11528H(K) 12 Fe 83 11,770 78%
11529H(%) 18 8 83 14,770 73%
1281H(H) 12 Fe 83 12,770 78%
12828(H) el 8 83 15,770 72%
12838 (N) 12 Fe 83 10,770 81%
1254H0K) el 8 83 10,770 81%
12858 (K) 12 Fe 83 10,770 81%
1286H(E) & S 83 12,770 78%
1288H(H) 12 Fe 83 12,770 78%
1289H(H) el 8 83 11,770 79%
12810H(N) 12 Fe 83 10,770 81%
128118 0K) el 8 83 11,770 79%
128 12H(X) 12 Fe 83 10,770 81%
12813H(®) 18 8 83 10,770 81%
12814H(+) 12 e 83 13,770 76%
12815H(H) el Fe 83 11,770 79%
12816H(B) 12 e 83 11,770 79%
12817H(N) el Fe 83 11,770 79%
12818H(7K) 12 e 83 10,770 81%
12819H(K) el Fe 83 10,770 81%
12820H(%) 12 e 83 11,770 79%
12822H(H) el R 83 12,770 78%
128248 (N) 12 e 83 10,770 81%
125258 (K) el e 83 10,770 81%
12826H(K) 12 e 83 10,770 81%

1H6H(AH) &[T il 83 15,770 71%

1878(N) 12 e 83 10,770 80%

188H(K) el e 83 10,770 80%

1898 (X) e it 83 10,770 80%
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1H10HGE) &l it 83 10,770 80%
1H11H(EL) &l ot 83 15,770 71%
1H12H(H) &l it 83 10,770 80%
1813H(H) &l ot 83 11,770 78%
1H14H(KX) &l it 83 10,770 80%
1H15H(K) &l ot 83 10,770 80%
1H16H(K) &l it 83 10,770 80%
1H17H(E) &l ot 83 10,770 80%
1H18H(L) &l it 83 12,770 77%
1819H((H) &l ot 83 10,770 80%
1H20H(H) &l it 83 10,770 80%
1H21HX) &l ot 83 10,770 80%
1H22H(K) &l it 83 10,770 80%
1H23H(K) &l ot 83 10,770 80%
1H24H(ER) &l ik 83 10,770 80%
1H25H(L) &l b 83 11,770 78%
1H26H(H) &l ok 83 10,770 80%
1827H(H) &l b 83 10,770 80%
1H28H(X) &l ok 83 10,770 80%
1H29H(K) &l b 83 10,770 80%
1H30H(K) &l ok 83 10,770 80%
1A31H(GE) &l b 83 10,770 80%
2H1H(X) &l ok 83 11,770 78%
2H2H(H) fe M) Goibis) 83 10,770 80%
2H3H(H) &l ok 83 10,770 80%
2H48(X) &l b 83 10,770 80%
2H5HK) &l ok 83 10,770 80%
2H6H(RK) i1 Giibs) 83 10,770 80%
2H78H(E) &l ik 83 10,770 80%
2H8H(TL) &l R 83 15,770 71%
2H9H(H) &l ik 83 10,770 80%
2H108(H) fe ] Giibs) 83 13,770 75%
2H11H(X) &l ik 83 14,770 73%
2H12H(K) &l R 83 10,770 80%
2H13H(K) &l ik 83 10,770 80%
2H14H(®) &l R 83 10,770 80%
2H15H(%) &l ik 83 11,770 78%
2H16H(H) &l R 83 10,770 80%
2H17H(H) &l ik 83 10,770 80%
2H18H(N) &l R 83 10,770 80%
2H19H(K) &l ik 83 10,770 80%
2H20H(XK) &l R 83 10,770 80%
2H21H(5&) &l ot 83 10,770 80%
2H22H(L) &l R 83 15,770 71%
2H23H(H) &l ot 83 10,770 80%
2H24H(H) &l o) 83 13,770 75%
2H25H(X) =lid it 83 10,770 80%
2H26H(K) &l o) 83 10,770 80%
2H27H(K) =lid it 83 10,770 80%
2H28H(5&) &l R 83 10,770 80%
1183H((H) o) e ] 84 16,770 69%
1184H(H) Eoibi) &[] 84 16,770 69%
11H6H(K) o) e ] 84 16,770 69%
11H7H(CK) Eoibi) &[] 84 15,770 71%
11H8H(E) s &l 84 16,770 69%




a%H [XF& B IBEX#il

11510H(H) ok @] 84 14,770 73%
11811H(H) oI &l 84 14,770 73%
11H12H(CN) b @] 84 14,770 73%
11H13H(K) oI &l 84 14,770 73%
11H14H(K) b @] 84 14,770 73%
11818H(H) oI &l 84 14,770 73%
11H24H(H) b @] 84 14,770 73%
11H26H(N) oI &l 84 13,770 75%
11H27H(K) b @] 84 14,770 73%
11H28H(K) oI &l 84 13,770 75%
1252H(H) b @] 84 13,770 76%
12H3HX) oI &l 84 14,770 74%
12H4H(K) b @] 84 11,770 79%
12H5H(K) oI &l 84 14,770 74%
12H6H(E) o) @] 84 14,770 74%
1288H(H) ik e ] 84 14,770 74%
12H9H(H) Eolb) @] 84 16,770 71%
12H10H(N) ik e ] 84 12,770 78%
12H11H(CK) R @] 84 11,770 79%
12H12H(K) Eoibi) e ] 84 14,770 74%
12H13H(:&) Eolb) @] 84 14,770 74%
12H15H(H) ik e ] 84 11,770 79%
12H16H(A) R @] 84 13,770 76%
12H17H(CN) ik e ] 84 14,770 74%
12H18H(K) Eolb) @] 84 12,770 78%
12H19H(XK) ik e ] 84 12,770 78%
12823H(A) R @] 84 10,770 81%
12H24H(N) Eoibi) ] 84 10,770 81%
12H25H(0K) o) ] 84 11,770 79%
12H26H(K) Eoibi) &[] 84 14,770 74%

1H6H(A) b, ] 84 12,770 77%

1H7H(XN) Eoibi) ] 84 10,770 80%

1H8H(K) o) ] 84 10,770 80%

1H9H(K) Eoibi) &[] 84 10,770 80%
1H10H(GER) b, ] 84 13,770 75%
1H11H(L) Eoibi) ] 84 15,770 71%
1H12H(H) o) ] 84 10,770 80%
1813H(H) Eoibi) &[] 84 13,770 75%
1H14H(CKN) o) ] 84 10,770 80%
1H15H(K) Eoibi) &[] 84 10,770 80%
1H16H(K) o) @] 84 10,770 80%
1H17H(E) poibi) @] 84 13,770 75%
1H18H(L) b e ] 84 15,770 71%
1H19H((H) poibi) @] 84 10,770 80%
1H20H(H) b e ] 84 12,770 77%
1H21H(X) poibi) @] 84 10,770 80%
1H22H(K) b e ] 84 12,770 77%
1H23H(K) poibi) @] 84 10,770 80%
1H24H(E) b e ] 84 12,770 77%
1H25H(XL) Eoibi) &[] 84 14,770 73%
1H26H(H) o) e ] 84 10,770 80%
1827H(H) Eoibi) &[] 84 13,770 75%
1H28H(XN) o) e ] 84 10,770 80%
1H29H(K) Eoibi) &[] 84 10,770 80%
1H30H(K) s &l 84 11,770 78%
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1831H(%) B tam 84 13,770 75%

2H1H(1) it & 84 14,770 73%

2H2H(H) Fbe & 84 11,770 78%

2H3H(H) ¥t & 84 13,770 75%

2848 (N) Fbe & 84 10,770 80%

2H5H0K) it & 84 11,770 78%

2H6H(K) Fbe & 84 11,770 78%

2H7H(®) e & 84 13,770 75%

2H8H(L) Fbe 1B 84 15,770 71%

2H9H(H) ¥ & 84 14,770 73%
2H10H(B) Fbe & 84 13,770 75%
2H11HCA) it & 84 14,770 73%
28128 (K) Fbe & 84 11,770 78%
2H13H(K) it & 84 14,770 73%
2H14H(2) Fie & 84 14,770 73%
2H15H(1) e el 84 13,770 75%
2H16H(H) Fibe & 84 11,770 78%
2H17H(B) e el 84 13,770 75%
2H18H(A) Fibe & 84 11,770 78%
28198 (%K) e e 84 11,770 78%
2H20H(K) Fibe & 84 11,770 78%
2H21H(2) e el 84 13,770 75%
2H22H(1) Fibe & 84 14,770 73%
2H23H(H) e el 84 14,770 73%
2H24H(B) Fibe & 84 13,770 75%
2H25H(A) e el 84 14,770 73%
2H26H(K) Fibe & 84 14,770 73%
28278 (K) e 1am 84 14,770 73%
2H28H(2) e el 84 14,770 73%
11A1H8(£) 18 8 87 14,770 73%
11828 (1) 12 Fe 87 14,770 73%
11858 (N) el 8 87 16,770 69%
11868 (K) 12 Fe 87 14,770 73%
11898 (1) 18 8 87 14,770 73%
118118(8) 12 Fe 87 16,770 69%
11812H0N) & S 87 16,770 69%
11813H(K) 12 Fe 87 14,770 73%
11514H(K) el 8 87 14,770 73%
11816H(1) 12 Fe 87 14,770 73%
11518H(A) el 8 87 14,770 73%
11519H(N) 12 e 87 13,770 75%
115208 (7K) el Fe 87 14,770 73%
118228(%) 12 e 87 14,770 73%
11523H(+) 1 Fe 87 14,770 73%
11825H(8) 12 e 87 14,770 73%
118526H(N) el Fe 87 15,770 71%
118278 (K) 12 e 87 12,770 77%
11528H(XK) el R 87 15,770 71%
11829H(%) 12 e 87 14,770 73%
11530H(+) 1 e 87 15,770 71%
12838 (N) 12 e 87 11,770 79%
1284H0K) el e 87 12,770 78%
12858 (K) 12 e 87 14,770 74%
12878(1) 1 e 87 15,770 72%
1288H(H) e it 87 14,770 74%
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12810H(N) el Fe 87 13,770 76%
12811H(K) e it 87 13,770 76%
128128(X) 12 F 87 12,770 78%
12513H(%) 18 it 87 14,770 74%
128148(1) el F 87 15,770 72%
12817H(N) 18 it 87 11,770 79%
12818H(7K) 12 iR 87 12,770 78%
12819H(K) e it 87 12,770 78%
12820H(®) 12 F 87 15,770 72%
12821H(1) 18 it 87 14,770 74%
12823H(A) 12 F 87 14,770 74%
128248 (N) 18 it 87 10,770 81%
128258 (7K) 12 F 87 11,770 79%
12826H(K) 18 it 87 10,770 81%

186H(R) 12 Fe 87 14,770 73%
1A78(N) & e 87 11,770 78%
1A8H(K) 12 Fe 87 10,770 80%
189H(XK) 12 e 87 10,770 80%
1A108(%) 12 Fe 87 12,770 77%
18118(1) 18 e 87 12,770 77%
1A128(H) 12 Fe 87 14,770 73%
18138(H) & e 87 15,770 71%
18148 (N) 12 Fe 87 10,770 80%
1815H0K) & e 87 11,770 78%
1A16H(K) 12 Fe 87 10,770 80%
18178(£) 18 e 87 14,770 73%
18188 (1) 12 Fe 87 12,770 77%
18198(H) el 8 87 14,770 73%
18208(8) 12 Fe 87 14,770 73%
1H21H0N) & S 87 10,770 80%
18228 0K) 12 Fe 87 11,770 78%
18238 (X) el 8 87 11,770 78%
18248 (%) 12 Fe 87 13,770 75%
18258 (1) 18 8 87 11,770 78%
18268 (H) 12 Fe 87 14,770 73%
18278(8) el 8 87 13,770 75%
18288 (N) 12 Fe 87 10,770 80%
1829H0K) el 8 87 12,770 77%
18308 (K) 12 Fe 87 10,770 80%
1A31H(£) 18 8 87 14,770 73%
281H(1) 12 e 87 12,770 77%
2H2H(H) el Fe 87 14,770 73%
2H3H(B) 12 e 87 13,770 75%
2H4B(N) el Fe 87 10,770 80%
285H0K) 12 e 87 11,770 78%
2868 (k) el Fe 87 11,770 78%
2B7H(&) 12 e 87 14,770 73%
2H8H(L) 1 R 87 14,770 73%
2H9H(H) fahE s 87 14,770 73%
2H10H(B) el e 87 14,770 73%
2811H(N) 12 e 87 15,770 71%
28128 (K) el e 87 11,770 78%
28138 (K) 12 e 87 11,770 78%
2H14H(2) 1 e 87 14,770 73%
28158 (1) e it 87 14,770 73%
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2A16H(H) el ¥R 87 14,770 73%
2817H(B) & ¥R 87 13,770 75%
2A18H(X) el ¥R 87 10,770 80%
2H198(K) Pl ¥R 87 10,770 80%
28208 (X) el ¥R 87 11,770 78%
2821H(%) Pl ¥R 87 14,770 73%
28228(1) el ¥R 87 14,770 73%
2823H(H) Pl ¥R 87 14,770 73%
28248(B) el ¥R 87 14,770 73%
28258 () Pl ¥R 87 13,770 75%
2826H0K) el ¥R 87 11,770 78%
2827H(X) Pl ¥R 87 12,770 77%
2828H(%) el ¥R 87 14,770 73%
11528 (1) i) & 88 16,770 69%
1183H(H) ¥T8 & 88 15,770 71%
11558 (X) Fine & 88 14,770 73%
1186H0K) T8 & 88 13,770 75%
11878 (K) Fine & 88 14,770 73%
11898 (%) T8 & 88 12,770 77%
115118(A) 8 & 88 12,770 77%
118128(X) T8 & 88 12,770 77%
118138 (K) 8 & 88 12,770 77%
11H148(A) ¥T8 & 88 13,770 75%
115168 (%) Fine & 88 13,770 75%
1159188 (A) T8 & 88 12,770 77%
115198 (N) 5B & 88 12,770 77%
115208 (K) ¥T8 & 88 13,770 75%
115238(%) 58 & 88 12,770 77%
11H248(8) ¥T8 & 88 14,770 73%
118258(A) 58 & 88 11,770 78%
118268 (N) ¥T8 & 88 11,770 78%
118278 (K) 58 & 88 10,770 80%
115288 (k) ¥T8 & 88 12,770 77%
115298(&) 58 & 88 14,770 73%
118308(%) ¥T8 & 88 11,770 78%
12518(8) 58 & 88 14,770 74%
12828(H) ¥T8 & 88 11,770 79%
1283H(N) 58 & 88 10,770 81%
12848 (K) ¥T8 & 88 12,770 78%
1255H(K) 58 & 88 13,770 76%
1256H (%) ¥T8 & 88 15,770 72%
12878(1) Fie & 88 11,770 79%
12898(A) ¥8 & 88 10,770 81%
125108 (X) Fie & 88 10,770 81%
128118 (K) ¥8 & 88 10,770 81%
125128 (k) Fie & 88 10,770 81%
128138(%) ¥T8 & 88 14,770 74%
125148(%) Fie & 88 10,770 81%
128158(H) ¥T8 & 88 11,770 79%
125168(A) Fe & 88 10,770 81%
128178(X) ¥T8 & 88 10,770 81%
125188 (K) Fe & 88 10,770 81%
128198 (k) ¥T8 & 88 10,770 81%
128218(%) Fe & 88 10,770 81%
12522H(H) B & 88 11,770 79%
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12523H(H) ok @] 88 10,770 81%
12H24H(N) Eoibis) &l 88 10,770 81%
12H25H(K) b @] 88 10,770 81%

156H(H) it &l 88 10,770 80%
1A78BX) b @] 88 10,770 80%
1H8H(K) it &l 88 10,770 80%
1H9H(XK) b @] 88 10,770 80%
1H10H(ER) it &l 88 13,770 75%
1H11H(XL) b @] 88 11,770 78%
1812H(H) Eoibis) &l 88 10,770 80%
1H13H(H) b @] 88 10,770 80%
1H14HX) it &l 88 10,770 80%
1H15H(0K) b @] 88 10,770 80%
1H16H(K) it &l 88 10,770 80%
1H17H(ER) o) @] 88 14,770 73%
1H18H(L) ik e ] 88 10,770 80%
1H19H((H) Eolb) il 88 12,770 77%
1820H(H) ik e ] 88 10,770 80%
1H21H(KX) R @] 88 10,770 80%
1H22H(K) Eoibi) e ] 88 10,770 80%
1H23H(RK) Eolb) @] 88 10,770 80%
1H24H(E) ik e ] 88 14,770 73%
1H25H(L) R @] 88 10,770 80%
1826H(H) ik e ] 88 12,770 77%
1H27H(H) Eolb) @] 88 10,770 80%
1H28H(X) ik e ] 88 10,770 80%
1H29H(K) R @] 88 10,770 80%
1H30H(K) Eoibi) ] 88 10,770 80%
1H31H(GER) o) ] 88 13,770 75%
2H1H(EL) Eoibi) &[] 88 10,770 80%
2H2H(H) b, ] 88 11,770 78%
2H3H((A) Eoibi) ] 88 10,770 80%
2H48(X) o) ] 88 10,770 80%
2H5BH(0K) Eoibi) &[] 88 10,770 80%
2H6H(K) b, ] 88 10,770 80%
2H7H(GE) Eoibi) ] 88 14,770 73%
2H8H(X) o) ] 88 13,770 75%
2H9H(H) Eoibi) &[] 88 10,770 80%
2H10H(H) o) ] 88 10,770 80%
2H11H(N) Eoibi) &[] 88 10,770 80%
2H12H(K) o) @] 88 10,770 80%
2H13H(XK) poibi) @] 88 10,770 80%
2H14H(&) b e ] 88 13,770 75%
2H15H(%) poibi) @] 88 10,770 80%
2H16H(H) b e ] 88 11,770 78%
2H17H(AH) poibi) @] 88 10,770 80%
2H18H(X) b e ] 88 10,770 80%
2H19H(K) poibi) @] 88 10,770 80%
2H20H(K) b e ] 88 11,770 78%
2H21H(s®) Eoibi) &[] 88 15,770 71%
2H22H(%) o) e ] 88 13,770 75%
2H23H(H) Eoibi) &[] 88 13,770 75%
2H24H(H) o) fE 88 12,770 77%
2H25H(N) Eoibi) &[] 88 10,770 80%
2H26H(K) it &l 88 10,770 80%




fBEH X B2 IBEX4Hi
2H27H(XK) Goibs @] 88 10,770 80%
2828H(E) Eoibis) &l 88 14,770 73%

BHTRZEE IS ERZE - PEERZZE (T2 7) -KIRERZE (FF) -ERZZEREIRRTE. MZEZSITBAOR.

Rz EE [CINA Tl hRE fEsR e AR 2 22BN SHCRDOTRURIET.

BEEE (1B1IXEAE)

Fi% : KA370M ()\E180M)
flie : KA290M ()\E150M3)
HRER : KA440M (\E220M)
BF} : KA3401 (ME170M)
&M : KA110M ()NE50M)




